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� �,-�.���"�� �&
�/���� ��01��� �� �1�$!� (�23 �,� 4
��5.� ���� �� ��6��$�0 ������� �!��� �$�-7$��� �� �.���!� 4
�-!$��� �,�2 �$���� �8���9 �23��7����2 �����2 ���.��2 �
,!��-����2��9 �7�����. �� �:�!����!� �������.���7����% �
,���������� �
�2� ��3.� ���,�.96���$3 ���,!��.�$� ; �
���.�$$3� �!-��% ��!�%��$��!� ���/�6�2,. !� ��$���; �
,!�$��.�1��5�2 ��� �-7�$�"� ������-��$ ���.0��6$� �
,!�������.�$$�2 �$�2 ��� ��3$�2 ���<��-��$�2� �
!���� �
������ �6��!�$-.� �$�����!3� ��.-7�� �-���!��5�% ��!=� 4
�!�=�� �>$�,!�; ��=/!�; �!�6���6? �� ��$ �� �6�, ��% �,�!�� �
&��� (�� ��23�.� �&� ���7����� ( �


!� �,��������� ���$$��� ��6��$� �&
�/���� ��01��� �� �
1�$!� (�23;�,�2�2� �,�$ �$�% �"�.� ���,!��.�$� �
��!��5�:� ���,��!�=���: ��,�7���� �� �����!���: �@ABCDC�
EA@AFG;�!-������.��9 �6���7�0 ����.��9 �&,!�6!�7$32 ( �
$�-7$3%��,,�!�� ��$���� ���.�� ��3� 7� �,!�2�7�$�% �� �
�6��$�� �)*HI ����� �7���� �,!������. 0� �����0 �$�,!� 4
���.�2-0 �,!��!��- �$��,-�� �������7$��- ���1� ��. �
���92� ����-5�$$��� �7�����. � �	�.� �$� ���.9�� �� ���J�� 4
���$�% ��!-�$�����-,$����; ��$�K �� ��!��$� 637$���� ��� 4
��7$����; �$� ���� �� �� ���2; �7�� ���3.�� �� ��6��$�� �)*HI �
���� ��.�5��2 �7���� �,���0�� ���&$�K��5�=!-�2�2K �
���� ( ;�� ����!���$� : ���.��� �$������,!�$ �3:; �,!� 4
7�2 �$� ���$� �� ��� �1� �����7$��� �����! �2�1�� ���3.��9� �
�� ��% �!�6 �,�K!�6$�2-; ���,�.96- �!�6.�7$3� ��6��$� ; �
!�6$-0 �,���$�"�0 �� ����� �
� ������� ���1� �,�!�� ���3. 4
�� �$� ����-0K.��� �$�-7$-0 ��$��- ��.� �����90 ������ �� �
�������7$� �!�6��!$-��2 �����; �7�� �-1 �����!��9 �� ���2; �
7�� ���!����5��9 �� ���$�2- ��6��3� 7� �,!�2�7�$�% �� �
���!���� ���2 ��!���-0 ���3.�-; �7�����.9 ���.1�$ ��� 4
�!-1��9� �$��01�$$32 ���!,�$��2; �7���3 �!�63����9 �
,�!�-0 ����3.�- �� �/��2- ��!-�-� ��!�2� �����; �� ��,,�!��� �
�������7$� �,!���� �$���!$3: �&"�=! ( ;���� ; ���-�23� 4
.�$$����% �� ��!-��: �$��.����; ��� 6�$$3: �������%K�� �
2�!� �� �-�.��� 2� ���6��$� ��$����
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#�/��% ����-�"��; �,!� ����2 �-��1�$�� �� ���.� �,���%$� 4
�� �����!�; �,-�.�����!3 �,!�$ .� �!�5�$�� �,�.$���90 �
,�!�!������9 ���0 ���:$�7���-0 ����!�$- �$�-7$��� ��,,� 4
!���� �	� �LMN��$��7$3: �����7$����; ����.� �+MN�$�-7 4
$�%�.���!��-!3 ���,!����7���� ���� ���3.�� �$� �
1-!$�.9$3� �,-�.���"�� ��3.� �,!���!�$3 �OP�QGCD��
�3.� �������.�$� ����.���!�=� �� ���� ����6��9 �RSOPT�
UVSWGDF�>�,���� �����7$����?; ��-�� ���.07�$3 ����.�% 4
����; ��$��7$3� �� �=�.9�.�!$3� �����7$���� �X$�=�"�!� 4
��$3 ���7���� ��62�$�$3 ����!���$$3� ����3.�� ���
$�-7$�% �.���!��-!� �� �����7$���2� �#�$�����!3: ��.-7� 4
 : ���,!�2�7�$� ������$3 ���,�.$�$� �� ��62�$�$� �� �
����!��$3: �������: �YZ��
�6$�7���.9$3� ���,!��.�$� �� �
�$ �3� ���� ���6$���1$� �$����1�����. �23� ����3.�� �$� �
�����!���0�� � ������ �,-�.�����!�2 ����63��.��9 �$� 4
����-,$3 ��6��$� ; �����!32� �,�.96���.��9 ��!�%��$K �
��!�; �,!���!�� �,!��6����.��9 �,� ��!-��2; �7���� ���.�� �
$��32 ��6��$� 2; ���3.�� �$������!3� �� ��$���.��9 �� �
,!�2�7�$� � �
!�$"�,3 �!���!3�� ����!���$$3: ��� 4
�3.�� �� �����7$���2 ��6.�1�$3 �� �,!��2�-.� �� �������� 4
���-0��2 ��,����2�

��.95-0 �7���9 ��!-�� �,� �,!���!�� ���3.��; �������.� 4
$�0 ����.���!�=��; ��37���� �� ���,!��.�$�0 ������� �
�6 .� �$����� ���[�<�!���$� �� �����
���2��$� ���6 �
�: �-7���� ���$$�� ��6��$�� �$������ ��3 �$� �2��.� ������ 4
 �9� � ��!�2� �����; ���[�<�!���$� �,!��,!�$ .� ��!:�� 4
$3��!�63���$� ; �����,�7���0��� ��6.�1�$�� ���� �
���!7����% �����!�� �&
�/���� ( ;���� �� ��� �,�.���7����% �
&�-�9�3 ( ���3 �,!�$���2 ����1� ��.�����!$���9 ���1 4
�-$�!��$�2- ���$�- �&�-.9�-!$� ��$�"������ ( ;�
,����!1��5�2- ���)**M����!����- �$�� ��!:���2 �
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�!�����; �,��� ��$$�% �1�$!���2- �5��.�$-; �$� �2�1�� ����-� 4
�������9 �,!����.������� �� ���.1$� �,!��-,!����9 �7�����. ; �
7�� ��$ ���!1�� �� �!-��: ������!��-0 ������!��"�0 ��� ����2� �
�3����0��2� ����0�� �,��.������ 2�� �� �:�� �/�� ������!��; �

-�-�-�.�$$� �2�!��% ��$����-��; ���� ����$�% �)*H\ ����/�� �!����� �
6�����.��9; ���2� �,� �����; �����!�1$� �,�������. �� �7�����. �� �
����!1�$�0 �� ����.0 �/��% ��$���; ���� �1� �� ���$$�2 ��.-7�� ��� �
$��������7$�� �	�.� �$� ����.9�� �� ���!2�$�.����; �� �],�.96���$�� �
����7$���2�^; �� ��,����� ��6.�1�$� ; �� ���2,�6�"�� �/��% �!����3_ �
�$� ��.-�1�_ ���.� �� ���2; �7�� �/�� ��$��� �,� �.���!��-!�����$�0 �
,!��.�����; �����7����� �2���!��.�; ���! �; �2�=; �2���!��.9$-0 �
�-.9�-!-; �=�.9�.�! �� ��� ��� �����; �6������!3� �$-1$� �!�6 �$����� 4
�� ��6��$��9� �� ���1.��� ��������9 ��: �� �������� ��2�$$� �.���!� 4
�-!����7����: �!����� �
!��2����$$���9 �` ����9 �,�7��$$� ; �
��$�7$�; �� ���$$� ��$���; ���.��� ��� ��$�!:�62�; �-��. �� �� �� �
���!���7����2 ������$�� �� ��� ����2 �:��� ����.�����$� �,!����.9 4
$-0 ��$�2���.9$���9 ����2- ��6�$�-7$��� �$��.��� ; �7�� �2�1�� �
�3�9 �,�!�!�����$� �� ���,�.96���$�� �
� ��3��0� ����1� �/��,3 �� �
����!�� �$�-��; ������; �,!� ����2 �-��1�$�� �� �������$����2 �,!�� 4
5�����$$���; �:�7��� ��� �$��� �����!����9� _ ��; ���� �$� �,�7��$$� �
�!���"� ; �` ��3��0� ������ �����!�7����� �/��,3a �` �,� �. ��� �
1�.�$�� �,���6��9 ����9 �,�K�$�2-; �,-��9 �$� �� ���.1$�% �6���$7�$ 4
$���90 �� �-��7�%; �$����,!�������� ��2�$$� �/��%�7!�62�!$� �
���!���7�����$$�% �� �7�!��7-! ���2�$��� $$�% �,!��2����$$����� �
���� �����!�7����% �/��, �` �$�5 ������$ 5$�% ���������% ���$9; �� �
,�!���!���2 �� �$�-7$�2 �235.�$��; �� �!���.0"��$$32 ��.�2�2 �
���!3: �2������ �� �2������ �!����3�

X7�$�� ���!!� �� � 63�� �$� ���.9�� ��.�2�.� ��!���"�� �� �$�!23 �
���!��� � 63��6$�$� ; �$� �� ����!3.� �$��3� �,�!�,�����3 �� ��6-7� 4
$�� �����!�� ���23: �!�6.�7$3: �����.���%�

�6-7�$�� �����!�� � 63�� �� �-� 6�� �� �����!��% �235.�$� �� �
2���!��.9$�% ��-.9�-!3 ���.� �������%5�% �2���!��.; ���$�!�!����9 �
����!3% �$�.96 � ���� �!����� ��,�!���� �$���3���3 ���6��$$��� �
��!!�2 �-7�$� �� � 63�� �� �,!��,�.����� �- �7�����. �:�� ��3 �$��� 4
��!�� �6$���2���� �� ���$��$32� �,�.�1�$� 2� �/���� �-7�$� �

<�2�� ��-������$$�� ������!�� ���!!� �` ���� �����!�6��.; �
����!3% ��$� ���!�6���.� �2�1�- �=�!2�.9$32 �� ���2�$��7����2 �
,��:���2 �� �,!��.�2� �=�!23�
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'���!��-!�����$�� ��6-7�.� �.���!��-!- �$� ��� ����2 ���J�2� ��� �
����!��; �� ���.9�� ���,�!���� �-1� ��.�1��5�:� ��� �=�!2; ��� �
���!�%; ���� ����6��9; �,�.���$3 �,-��_ �,!� �/��2 ���$- ����.���.� �
��� �!�6 �$� ��$��7$-0 �.���!��-!-; ���� � ���3 ��:���.��9 ���� �$�7�.� �
� ���� �],�!�����:��^� �
� �,�!� �!����.���!����9 ��.�,��� ���2�!� �� �
,���6��9; �7�� �� ��$ �6$�2�$-�� �7!�6�37�%$� �,�6�$00 ������0 �� �
����!�� �.���!��-!3� ���$��$�% �,�!���!�� ���!!� ������ . �� ���2; �
7�� ��$ ����!3. �!�$$�� �� ���1� �,�!�3� ������� �� �����!�� ���!�6� 4
��$� � 63�� �� �.���!��-!3 ���2; ���� ��$� �$� ��3.� ��� �$��� �,!�2� 4
7�$3; ������� ��� �6�-������ � 63��; ��� �.���!��-!_ �7�� ��$ �,�!�3% �
,���6�. ���$�6�� �.���!��-!3 �� � 63��_ �7�� �/��2 ��$�,�!�3% �
6�.�1�. ���6- ��. �,��.�$$�% �����!�� � 63�� �� �.���!��-!3 ��� �
���2 ��� ���J�2�; ��� ���2��� ���6$��$���$� � �� ���.� �2�=; ���! �; �
2���!��.9$� ��-.9�-!� ����6�.��9 �� ���%�!�5�0��% ������� ����2 4
���2� ��.�6$�"�2� �.���!��-!3; ��� �6��/��; ���$�7$�; �2�1$� ��6�� 4
$��9� �,�!�� ��!���"��%; �$� ���.� ��62�$��9 �$�.96 �

� ���,�!9 �$����.9�� ��.�� �� ���2�% �
�/����� �b��� �6���$7�.� �� �
)*c+ ������� ����!���7����� �,!���.1�$�� �2���� �]
!���:�1��$� �
�!�7������ �!�2�$�^ �>)*)*K)*cH?;���� � ������.� ��� �1� ���23�; �7�� �
� �6���9; �,!��.�23; �$� �.�59 �$� ���$�2 �"��.� ��01���� �� �1�$!��� �
<�/���� ��!�2�$� � ��� �����-��!���.� �� �!�6����.� �� �����.9$3: �
���.���: �� �����9 :� �
�b� ���!! ��7�$9 �6�! 1�. �2�$ �����%�
�����$�% �,����!1��%_ � ����.�����!$���90 �� �,!���$$���90 �
��.1$� ����6��9; �7�� ��$�6�����. �2�$ �$��,�!��2 ����,-��; �
,!��.�� �� �!����� �� �b=���7����2 ��$����-��; �,!��!�,�. �� �/��2- �
����2- ������- �2�0 �
�/���-; ���2�$��!���. �2�$ �� �$�0 �� ����� 4
�-; �� ���22-$����7���-0 ������2�0; �,�!-7�. �2$� ���!��$�6����9 �
!����- �$�� ��01���2 ��!����$� �� ����.9�3�

��$�7$�; ���,�!9 � ���!�����.� �
�/���- �� ���,�.$�.� ��35�� 4
5�%�.���!��-!�%; �,!�.�1�� �� �$�%�� �]�!� ��01���^; �,�!�,�7� 4
��$$3� ��6 �]b63�� �� �.���!��-!3^ �>���d; ���!� �HH?��e�6$9 ��,�5��� �
� ���; �7�� ��7�!� �$-1��.��9 �� ��,!����$�� �>��1�; �2�1�� ��3�9; �� �� �
,!����.����a?; ��� ������$ ����� �-1� �� �,!�.�1�$�� ���� �2���!��. �
��.�� �����-,$3% �� �.����% ��. �7�����. ; �7�2 �],�!��� ��$��7$�% �
.���!��-!3^�

)) ����-��� �)*H\ ���






?���	
���
�

� ������� �
� ��� �
���������


� � ����
���������� ��������
�/����; ����!���7���� �����!� �.���!��-!3; ����9 �
$�-�� �� �6���$�2�!$��� : �.���!��-!$��� �,!�"����� �

� ��� ���
� �#���.������� �� �,��.� �$��� ��6�,�/���� �

�3.� ����.�$� ���.� ����!� �.���!��-!3; �� �$�����.9��
.���!��-!3; ����.9�� ��� �����.9$3: �������$3: �7����%; ��$� �
�: �����!�7����: ��� 6�%�>,�/6� ; �,!�6�; �,�/��7����� �
=��-!3; ��01�� �� �����?� ���� ����!� �,�/��7����: �!���� �
,�/���� ����6�.��9 �7���90 �/�������; �� �,���2- �� �=�.���= 4
���% �$�-��%; ���$�2 ��6 �����.�� �� �����% �����.����7����% �
=�.���=��� �8���9 ��$� �,!���!,�.� ���� ��� ��-�9�3; �7�� �� �
����.�62� ��� ���$�� ��$� �,�.-7�.� ������ ������7����� �
-7�$�� �� �,!��-��: ����-����- �=�!2�:f �7�.����- ����% 4
����$$3 ��� �,!�!��3 �7-����� ��!���7������ �>��6�35�$ 4
$���; �-1���? �� ���2�7������ �>�2�5$���; �$�62�$$���?� �
����.9; �� ���� ���2�!�6�����2 ��-:�; � �. ��� ����!"�2 ���% �
��$�2�7����% �/�������; �����!� ��5���7$� �,�.-7��� �$� 4
6��$�� �����!�7����%_ ����� �����!�7$���9 ��22�$�$�$� �� �
.�5�$� ��� ��: ��� 6�% �� �2���!��.9$32 �2�!�2� �<��!�� �
-7�$�� �� ��!����� ���!������ ���-7�$�� �����!2�$�� �
=�!23 �� �����!1�$� _ �,�� �-!��.��32 �,�$�2���� ���� �
!��.9$�� �� �,�����$��$��� �#$-�!�$$�K����!�7���� �,!� 4
�2����$$���9 �=�!2 �,�/6�� �>,!�7�2 �=�!2 ���2���� ��.9 4
$3:?��,!���. ��� �� ����� ��!�: ������%f �/�� �/,��; �.�!��� �
� ��!�2�� �#�/,��� ���.���0�� ��,�7��.�$� ���J�����$��� �
2�!�; �.�!��� �` ��3!�1�$�� �.�7$����; �� ��!�2� �` ��"�$ 4
�� ���J�����$3: � �.�$�%� ��!�7���� �.���!��-!� ����� �
��!2�$��% �=�!23 �� �����!1�$� � �. ��� �����.9$�% �
$�!2�% ���������� �.���!��-!$��� �!�6���� _ �.���!� 4
�-!$3% �,!�"��� �` �/�� ���2�!�6����� ���2���6$�$� �.�7 4
$���� ���� �7���� �2�!����� ��-:�_ �$����.�� �����!5�$$3% �
��� �,�/��7������ ����!7����� �` �/�� ��!�7���� ��!����� � �

�




��2��! �$� ����9 ���.9$�%5�% �:�� �/������� ��; �� �7���$����; �$� �
��.95-0 �!�.9 �,�6�����62�; ��. �$�-7$�%�,!������ �$����.�� �!� 4
5�0�-0 �!�.9 ��3�!�.� �����.��$����� �b��2�0 �� ����- �6��-!��!�K �
���5�� �� ����� ��!�2�$� �����-,��!�����.9$3� �-7�$� �� �=�!2� �� �
����!1�$��; �� ��$-�!�$$�% �,!��2����$$���� �,�/��7����: �!����; �
� ��!���7����2 �� ���2�7����2; �� �!��.�62�_ �,�$ ��� �����!�� �.� 4
��!��-!3 �� �.���!��-!$��� �,!�"���� ���� ���2�!�6���� ��-:��$�% �
�� ��.9$���� �7�.����� �� �$�!2����$� �!�.9 ��!�"�� �� ���$�5�$�� �
��!�,�%���% ��-.9�-!3; ����-����� ��; ������$$�; �.���!��-!3 �` �/�� �
$��.���� �����. ; �1��-��� �,� ���%���$9 �� �� �,�/���� �� �� �����!�� �
.���!��-!3; �` �$��.���� �$�,!����.�$$�� �� �6����%$��� ���!��� 4
$�� �� ��$��7$����; �.0���$3% ���6�!�� �� ��� ��-.9�-!� �� �,�,3��� ��� �
��6!�1���9 �$��!�6 ��3,�.$ .� �� �����!�� �,!��!�����$-0 �!�.9; �
����1��5-0 �� �6�����. �5-0 �6�-7��9 �$��32� ��23�.�2� �� ���2�� �
�$��7$���9_ �$� �� �!-��: ��-!1-�6�� �gRg����� �>6�,��$�% �� �!-�4
���%?��-��.9$3% ��!��.; ��6�!�2�1��$$3% �$�� ��$��7$���90; �,!� 4
��!�. �!���"��$$-0 �=-$�"�0 �� ����. ��$��7$���9 �����1��9; �$�-�- �
�� ��$��7$���� �!-��$�6�!����9� ��3�.� �����. �,�.-7�.� �-!��.� 4
��� �6����!�$��_ �6���!��.�2 �� �6���$��7$�% ��!�����% �� ���!2�$��% �
���6�.��9 �!���"��$$�%5� ����2�$�.���9 �23�.� �� �,�!��$���� �
�-:�; ��� ���!�"�$�� �!��.9$��� �2�!�; �� �1�6$� �=�!2; �� ����2��� 4
7����% �$�!2����$���� ���$��� � �.�$� ; ��3:��7�$$��� ��6���$�
������ �����!��� �� �,���2-K�� �����!�7���� �$���:���2�; �7���3 �
,�!��2��! �/��: ����!�% �� �,�,3��� ������2���7���� ��: �!��5����9 �
�3.� ����.�$� ��2�$$� �$� �2���!��.� ��$��7$�% �.���!��-!3; �� �,!� 4
�2-������$$� ���� �!�6 ��!�7����%�

�� � �����
��� ���� ���2 ���.�� �$���:���2�; �7�� ���%7�� �$-1$� ���!��9 4
� �$� ��� ����!32� �����2� �����.����7����% �,�/���� ) ;�� �

� ��� �,��.��$�% �!�6$����$���90 �` �� �=�!2�.�62�2� �<�2 �=�!2� 4
.�62 �,�!�1���. ���� ���� �]$���� ��.���^ �� �!���"�0 �$� �,��:�.� 4
��7����� ����!�� ���,� ��-2��.9���� ���$��� �=�!2�.����7���� �
,�/���� �` ���.9�� �������$$� ��� ����-!�� ���$� ��6����!�$ ����!�% �
2���=�6�7����% �,�/����; �� ��� ��2�$$�; �����!� ���6��$� �=�.��� 4
=��% �����.0�$�% �=�!23 ���� ��3!�1�$�� �����.0�$��� ��-:�� ��� 4
�� ����2 �,�/����2 �7�!�� �` �/�� ���6�!���$�� �$� ��!���"��$$�2 �
$��.���� ��!������. _ ���.� ��6��!�"�� �$�!2- ��. ����: ������ �
�-.9�-!3; �����.���3 �$� �,��7���.��9 �� �����!�7����2 �6$�7�$��2 �
��2��� ��!������. �� �� ���� �!�.90 �� �����!�� ��$��7$�% �����.����� �

!��!�����$3% ��. ������� ��!�2�$� ���� �23�.���.9 �� �6�2�7���.9 4
$3%�-7�$3%��!�"��; ��!������.9 ���!��. ����0 �,�/���- �� �2�!- �
,�.�1�$$3: ��2- �����!��% ���._ ���� �,�/���� �` �7!�6�37�%$� �

��



�$��!��$3% ��!-�; �6���!5��5�% �!����- �,� �,�/���� �2$���: �,��� 4
.�$�%; �` �!����-; ��� �$�� �$� ���5��5-0� �X��!������. �2$��� �-2�; �
��$�����; �/!-��"��_ �$� �$����� ���$�; �7�� �� �!����.���.97����2 �
�������� �-7�$3%�2�� �,�.96����9� ���.9�� ������7����2 �2�����2 �
� ���.95� �-�.-�.�$$�% ��.����=���"�� �$��5�.� �
� ���$� ���.� �
�����1�$� ��!������. ; �,�!�1�0��� �$�� �� �Rd����� ��� �$�5�% �
/!3 �,!��!�����$���90; �� ���; ���� ��-!1-�6$� �$�-�� ���,�.96-�� �
/�� ������1�$� �

�����; ���.�� �6���!������.�2; ��-!1-�6$� �,�/���� ���!���� �$� �
���.�7�$$�2 �!���-1��$�� ���=�!2�.9$3: �7��� : �.���!��-!3;�
,�$�2� ��� ���� ����!����$�"- �=�$�2�$��; �� �$� ���� �����.���7� 4
���% �,!�"���_ ������ �-�$�� ���.�� �6���!������.�2; �,�/6� ����� 4
. ��� ��� �,!�63; �� �,�/���� ���.���� ����!��% �,�/6��; �!���!��� �
` ����!��% �,!�63_ ������; ���.�� �6���!������.�2; ��!���"� �,!� 4
,��3���� �,�/���� ����%���� ��3�9 �$�-��% �� �,�/��7����: �,!��2�: �
� �� ��!������: �:-��1�����$$��� ���6��%���� ; �` ������ � �$�; �7�� �
�!������. ; ���.����� �-7�$��� ��$��7$����; �,�!�� �$�2� �-1� �$��; �� �
���9 �6�5��5� �� ��-,�� �=�!2�.�62� �$�-�� ��-!1-�6��� ���� ���.� 4
�3����� ��� �6$�2�$��� ����!� �� �,!������ ����!7����% �!�"�, 4
�-!3; �����!� ��-�����-�� ���,�$3$� �,�� �����2 ����!�� �
�.����$���� �� �,�/����� ���!2�.�62; �1�.� ��3�9 �$�����!����2; �
6�$ .� ����!��% �,!�63 ��; ��2���� �����; �7���3 �,�K���!�2- �-��63 4
���9 �,!��23 �:-��1�����$$����; ����. ��: ����!���6�!����9� �# �
!�6-.9���� ����: �/��: �$�-7$3: �,-��% ���6��.��9 ��6�,�/���� ����� K �
�� �,���6!���.9$� ����"�,.�$�; �2�.� ���������$$� ; ������ �� ��6 �
�:�.����6�!���$$�% ��$��7$����; ��6�,�,!���� ����!�2�$$3: �
=�!2�.�����K��$������� �� �2���=�6��� �$�2�"��: �����.�����; ��6 �
,�6����$3: �,�!�.�1�$�% �	�!��$� �$� �.���!��-!-; ��6���$�-�.�6 4
2� �>���!� �,!� �$���; ��!���62 ���� �!�6! 1�$�� ��==����� �� �����? �
� �,!���� ��6 �5��.9$�% �,�5. ��$3�

��1�- ���2 �,�!�..�.9$� �/��% �,�/����; �� ��� �]������!� 2�^ �� �
],!��2�2�^; �� ���!���$3 �gRg����� ����.� ���!���9� ��!-�� �$�-��; �
$�,!��.�$$� �$��$���6-7�$�� �.���!��-!3 �� ��� ���.�1��5�:� �
=�!2; �� �$������!�0 �,!������.�$�%; ���!�6$����; �235.�$� ; �� �
�� 6� �� �,�!�1���232� ��2� �=�!2�2� ���37� ; ����6�$�%; �!�.����; �
 63��; �2�=�� ������� ��2�$� �/�� �$�-�� �$� ��2���_ ���7���� ��$� ��� 4
��!5�$$� �/2,�!�7$�; ���7���� ���:���� ��6��,!���.�$$3: ����!�%� �

� �8�,��� ��$� �$�,!��.�$� �,!���� �2�!��������% �=�.���=�� �� �
2�����.����; �$�; �$�,!��6��.9$� ��. ���� ; �,! 2� �� ������$$� ��� �
,�����!1���� ��� ����: �����: �,!��!�����$3: ������1�$� :�
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�� ��6 ����6�$$��� � �$�; ��� �����% ����,�$� ���%7�� ����-K �
�
�
�� �������� ��.9$� �� �,!���� �$���:���2� �,�!���!���9 �2�!��-0 �

],�/���-^ �� ����.��9 ��� �1���% ��. �.���!��-!�����$� � �#�1$�; �� �
,�!�-0 ��7�!��9; �,���6��9; �7�� �,�/���� ����9 �$�-�� �� �6���$� 4
2�!$���� �.���!��-!$3: � �.�$�% ���� �����
�� ���������

��� �
���


��� �7�� ���������$$�� ���6$�$�� �����!�7$� �� �2�$ ��� �� �
6�����2���� ��� �/��,� �!�6���� ���������$$3: ���$�5�$�% ��; �
�.�������.9$�; ��� �/��,� �!�6���� �2���!��.9$�% ���63_���1$� �
,���6��9; �7�� �,�/���� ����9 �� ����!� �� ���$�!��$� �����!� �
.���!��-!3� �	. ��2�$$� ������� �,�$�2�$� ���$���7����% ��$�.�6 �
����!5�$$� �$���:���2_ � �$�; �7�� �����6 ��� ���$�6��� �� ���,!���: �
,�/���� ��3. �� ��-��� �����6�2 ��� �����!�7������ ��$�.�6� � �.�$�%� �
#���$$�% �!����� � ���$0�9 �$� ���!-�9 �,��$�2��9 ���� ��.� �$����.�� �
��$��$3� �,!��.�23 �,�/����_ � ���!�$�7���0�9 ���.9�� ���.���90 �
�01��� �� �1�$!�; �� �����!�% �-�,�.� ��� ���: �,�! �,�!������9; ��� �� �
�� �6���37���2 �,!��.�23 ����. ; �� �����!�% ���� �$��,��:���.�� �
�!�2� �����; �$� ��01���2 �� �$� �1�$!�2 ��� ����2 ��: �����!�7����2 �
"�.�2 �6�$�2���� �/�� �!�����; �� ���.9�� �,�!��7$32 �/��,�2 ��: ��� 4
��!��; �!�5�0��2 ��. ���,!���� ��� ��: �,!���:�1��$��; ��: �2�!� 4
��66!�$7����% ��-�$����; ��: ��6��2��� 6�f �/��� �,�!��7$3% �/��, �
` ����$��.�$�� ��01���� �� �1�$!�� �� ��$��7$�% ��; �,!��2-�� 4
����$$�; �� ��!��$��!�7����% �.���!��-!�; ���� ��$� ���� ���� � �$� �
��3�� �=�.9�.�!� �� �.���!��-!3� �
� ��. ����� �$-1$� �,�!��2��!��9 �
� ��!���7���� ���,�.96����9 �/2,�!�7����� ���$$3� �6�,��$�% �� �
!-����% �>7���$� ������� ���.�.��9? ��-!1-�6$�% �$�-��� ��3 ���%7�� �
$�:���2� �$� �� ���2 �,�.�1�$��; �� �����2 ��3. �-7�$3%�gdRRR���� 4
.��� � �8�$�2� �9 �.���!��-!�% �$� �=�!2�.9$�; �� �,� �����!1�$�0; �
23 ��� 6�$3 �-7��3���9 ���� �$����; �7�� ����.� ��6����$32 �� ���: �
��.��� : �6$�$� ; �����!3� ����!3��0� �=���3; �,! 2� ��.� ������$$��
�,!���. 0��� �/�� �����!1�$��� ���; �7�� �$�5� �.���!��-!�����$�� �
��$�!�!-�� �$�-�- �� �235.�$�� �� �=�.9�.�!�; ���; �7�� �$�5� �=�.9� 4
.�!������ ���$�!�!-�� ���� �����.3 �6$�$� ; ����-��� �� �,�$�2�$�0 �
�23�.����� �����!1�$� �=�.9�.�!�; �` �/�� �-��%����$$� ��5����; �
�� �����!�% ���!����� �$�5� ��������� �$�-���

h�$�!�.9$� �,!��.�2�; �����!� �2�$ ��$��!��-�� �����$$�% �
!�����; �6��.07���� �� ���2; �7��� �-.����9 ����$���� �2�1�- ���2�$ 4
����% �.���!��-!3 �� ��� �2�!=�.����%� �� �,3��0�9 �,���6��9; �7�� �
�. ���J �$�$� �!�6.�7�% �$��$-1$� �,!������9 �� ��6$�7�.9$�% �
��2,.���$���� ��.� ���$�!���62-; ��6�����!3: ���==�!�$"�!-0�� �
!�6.�7� ; �` �!�6.�7�� �$�����9 �����,.�$�� ��� ���1������ ��.� �
!�6-.9��� ���� �!�6���� �>7��;�,� ��-�����-; ���$� �� ��� �1�?;�� �

��



������. �� ���� ���2�� ��-������$$�� ����%����_ �/�� ����9 �,!��.�2� �
��2�$����; ��6 �� �� ��� �=�!2���!�6-0��% ����!�$�� �	�.95�; � �
:�7- �,���6��9; �7�� �1�$! �` �$� �����$�2$� ; �!�6 �$������� �6��.��K �
��=�"�!���$$� ���.�7�$�; �$�����$�%5�2 ���!�6�2 �-� 6�$ �� �
�01���2; �� �,���2- ���� ��.����=���"� ��,�.$� �-�.��$�� �� ��01�� �
� �1�$! ��2�0� �����% ���$�6�� �� �$�!�6��.9$� �=-$�"��$�!-0� �� �
�����2� ��,!���.�$$��� ���������$$��� �2�!���66!�$� _ ���1�3% �
�6�$�:; �� �6�����2���� ��� �/���� �2�!���66!�$� ; �2�� ����$����9� �
�!-��2_ �� �,!�"���� ����$��� �!�6���� �.���!��-!3 ���� ��01��3 �� �
��� �1�$!3 �,!���!�.� ����$���9 �7�!�; �,�6��. 0��� �����!��9 �� �
,�.$�2 ��: ���1������; �$��2��! �$��!�6��� �2�!=�.���7����� �
��.�7� � ��3�.9 ��� �-�.��$���� �1�$!��3: �!-�!�� �� ����!�$�7�$�% �
` �"�$�!�.9$� ��. ���$$�% �!����3� �b�:���.� ��3 �,���6��9; ���� �
���$ �� ���� �1� �2�!���66!�$7����% ��23�. �,�.-7�. �!�6.�7$3� �
��,���3 �����!1�$�% �� ���!-��-! �� ����!7����% �,�!�!������ �$��3: �
��������$$3: �����.���%; ���� �/��� ��23�. �$� ��3. ��,�!�� ��01� 4
��2 ��.� �/2�!��$�2 �.���!��-!3; �$� �,!���� �1�6$�$$32 ��23� 4
.�2; ��23�.�2 �,!������ ����:���; �,!� �,�2��� �����!��� �.0�� �
1�.�; �!�����.�; ��.�; ��6!�����.� �����%_ ���� �/��� �����!�7����% �
�23�.���% �5�=! �� �,!�!��� �� �1�6$�; ��3!�����$$3% �,�!�32 �
7�.���7����2 ���������2; ����62�$�$$3: ���"��.9$3: �-�.��� : �
,���! . ��� ����� �6$�7�$��; ��. �����!��� ��3. �$�,!��6��.9$� ���6 4
��$; �� ������ �$� ���7�6 ������2; �$� ����6�.� ��-.9�-!$�% �"�$$���90; �
!�6-.9����2 �],!��6������� ����%^; ��-:��$32 ��$��$��!�2; �,�5�� 4
5�2 �� �,�.96���$�� �$���% �����.���� �� �$���% ��-.9�-!3� �� ������ �
��� �.�"� �2�$ ��� � ��3.�% ���$�!��$3% ��23�. �����!���!-��� ��� �
����% �6$�7�2����; ������� �9 ���.�% ���!-��-!�% �� ��:�2�%_ ��� ���!-� �
�. �$���% �����.���7����% �$����$����; �� ���!-� �� ��,!���.�$$3: �
��6�:; �,!�$�!��.��� �� �$��32 ���$�!��$32 �"�. 2� �
� ���7$���9 �
� ���!��� �,!���.9$���9 �/��: �"�.�% �-1� �$��6���!�:���$� ��� �
��1������$$�% ��23�.���% �,!�$�6�$$���� ��$-�!� ���2�% ��:�23� �
�.������� ���6$�$��; �,���$7�� ��� ����!32 ��23�.�2; �����!32 �
!-�����������.��9 ���6$�$�� �,�!���3�$��� ���������; ���6���� �!� 4
.���0; �.���!��-!-; �=�.���=�0; ����-�����; �$�-�-_ �$� ���0�-; ���� �
/�� �����.���� �=�!2�.9$� �,���!��$3 �$��,�!�!������ ����!��� �
�23�.����� �$��.��� ; �1�$!��3� �!�6�!�$�7�$� �-�.��$3; �� ��$� 4
.�6 ���$�!-1�����; �7�� ���� �/�� �1�$!��3� �=�!23 �,!������. 0� �
����% �!�6.�7$� �� �,� �!�6.�7$32 �,�����2 ��!�$�=�!2�!���$$3% �
���!3% �2�!���66!�$7����% �2���!��.; ��6 �3% ��� �� ���$�2 ���,����; �
�� �� ��!-��2� �����; �� �,!�"���� �����!�� ���$� �� ��� �1� �!�6.�7$� �
�=�!2. ��� ; �,����!�� �9 �!�6.�7$32 ��$��!,!���"� 2 �� �!�6.� 4
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7�0 � 63�� �=�!2_ �,�!�� �$�2� ���-���$�� � �.�$��; ��$-�!�$$�� �
��1������ �� ��$�5$�� �2$�����!�6���

i���3 �/�� �,���6��9; �$-1$�; ���K,�!�3:; ��6 �9 ���2�$��7���-0 �
�����2- �� ���2 �����!�7����2 �,�!����; ������ ��$� ���� �$� � �. ��� �
.���!��-!�%f �/�� ���.��� �,�!�� ��.��� �!����3� �	�.95� �,!������� �
!���2��!��9 �/�- �1� ������2- ��23�.�� �� ����� ���!-��-!3 �.���!� 4
�-!$3: �1�$!��; �� ����� ��01���; ���%���-0��: �.�" �� �������-�!��f �
���!� ��.���� �� �6���2; ��6 � �2���!��.�2 ��$��7$-0 �.���!��-!-; �
,���6��9; �7�� ��� �1�$!3 �` �������; �-�.��$3�; �,�!���23�.�$$3� �
��7���$� ���: ��.� ��$3: ��01��$3: ������2; �7�� ��� ��01��3 �` �
����� �1� �,����1$3� ���7���$� ��3.3: ������2 ��23�.�; ��6 �3: �� �
$��3: �,�6�"�%� ���� ���.��� �,��.��$  ��.���; �����!� �,!���.1��� �
����!��9 �� �=�!2�.9$�% ����!�$� ��01���� �� �1�$!�� �� ���7�� �6!� 4
$� ��: ���2�$����f � �����.0 �����% �6���7�% �$� �����!�0 ��.�1�$� �
� �,-�9 �!�6���� ��$��7$�% �.���!��-!3 �� ��� �1�$!�: �� ��01���:; �
$� ����!�0 �� �����!�0 ��01��$�K1�$!����� �=�!2���!�6���$� � �

� ��� ���� �����!�7����� �/,�:� �>��� ��-2�.� �� ��-2�0�? �/�� �
=�!2���!�6���$�� ����$������ �
�/���� �2�1�� ��������9 �=���3; �
����� ��$� ���$3 �� ���$�!��$�% �����!�7����% ��,�"�=���; �� �� �/��2 �
��$�5�$�� �2�1�- �$�0 �� �����!��% �.���!��-!3 �$� ���.1$� ��3�9 �
�-���������5��� ��� ���: �,�! �����!�6��.�� �<01��3 �� �1�$!3 �
�2�0� ����0 �����!�0� �#��$��7$�% �.���!��-!� ��$� �$� ��.�6�: �,� 4
.-7�0� ����$��.�$�� �� ��,�"�=��- ���� �1�$!3 �� ��01��3 ��:�2���K �
7����K�����3�; ���!-��-!$� ��.�1�$$3� ����.�����32 ���6$�$��2; �
$� �����!1�$�� �����!3: ��.������ �,�!���23�.�$�_ �/�� �1�$!3 �� �
�01��3 �=�.9�.�!$3�; �,!�5��5�� ��6��-.9��; �$�,����1$3� �� �
�� 6���.9$3� �,� �=�!2�� �#��.��-0��% �,�!���; �����!3% �� $��� �
�� �/,�:� �,!�235.�$$��� ���,���.�62�; ��01��3 �� �1�$!3 �$�� � �
:�!����! ��!���"��$�.9$�% �=�!23 �����!-��-!$� �����0�� �
���!32 �=�.9�.�!$32 �$��.����2; ������� 6���.9$32; �2�.�,�� 4
��1$32_ ��.�6���9 �� �!�.���� �� ��-.9�-; �����!� ���� ����1� �� ��$ 4
��7$����; �6���9 �6�2�$ ��� ��!���"��$�.�62�2� ���$���,�.�1$� 4
�� �2�!���62� �,���6�.�; �7�� ���6$�$�� �=����.9$��� ��������� ���� �
!�.����6$�; �7�� �����.��� �!�$$��� ��-!1-�6$��� ��������� �!�6�� 4
����� �� �,!�����!�7���: ��%�=�!2�:f �$-1�$ ��3. �,�!���!�� �� �
235.�$�� ���.�� �6��,�!���!���2 �� �,!��6������� �� �� ���������$$3: �
��$�5�$� :; �7���3 ��.�����3% �,�����.9 ���! :$-. ��!���"�0 ��; �
,�!����� ��!��9 �.���!��-!$3� ��01��3 ��6�.���!��-!3 �1� �>��,�! 4
�-0 ��7�!��9 ��6�=�.9�.�!�?; �$�7�. ���!����9� �� ���6���; ��3����2- �
,!���5�����0; ��323�.- �� ����� ����� ����!�% �,�!���; �,�!��� ��!� 4
��"��$�.�62�; ���� �1� ��� 6�$ �� ��$��7$���90; ���� ��$��7$���9 �� �
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���.�����32 ���������2; �� �$� �,���2-; �7�� �6���9 �"�,9 �$�,!�!3� 4
$���� �>$�,!����; ���!�,�%��� �.���!��-!� ���!�� �2���!��. ����1� �
�6������� ��������$$��� �=�.9�.�!�; ���� �� �.���!��-!� ��$��7$� ; �
.�59 �����!�7���� �!�6.�7$3 ���2� �2����3 �/���� ���,�.96���$� �� �
,����3 �� �$�2-?; �$� �,���2-; �7�� ���6 ����$��.�$� �1�$!�� �� ��!� 4
7����% �.���!��-!� ��!-�$� �,�$ �9 ��: �����!�0 �� ���!�,�; �� �7��; �
��� ��3 �$� ���.�7�.��9 ��$��7$3� ��01��3 �� �1�$!3 ��� �,��.��-0 4
��: ���!�,�%���:; �$� ��� �gRg����� ���� ��$�; �� ���7�� �6!�$� �,��.� 4
�-0���� �,�!����; �,!������. 0� �����% ���$� ������ �"�.���

��� ����� ��2 �7�!�� �` �=�.9�.�!$���9� �� ���� ���� ��$� �� ���2 4
,.���� �,��$�2��23: �2$�0 ���,!���� �,�.-7��� ������� �6$�7�$��; �
�� � ���.1$� ������!��9� ; �7�� �,�� �=�.9�.�!�2 �,�$�2�0 ����.�� 4
����� �],!��6������� ����%^; �=-$�"��$�!-0��� �� ������2� ��.���� 4
���� �2�!���66!�$� �

#�6���7- ���$$�% �!����3 ��:���� ��,!���.�$�� �=�.9�.�!$��� �
�01��� �>����!3% ��-�����-�� �! ��2 �� �=�.9�.�!$32� ���%����2�? �
� �=�.9�.�!$3: �1�$!�� ���� �$�����.�% �����: ��01����; �� ����1� �
,���6 ��: ��,�"�=���; ������ ��$� ����$�� �� �.���!��-!$32� ��0 4
1���2� �� �1�$!�2�� �
����.9�- �"�$�! �� 1���� ����% ���$�!��$�% �
���!�$3 �!����3 ��2�$$� �� �/��2; ��. �2�$ �,�!�����,�$$�� �6$�7� 4
$�� ��2��� �����!� �$�-�� �� �=�.9�.�!�; �� �!�.����; �� �,�!���3� 4
$�2 �235.�$�� �� �� ���2�$�����

j� � ���� !� "�#$%& �
�7�$��9 �$-1$� �� �6���9 �� �2�=�.������� ���� �� ���$� 4
����.�% ��6-7�$� �.���!��-!3 �$����=�!2�.9$�% �

���!�$3; �� ��� ����!�$3 �,!������.�$�%; �!�1��0��: ��� �����!1� 4
$��� ��$� ���6����.� ��01��3 �� �,!��01��-; ���� ��!��$���.9$�� �
 63��6$�$�� ���6����.� � 63���3� �/.�2�$�3 �� �,!� 63�-_ �,�� �
�01���2� ��$� �,�$�2�.� �2�=3; �,�� �2�=�2 �` �,�/��7����% ��34
23��.; �!����!���$�� �,�/��7����% �=�$��6�� �$� �,!�!��-� ����$3% �
,!��01�� ��� ��!�2�$�2 �!�6����. ��� �$� �2$�1����� �!������$$3: �
�01����; ���� ����$3% �,!� 63� �` �$� �2$�1����� � 63���3: ��� 4
2�%_�,�!��$�7�.9$� �7������ �6���2$ ��� �,!��:�� ��2� �/.� 4
2�$��2�; �����!3� �,!������. 0� �$�$��$3% ��.�%_�,� ��: �-��.�$�� �
2�1$� ��$��� ����3�9 ��!��$�% �7���3% �,!��01��� �b63� �,�/��7� 4
���: ���!�6�� ��..���!�7�$_ ��$ ��2��� ���J����2 � �.�$� �,!�!��3; �
,!��2-������$$� ���.$"� �� ������.�; ���.���; �����!; �,����-; �$� ��� 4
.����� ��,�7��.�$� ��� �$�: �� �:-��1�����$$3� ���!�63 ��$����6� 4
��.9$��� �:�!����!�; �,!����� ��2 ���!��$$-0 ��3!�6���.9$���9; �
,�/��6�!-�� ��:; �` ���� �!�$$�� �7�.���7����� ���.���.� ���!�2$32 �
,�/��7����2 ���!�2; ��7-�������$��2 �� �,!�!��-; �����!�� ��,��.�� 4
����� ��3.� �,���! $� �,�� ��.� $��2 �"���.�6�"�� �� ���:!�$�.��9 �
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��.9�� �� �,�/6�� �$�!���; �� ���� �$�63���2�% �$�!��$�% ��.����$���� �
� �$�!��$�2 ����!7������ �������; �� ��:�2���7����2 �����; �-7�$9� �
�!��9�� ��!�22��; ��-�.���� �� ��!� �
� ��-�����- �!���"��$$� ; �2� 4
=�.���7���� ����!� ��2�.� �$����.9�� �5��.; �����!3� �!�6$�.��9 �
2�1�- �����% �� �����. :� �
����.�� ����!���7���� �����.�$ ��� �$��; �
:�� �$� �,!������ �� ������5�% �/�- ����!�0 ��� ����-!��; ��.������
'��,�.9� �#��������%� �#����!�� ��$ �,�!�3% �������. �,!���� ��..� 4
��!�7������ ���.����$� �2�=�; �,!���� �2������� ���3���$� �
]��2��.��^ �� �,�/6�� �� �,!���� �,�/��6�"��$$��� ���J �$�$� ��� 4
$�6��� �2�=��� ���� ���!�2$�% �6��.-��% � �. ��� ���; �7�� ��$ ��3��� 4
��. ���6�� ���],�!��$�7�.9$�% ��������$���� �2�=�7������ �
�3!�1�$� �� ���%������.9$���90; �����% ��$� �,!������. .��9 ��� 4
6$�$�0 �.�"� ��.� �$�!���; ���!�6����5��� �2�=^� �<�/��% ���7�� �
6!�$� ; ���2��.�2 ��$ �$�63���� �]�3!�1�$��; �,�!�����5�� ��3�9 �
�������$32 ���%������.9$�2- �,�$�2�$�0^; ����..���!��% �` �
]�3!�1�$��; �$������ �$� ��3�5�� ��������$32^ c��#��������% �$� �
2�� ���� �6$��9�� ��� ��!�2 ; �7�� �,�$ ��%$�� �235.�$�� �` �,!��-�� �
�.�������� ���������_ ���� �1� ���� �,!��!�����$���9 �� ���2; �7�� ��$ �� �
�-�$���� �-1� �����!�� ���2�=�7����2 �235.�$��; �����!�� �
],�/��7���-0 �=�$��6�0^ �� �,!�7�� �=��"�� �2�=�.�������� �
�; �
!���2��!��� �� ���7�� �6!�$� �$�-7$��� �$��.��� ���0 �5��.- �� �
"�.�2; �$-1$� ����6��9; �7��; �,!� ����% �,!�2����$���� ��� �,���!�� 4
$�%;��$� �����!�7���� �"�$$� �,����$����% ���$���7����% �,!��.� 4
23 �� ��23�.���2 �����!1�$�� �2�=�; �� ��23�.���2 �����!1�$�� �
,�/��7������ �� �2�=�7������ ���!�6�; �� ��23�.���2 �����!1�$�� �
�01���� ���7$� ���� �1� �"�$$3 �- �$�� ��� �2$���: ��.-7� : ��3���3 �,� �
2���!��.-_ ��.��� ��� �-7�$3� �����.95�% �/!-��"��%; �� ��$�-� 4
���$32 �7-�9�2; �-�!�7�$$32 ��: �-7�$���2�; ���$�����.� �2�=�.� 4
��7����% �5��.3 �������.� �-�.�����.9$3� �!����3; �$���$3� �,� �
2�����.����; �$� �6�7���-0 ���!$3� �,� �$�,��!������$$�2- ����!34
��0 �2�=�� ����!���7���-0 �"�$$���9 ��2��� ���%7�� �� ���� �,!��.� 4
�-�3%; �$�� 67��3% �,!��2; �,� �����!�2- �2�=�.�����3 ��� ����: �
 �.�$� : �� ����-�"� : �2�=� �� �,�/6�� �����.� ���2��. ���$��� �� �
���� �1� ���2��=�!�7����K��������� �=�$�2�$�� �#��9 �/�� ��6$�7���; �
7�� ���$� �� ��� �1� ���2�$���� �>��.$"�; �6��6�3? �2�1�� �2�!=�.��� 4
7���� ���.����9� �� �!�6.�7$3� �=�!23 �>������%; ���2 ������� ; �
�.-�� ������� �� �����?; �` �23�.9; �� �����!�% ���2� �2�=�.�����3 �
$�7��� �$���-2�.� ����.��9� �#�� �1� ���$��$� �!�6$�"� �2�1�- �
���!�2�$$32 �-7�$��2 �� �2�=� �� �]2�=�.���7����2^ �$������� �
����$��� �� ���2; �7�� �2�= �!���2��!���.� ���� �,!��-�� �$�!��$��� �
���!7����� �>���0�� �,!��2-������$$�� ��6-7�$�� �$�!��$�% �

��



,�/6��?; �� �$����� �������� �� ����$����$$� ���62�1$� �=�!2� �
���,!� �� �2�!� �$���6����$�% ������� �!�6���� ���������_ �
,�/��7����� �=�!23 �` �����.�� �/���� �2�=�� �<�2� ����!� �2�=� 4
.���7����% �5��.3; ��,�!��5� � �$� ��3���3 � 63��6$�$� �� ���� 4
$�2 �,!� 63�� �� ����$�% �,!�!���$�; �� �����!�7����% �,�!�,������ �
2�1�� ��3�9 ��:�!����!�6���$� ���� �,�,3��� ��6���$��� �,!�=���� �
�3����� �� ���J �$��9 ���� �2$���!�6.�7�� �,�6�$�%5�: ���.�1$�$ 4
$3: �=�!2_ ����0�� ���.�7� �!���2��!���.��9 ��0 ���� ���:�� ��� �
,�!��$�7�.9$��� ����$����; �:�� �2�1�- �����.9$32� ����$����2� �� �
.�1�.� �,!�,���9� �#�/��2 ��23�.� �2�=�.���7���� ����!� ����� �� �
$��- ��� �����% �/,�:�%; ��������0��% �$����.95�% ��3!�6���.9$���� �
� ���� : �����!��$"�� �� �,! 2�.�$�%$�% �/��.0"�� �	�!��$�� ���� �
�� �� ����!� ����$�% �.���.�6�"�� �� ����$��� �����7$��� �>���� �
!������?; �2�=�.���7���� ����!� �$��6��1$� ���.1$� ��3.� �,!�% 4
�� �� ���� 2 ��!�$�.���"�� �� �,�!���7�_ �� �����!�7����% ���7�� �6!� 4
$� ; �,!�5��5� ��%�$���2�$- �����!�"��5� ��� �5��.� �
6��2������$� �.���7���� �,!���.1�.� ��� �� �$� ��$��.� �� ����!�0 �
$�7��� �$������ �
�,!����; �$��� �� �"�$$� ����6�.��9 �!��5�!�$�� �
��2�% ��!���3 �$�-7$��� �$��.0��$� ; ������$$�% �,!���!1�$"�2� �
���!�� �6��2������$� _ �7���3 �����6��9 ����0 �23�.9 �� ���!�$���� 4
��$�� ��01���� �� �,�!�:��� �,���!�%; ��!-�� ����% �� ����6�$� ��� �
$�!��� �� �$�!��- �� ��� �.�"� �� �.�"-; �/�� �5��.� ���.1$� ��3.� ����� 4
�� �5�!���% ��!��$���.9$3% �2����; ����������$��2 �2���!��.� �
=�!2�2� ���! �� �� ��3��� �<�23%��!-,$3% �,!���������.9 ������� �
$�,!��.�$� �$��8�,��� �` ���$=�%; ���-�$�� �` ��.����$�! �

���.����7 �#���.�����%�

� ��� !���
�����" �
���2$�$$� �7�� �"�$�!�.9$�% �,!��.�2�%; �$�� ��� 4
��!�% �!�����. �#���.�����%; ��3.� ��6��2���%����� �

=�!2 �� �����!1�$�%� �
�$ ��� �=�!23 ��.��-�� ��!��9 �-�#���.�� 4
����� �5�!��� �` �� ����� �$��62�$$3: �/.�2�$���; �����!3� �1��-� �
��7$�; �,�!�:�� � �,� �$��.�����- ��6�,���.�$� ���,���.�$��; �
��!�$���-0� �,� �$�!���2 �� �,!������. 0� �����%; �� ���$"� ���$"��; �
����-,��!�����.9$3% ���$��6����$� ���2 ��.�1�$$3% � 63� �
>klmmn o?��<���!1�$��; �$����!��; �,����1$� �� ���7$� �2�$ ��� _ �
�.��� �9 �� ����!3� �=�!23; ��$� ���$��. �� ��: �� �,!��.�1��� �� �
�-.9�-!$�K����!�7����2 �6�,!���2 �����������-0��% �/,�:�_ ��� �
����% ����!�$3; �/�� �����!�7����� �-�.��� �,!�63��0� �� �1�6$� ����
��$-; ��� ��!-�-0 ��6�6��3�3: �=�!2� �����; �$��3: �=�!2 �$��; ����� 4
��!�6�� �` �/�� ���7���$�� �$��3: �����!1�$�% �� ������62�$�$$3 4
2� ��!���"��$$32� �=�!2�2�� �
�/��7����% ��.���!9; ����.���� 4
7����� �,!��23; ���2��.���; ��01��$3� ��:�23; ���!�63 �� ����� �` �
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,���� $$3� ���.�7�$3; ���6��$$3� �,�!���3�$�% ���..�����$�% �
,��:���%; ��.���$���-0��% �$�� ����!7����% �.�7$���90 �� �,����� 4
63��0��% ��%��-�-��% �:�!����! �,!��6����$� � ���$�6�� �/��: �
=�!2 �,!�$��.�1�� �������!�� �� ��� �,�!���3�$�% ��-.9�-!�f �
7�.���7�����; �� �,�����: ���23�.�$� ���%������.9$����; ���J �$ .� �
 �.�$� ��$�5$��� �2�!� �,-��2 ���,�����.�$� �����% �1�6$� �� �
1�6$90 �,!�!��3_ ����0�� �` ���-:����!�$�� ��� �� ��$�2�62� �
� 4
2�2� ��$�2����7����: ���66!�$�%; ��2�0�� �� �7���� ���$�!��$3� �
-�.��� ��3��; ���37���; ��� ���� �!��� �$�!2 ��$-�!� ��������� �� ����� �
�6 ����� �� ��!-���� ��.���0�� ��6����$3� ��:�23 ��,�7��.�$�%; �
�:�23 �,��:���; �����!3�; �� ����0 ��7�!��9; �,�!�1��0� ��:�23 ��0 4
1���� �� �2����$3� �=�!2-.3� ����0�� �` ��$��!�� �#���.������� �
��� ����!����� �.���!��-!3 �� ���,!���2 �/�$�.���� �� �=�.9�.�!�; �
�$��!��; �����$��5�% �$�5� �.���!��-!�����$�� �� ���� �-,�!$32 ��� 4
$�!�!���$��2 ���$���7����: ���,!���� �� ����-��: �� �$�2 �����.�� �
6$�$� � ���� ��$�2�$�� �#���.������� �� ���$����� �.���!��-!$3: �
=�!2 �� ���; �7�� ��$ ���6 ���$�6��� �$� �!�5���� �������9 �,!��.�2- �
���!���7����% �,�/����; �$���:���2� �6�$���� ���,!�����. ��� 4
��!��� �#��9 �,��.��$�% �,�!��� �1�6$� �#���.�����% ��$��!��-��� �
����.���7����2 �����!1�$��2 �.���!��-!$3: �=�!2_ ��$ ��6-7��� �
,�!���3�$�� �235.�$��; ��3� �� �!�.���0 �$�65�: ��-.9�-!; ����� 4
$�!��$3� �,���!9 ; ����6�$� �� ���! �3_ ��$ �7����� ��!�6�!�; �6$��� �
-1� �	0!���%2�; �� �23 ����K��� �$�%��2 �- �$��� ��2�$� �'���K�!0. �
� �
!�%�� H��
� �,�!��2 �,.�$�; �� ���7����� �-���%7���% �]��$$����^; �
��� � �� �6���9 �]!�.9 �� ��!�$�"3 �,!���$� ^ ���� ���������$$�� ���� 4
��K�� ��3!�1�$�� �]����!���.9$�% �,��:���^ �� ���6����.9 �]���. �� �
!��2���; ���!�6$���� �� ��:�2���62� �,!����%5�: �,�/��7����: �
=�!2^ j ��]
�� �2�����2; �` �����!�� �#���.�����%; �` � �!�6-2�0 �
=�!2-.-; �����7��5-0 �$��,�!�3: �,�!�: ���������$$���� �$� �
��,!��3; �����!3� �,!�!��� ���0�- ������.� �7�.����-; �.��� �
6��!�,. �5�� ������$$� � !���; ���6��5��� ���1$32� ��.� �
,����! �5��� ��,�7��.�$� ���%������.9$����^; �����.95�f �
]�01��3 �` �/�� ��.�1$3� ��:�23; �� ���!�6$���� �����!3: ������� 4
.��9 ��6����$3� ����3 �7�.���7����% �1�6$� �� �,��:��� �� �7�!��-0 4
��:� �=�!2�: ��3����% ���%������.9$����^ \ ��#�/��: ��,!���.�$� : �
23 ��2��2 �2���� �� ��01�� �� ����� ��.�1$3: ���!�6$3: ����$�"; �
,!�7�2 ���2� ���!�6$���9 ����9 �,!��-�� ���������$$�% �,��:���; �
���2�.���7������ ��.� ��3������ �:�!����!�� ���$��$�� �6$�7�$�� �� �
,���!��$�� �#���.������� ��2��� ���� �-7�$�� �� ���$�!���62�; ����� �� �
��2 ��2�5�$$�2 ������ $��; �� �����!�2 �,�!��$�7�.9$� �$�:���.��9 �
6�!��35� ��-�-��: �.���!��-!$3: �1�$!��_ ���! ����� ���%����_ �$� 4
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����.�2�� ��� �,. ��� �� �,�$� ; �` ���� ����-�� ��35.� ���� �1�$!3� �
����; �,�/��7����� �!��3 ��2�0� ����0 �,!�����!�0; �������!�% �
��� ����-����-�� �2�1�- �$�2� �!�6.�7��� �<,�!�� �,�/6� �,���� �� �
,. 5��� _ �/�� �,�!���; ������ �/,�� �$�����.�2 ��� �.�!���; �.�!��� �
�� ��!�23� �p�!�7����� �$�7�.� ���! ��; ������ ��� ��6�:�!� �� �6�,� 4
��.3; �,�!�1���� �,�,�!�2�$$���9; �7�!�����$�� �>�2���%$���9? �
���:�� �� �6�,����; ����-��� �� �!�=!�$�2 �� �,����!�$� 2 �����.9$3: �
��!�=� �<,�!�� ��6���$�!���7������ ���! �� ��3��. 0�� �.�!�/,� 4
7����� �/.�2�$�3; �!��,���0���� ���.�� �$��/,��; �� ���2 �� �$� �
.�!��-� ���$�6�� �/,��� �` �]� �,.�2�$$�2 ���2���6$�$��^; �]$� �2� 4
1� ���-: �,.�2�$^_ ��$ ���.��3����� ��6�2�!5��3: �� ����$$3: �,� 4
��$; ��6�6�,.�7��; ��6�,���$ �� ���1� :� �
�!�3% �,���" �` �/�� �
�!-1�$$��; �:!�$���.9 �,!���$� _ ���.�� �/�� ����2�!�:; ����,���0 4
��% �����; ���� ��2- �,.����� �#3!����0��� ��� ��!�2�$�2 �5��.3 �
���!1���0� �,��"�; �$� �� �6��!�,. 0� �:-��1�����$$���9 ����. ; �
,!����� ��2- ��!���"��$$���9 �� �5��.�$_ ��6 �1�$�.�!� �� �,!�,�/�� �
��6����� ��,��.������� �,�/�� �#3��.�$�� ��6���$�!���7������ �
��%���� �/.�2�$��� �/2�"��$�.9$�% ��6��.$���$$���� �,!������ �� �
��6��$�0 �.�!���_ �.�!�7����� �$�7�.� �` �/�� �,!���"� ���..�� 4
���$��� �] ^ �$� �,�/��; �/�� �]��..�����$3% ��-�J������62^� �
��.� 4
��� �:�!����� ���6�.���; �!�=!�$ �$�7�$��� �����. �9� ��� �,���$ �
:�!�_ �/�� ���!����� �=�!2-.3; �����!1���� ������� ��,���$�� �
,!����%5�: ��==������ �	�.9$�%5�% ��3:�� �� ��-�J�����$���� �-1� �
�,!���. ��� �]�!-,,��32� ��3��.�$� 2� ��-.9�-!$��� �:�!����!�^_ �
.�7$3% �,�/�; �.�!�� ��.� �/,��; ������� ��!-,,���%; �!�6$�"� �� ���� 4
,�$� �� �����!1�$�� ��3����% �/��.0"��; ��3��.��5�% ���� ��!-,,-� �

���$�"; ��!�2� �` �/�� �$� ���2� �2�.��� ; �� �$�,!����; �$����.�� �
�!��$  �7���9; ��3��.��5� � ��6���$�!���7������ �,!���%���� �$� �
,�7�� ��-.9��� �#3!��5� ��6�$�!��$3: ���! �,!� ������3: �,!�6�$� 4
��:; ��!�2� �,�.-7��� �:-��1�����$$3% ���$�6�� �� �2�2�$� �/���� ��3 4
:��� ��6��-.9��� ���!�=�% ���! ������ �:�!� �!��7.�$ ��� ������ �$� �
����!��; �:�! �������. ��� ; ����.�� �2�1�- �����!�2� ��3��-,��� �$� �
,�!��� �2���� I �

#���.�����% ��2��� ���.� �� �=����2� �1�6$� �� �,!�,��3���� ��2 �
$�,��!������$$-0 �!�.9 ���=�!2�"�� �.���!��-!$3: �/.�2�$���; �
2�$- ���6$�$��_ ���2� �/�� �=���3 ��$ �,�$�2��� ����-.9�-!$� 4
����!�7����2 ��-:�_ �� �$�: �` ���$�6�� �=�!2; �� �7���$���� �` ��0 4
1���_ �� �,!�7�$$�2 �����$�5�$�� �� �$�2� �$�:����� ��� �.���!� 4
�-!�� �����; �.���!��-!$3� �=�!23 �` �/�� �,!��-�� �������!�7����% �
��������$$����; �� ��: �����!1�$�� �` �����!1�$�� ��-.9�-!$� 4
����!�7������ �<�2� �������!� �23�.��� �#���.�����2 ���$�!��$� �
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��� ��6����$� �,!�!���$� �` �� ��!�2�$$� �� �,!���!�$����$$� ; �
��� �,!��.�1���0�� �,!��23 �� �,-�� �!��,!���!�$�$� �,�!�1 4
��$$3: ��0 �=�!2� �#��� 6� �� �����2� ��6�. ��2� �#���.������� �� �� �
��� ���J �$�$��2 ��.����$3: �=�!2 ���� �,!��-��� ��3�� �� �,��:���; �
��� ��6����$3: ���.�1�$�% �7���� ��$�5$�: �-�.���%; ������ �� ���� �
�6�. � �$��,��92�$$���9 �� ��� �,!�-��.�7�$$-0 �!�.9 ���6���7�: �
,!��2����$$���� �=�!2 �� ��: �!��,!���!�$�$� �

8$�7�$�� �#���.�������; ���$�7$�; ���!�2$�� ��3 �-1� �6$��2; �7�� �
�$ �]2�:�$����7�$^; �7�� ���� ����!� �` ���,�.���7����� ������� �
]�-.9�-!$�K����!�7����% �5��.3^_ �7�� �� ����!�� �6��2������$� �
�$ �5�. �6����$=��2; �� ����!�� ���$�!���62� ����,���. ��� �<,�$ 4
��!�2 �� ���!�!�2; �����2� �1�; ���� �� ��$;�,�6��������2� �� �
],����,�$��"�2�^� ��$���� �2�1$� �!����,��9 �- �#���.������� �� ��� �
2$���2 ���� �����$��9f ���� �����!�62 ���� �,!�,���$ �,.����2 �/�� 4
.0"��$$32 �,�6�����62�2; ���� �]=�!23^ �� �]����!1�$� ^; ���� �
�$����$�6�!-0��: �$�7�.�; �2�$�.��$�K,!�����,�.�1$3 ��!-� �
�!-�-; ���� ��!��$���.9$3% �2���� ���6$���1$� ������7�$; �$��2��! �
$� ���; �7�� ��01��3 �� ���!�63 �- �$��� �]�!�� �^��� �
!��.�23 ���2�$ 4
���� �#���.�����% ������2 �$� �������; �� �� �/��2 ��$ ������$$� �$�2 �
7-1�_ ���� ��$��!��-�� ����� �2�:�$��� �.���!��-!$��� �,!�"���� �� �
"�.�2; �$� �$� ����1-��� �,!�7�$3 �/��% �2�:�$���_ �- �$��� �$�� �$� �
��"��.9$�% ���-�.��.�$$����; �$� ��6-7�$� �235.�$� ; �$� ��$��!� 4
�� �� �!���!3��0 ��23�.����� �����!1�$� �.���!��-!$��� �=����� �

���$�"; ���� ���$�!���7����� �,!���! ����� ���%���� �� ���,!���: �
��$����� �.���!��-!3 �` ��� �1�; �7�� �,!� 63� �� ���� �$�!��7.�$�$K �
$���90 �� ��$����!�,�%���% �,����$���� ���,!��� �� �,!���:�1��$�� �
 63��� ��.�2�$�3 �/���� ���! �� �` �,. ���; �,�$��; ���%����; �` �� �
��2 �����; �� �����2 �#���.�����% �,!�$�2��� ��: �6��/2�!��$ �.� 4
��!��-!3; �` �$� ���2�2 ���.� ��2�0� �6������% ���.��� �!�6��.9$3� �
,-�� ��������$$��� �!�6���� ; ���� ��$� �$� ��3.� ���� �$� �,. ���%; �
$� �,��$�%; �$� ��-.9���32 ���%����2_ ���$$32� ������� �,�������$ 4
�!���62� �2�1$� �,�.96����9� �,!� ��6-7�$�� �,�6�$�%5�: ������% �
!������� ���!� ; �$� �$�.96 �� �$�: ������9 ���$�6��� �.���!��-!3 �$� �
=����7����; �$� �,� �2����-�

<��2�$�2 �#���.������� ��� 6�$� �,�!�� ������2���7���� ��.� 4
���� ����!�% �/�������� ���,�.96���� ���$$3� ��$�.�%���% �5���3 �
�$�!�,�.���� �� ���� ���,�2�����.9$3� ��!������ �� �,���!��$�0 ��� 4
��!�7����% �,�/����; �#���.�����% ����.�. ���; �7�� �,��$�2��� ���� �
���!�0 �$� ����.07���.9$-0 ��3���-; �$��2��! �$� �����.9$3� �,!� 4
2�:� �� �$���������f ��$ �,���6�.; �7�� �,�/��7����� �������!�� ��-�9 �
����!�7����� �������!��; �� ���/��2 ���� ���$��$� �6��.-��� �#�� �
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,�/��7����� �!��3 �>1�$!3?;��01��; ����.9; ���!�6$���9 �,����!� 4
$-�3 ��2 ���$���7����2- ��$�.�6- �� �,���6�$3 ���� �7���9 ����$��� �
.���!��-!$��� �,!�"����� �
��.� �#���.������� �$�.96 ��,!�5����9f �
6�7�2 �.���!��-!�����$�0 ���$�6��q ���� �6$�7�� ��,!�5����9f �6�7�2 �
.���!��-!�����$�0 �����!�7����% �2����q �����% ��6�. � �` �$��.� 4
��� ����!�% �/�������� �� ���$��� �1� ���$���7����� ��6-7�$�� �
.���!��-!3; �$��2��! �$� �,!��.�$�$�� �,�!�� �#���.�����2; ����!� 4
7��� �� �,���%7�� �$����.95�� ���,!����.�$��; ��7��� �9 �7�2K�� �
$�$-1$32 �� �$�� 6�$$32 �.���!��-!� ��� ����!�$3�

�� �#����� � #���.�����% �!�����. �� �/,�:-; ������ �$��3� ���!�K
��������$����� �6�$�3 ����.� ���.9�� �7�� ����!3���9 �2�.��� �$�-�� �

��,�!���3�$�% ��-.9�-!�; ��������$$� �=�.9� 4
.�!������% �� �/�$��!�=��%� �
�� ��: ��.� $��2 ���6����� ����!� �
��2�6�!�1��$� ; ��!��9 �,� ���!�$$�2- �6$�7�$�0_ ��$� ���J �$ �� �
���$����3� �=�!23 ���!���$�%; �2�=� �� ���! �� ����$����32 ���$� 4
6���2 ��6�,��:���; �����!� �,� �. ��� �!��$� �- �!�6.�7$3: �$�!� 4
���; �$���6����$�% ������� ��: �!�6���� � �
!� �����2 ��6�. �� �� �
$�-�- �������� �,�$ ��� �,�!�..�.9$3: � �.�$�% �>$���36��$$3: �
$� �����2 �,!���:�1��$��2 ��6���$��� �����7$���; �$� �6��2���� 4
��$��2?; �� �������2 ���1���� ��6�$�: �� ����� ������� �!-�.�; �� �����% �
,��,�7��% �!��$3: �-�.���% ���6$��$���$� � �i���� ����!���7����; �
$� ��2�$- ����$�7$�% �,!�7�$� ����� �2$�1�����$$���9 �,!�7�$; �� �� �
/��2 �"�$$���9 ����!��_ �� �:�� ��%�$� �:������ �2���!��.����7������ �
����$���$� �/��: �],!�7�$^; �� �$�%����9 �,!��!�����$3� ���62�1 4
$����; �����!3� ����1-�� ��,��.������� ������32 �2���!��.�2 ��. �
�!���7����% �,�!�!�������

���!� ���2�6�!�1��$� �� �����: �=�.���=���: ��3����: ��6$�7� 4
.� ���:�� ��� ���!��$������� �,�$ �� �,! 2�.�$�%$�% �/��.0"��� �

� ���2� ��� ����!"3 ��$��!�����.��9 �$� ����!��%; �� �!�����%; ��.�� 4
$32 ���!�6�2; �$�� �$�,��!������$$32 �2���!��.�2� �#�/�- �/,�:-; �� �
���� �!���"�� �$� �2�= �� ����6�$��; ��3�������� �6$�7�$�� ���! ��; �
� ���! � ��7������ �,!�2���2; ��6�����!��� ��3!������ ����6�$�� +��
�$�.�%��� �5��.� ��$�!�,�.���� ����63���� ���2�$�!-0��� �
�.� $�� �$�����.�������.�% ��.����$3: �=�!2_ �"�.3% �$�-7$3%�
,�!��� �,!�:���� �,�� �6$���2 �!���� ��!�6�!�; �����!3% ��,�!�3� �
,�6��. �� ����� �������%5�� ���,�����.�$� ���! ��� �� �2�=�� ����: �
����-,$3: ��2- �$�!���� �� �/,�: �� �!���$��!-�!-�� �,�� �$�2� ���� 4
$-0 ������0 �2���7����%; ���!�.����6$�% ���! �$����_ �,��.� �$��� �
$�7�$��� �5�!��� �,!��.����9� �=�.9�.�! �� ��!�������9� �� ��-:� �
���� �1� ��$�2����7����K2���7������ ���! �� L����� �2�=�.�����3 �
$����� ���. ���)���6�2�$ ���. !$3: �2�=��; ��3�����0� ���! �3 �
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,.���!��� _ ������3 ���� �,��.�������.� ��!�6�!� ��; �� �7���$����; �
<�$���� �p�� ��!�6�! ��!���. �]� ���$- ����-0 ��-7-^ ���23��
!�6$�!��$3� �=���3; �,!�$��!��� ��: �����!��%; �6$�7�$�� ���� �$� �
2�1�� ��3�9 �-2�.�$�� ��$ ����!���. �,�!���!���� ��� ��!�2�$� �� �
2����; ���,������. �=�.9�.�! ��-.9�-!$3: �$�!���� ���$��-.9 4
�-!$32� �� ��$ . �,�/��7���-0 ��-�.9 �� ��$��7$����; ���.�6�� ��� �
��! �$���9 �� �2�=�.���0 �� ��-.9�-!�% �$�"���.�6���$$3:_ �� ���� �
�!�2 �$�:�1��$�� �����: �7�!� ��3.� �,!��!�����$�; ���� ���� ��$� �
-$�7��1�.� ���.�����!1��$-0; ����-�����$$-0 �,!�,���9 �2�1�- �
�3�5�2� �� �$�65�2� ��-.9�-!�2�� ��!�2� �����; �!����3 ��!�6�!� �
,�2��.� ����2 �-7�$32 �������9 ���$���7����� ���,!��3f ��$� ����!3 4
.�; ���.�� �6����%.�!�2; �$��3%�2�! �,!������.�$�%; �,!��5� 4
���-0��% ���6$��$���$�0 �!�.����� �� ��2 ����$�!�,�.����% �
!������� ���/�� ��!�2 �� ��!:��.��� ; �����!� ; �$����$���$�� �
,�2 �$����; ��3������� ����!�0 �/�$�7����: ��-���!���� �!�$$�:; �
������!�7����: ��-.9�-!_ �$� ������$$� �!��"������ �$�-�� �� �!�.���� �
� �� �,�!��7$�2 �235.�$��� �#�,�!��% �� ��.����2 �!�����0� ��.���� 4
��; �� �6$�2�$��-0 �5��.- ���6���� ���!2�$ �X6�$�!� �� ��$ ���1� �
���!�$$�� ���������� �,!���:�1��$� ���.95�$���� ���!�6��; �$� �
��� �2���� ��.���� ��!�$9 �2�1�- ����!32 �,�$�2�$��2 �2�=�.������� �
� �/��% �$���%; ���6�.��9 ��3; ���. !$���90� ���6$�"� �� ���2; �7�� �X6�4
$�! ������ �����2�2 �2�=� �,!��-�� ��6����$3: �,!������.�$�%; �
,�!�$�� ���2 ���232 �"�$�! �� 1���� �� ���! �� �� �2�=� �$� �,!��.� 4
2- �����!�� ���6$�$� � ���!�6 ���.1�$ ��6-7��9� �� ���7�� �6!�$� �
��$�6���; �,�!����5�: ���� �,!������.�$�%� ���.����6$3� �,!������ 4
.�$� ���1$3 �$������2 �����!1�$��2; �$� �����2 �,!�$"�,�2 �
������ ���6$��$���$� _ ���� �/��K�� ���6$��$���$��; ���!�"�0��� �
=�!2�.9$-0 �.����-; �����!��; �7�� �235.�$�� �,�$ �� 2� ��3!��� 4
�3��.��9 �� ���7�$�� ���.��: ������; �� �7�� ��2- �,!��5�������.� �
235.�$�� ���!�6�2� * ��#�� �,!������.�$� ���6��.��9 �2�=����!7� 4
���2 ���6$�$��2; �����!�� �,!�����,�.�1$� �,�6�$�%5�2-; �,�$ 4
��%$�2- )M����=�.���7����� ���!�63 ���6$��.� �� �������!��� �b63�; �
!�.��� ; �$!������$$���9 �` ���������$$3� �,!� �.�$� ; �����!3� �
,!�:�� � ������0 �!�6���� �-1� ��� �����; ���� ����-,�0� �� �����!�0� �
#�,�6�$�: �=�!2�: �-,�!$� �,!���.1�0� �1��9 �!�$$��; ��������.9 4
���-0��� ��� �/��% �,!����!���.9$�% ������� �,!�%��$$��� �!�6�� 4
�� ; �� �$-1$� �]!��,�6$����9 �� �"�������2 ��.��� �� �!�6����!$�% �
���.�7�� ��3!�1�$�% ���$��$�% ���-� ��: �,�!��$�7�.9$��� �6$�7� 4
$� ^ )) ������2 ���!�6�2 �X6�$�! �6��.��3���� �$���� �-7�$�� ��� �
��!�6$�2 �,!������.�$�� ���� ��� ���$�% ��6�$�7�.9$3: ������% �
��6$�$� � ���� �!�6-.9���; �,� �. 0�� ������2���7����� ����.����� 4

��



$� �,� �!�.����; �� �7���$���� �` �,� �:!�����$���-; ���6����2�2-�
� � 637����2 �,!������.�$� 2; �� �! ��2 ����� �!����� �����.���� �
.���$�3; �2�=�; ���! ��; ��2�$�; ���!�6�� ������$$� ���1$�; �7�� ���6 4
����� �$�-�� ��� ��2�$� �� �/,�����; �� �,�� �$�2� �,���63����� �2�! �
,�!��7$3: �,!������.�$�%; ���1������$$3: ���2 �1� �,!������.�$� 4
 2; �7�� �,�!�..�.9$� ���6��0� �2�= �� ���! �� ���� ���.95� �X6�$�! �
,��:���� �� �/��% �1� ���7�� �6!�$� �� �� �����; �,���63�� �� ���.9 4
5�2 �2����!����2; �7�� ���������$$3% �,!��2�� ����9 �$�����.9 ����� �
1� ���!�6$��� ��23�.�; �7�� �� �2�=� �	�� ���.95�: ����!���7����: �
�3���� �����0�� �,��.� �!���� �X6�$�!�� �
�!�3% �����!�� �� �$���:� 4
��2���� �2�����; �������1��$$��� ��� ����!�2�$$��� �]6�!����� �
�23�.�^f �]��.� �23�:���2 �,�$�2��9 ���.�� ��!��$�� ���-,�$� �
!�6���� ; ��� �23 ���.1$3 �����!5�$$� ����������9� ��� �,!������ 4
.�$�% �$�5��� ��!�2�$�^ )c�����#��!�% �,���63���� ���$��$�� ���1�� 4
���� �]2$���!�6.�7$3:^ �� �]2$���6$�7$3:^ ���!�6�� )H;����� �2�1�- �
��1������2 �� �!�6.�7��2 ���!�6� ��,�!�3� �-.��.������ ����� K�� �
�� 69� �#�/��: ���-: �,!�$"�,�:; �,� ��-�����- ����$3:; �X6�$�! �� ��� 4
��!�7����% ���7�� �6!�$� �6��.��3���� �=-$��2�$� �,�.���2�$���� �
��!�6�� �
�/��2- �-1� �,��.� �X6�$�!� ��� ��� �$�-7$�� ����.����� 4
$��; ��2�0��� ���2�% ���!�6$���9; ��,���%$� �2�1�� ���$����9� �� �
��1-��%� �!�6$�5�!��$���� ������� �2���!��.� ���� �� �]2$���!�6 4
.�7$32^ ��3!�6���. 2 ����$��� �,!������.�$� � ��.-����� �$�-7$�� �
6$�7�$�� ��2��� �/��� �,!�$"�, ���� �� �������; �7�� ���,���0� ���37 4
$3� ��!�����$� ; ������%$3� ���$�% �!�����!�"��; �]�!��$����9 �
��.9�� ��:��$��^ �� �]����. �9 �$��:��$��^� �	. ��6-7�$� �2�=�; �
��! ��; � 63��; �!�.���� �� �,!� �X6�$�! ��!��-�� ��6-7�$� ��$�!�,� 4
.����; �/�$�.���� �� ��-.9�-!3 �$�65�: ��.�����f ��$ �` �,!���!1� 4
$�" �����!�7������ �2����� �� �����!��; �7�� �]23 �$���,����$3 �
,�$ �9 �$�7�� ��-�����-0��� �� �6���$7�$$�� �� ���2 ��.-7��; ���.� �
23 �$� �6$��2; ���� ��$� ���6����.��9^ )j ��X6�$�! �2�7���� �� �$���% �
$�-��; �����!� ����.�����.� ��3 �!�.����6$3� �,!������.�$� ; �� �� �
$���2 �2����� �� ��6-7�$�� �.���!��-!3; �� �2����� �����!�7����2 )\ �

	�.��� ������ ��� �=�.���=���: ��.� ����!���7����: �6���7; �
X6�$�!; ���2 �$��2�$��; ���������� ��2�$$� ����!�0 �� ��2�$$� �
=�.���=�0 �$�-��� �
�-7���.9$�; �� �����2 �����!��2 �� �$�-�� �� �� �
1�6$� ���$����� �$�6���.�� ��� ��2�!�� �/��� �,!����!�.3% �-7�$3%f�
]����!� ���!�6����� �6��.07��� �� ����� �,�.$�� �$���1� �-�,����$�� �
$� ��7�� �,�6$����2���� ��$�5$��� �2�!�^ )I ������; �$�� �-7�$32 �$� �
� ����0� �,!��!���-��� �$� �=�.���=����; �$� �!�.����6$3�; �$� �
�����2�7������ ��$ �$������� ��3���63���9 �2���!��.����7����� �
�6�. �3; ������ ���� �,!������ �� �$�2 �$�-7$3%��$�.�6�
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'� �rWrW�()����
� �	!-��� ���.� �` �
����$ � �LMK�����3; ���$��!�2�$$� �� �
#���.�����2 �� �X6�$�!�2; �,!�$�� � ����!�0 ����� �
� 4

���$�; ����!"� �.�$������7����% �,�/����� �
����$ ���� �.�$����� �� �
=�.���= �,!�23���� �� ��-2��.9��- �� ���� �,��:�.���7����% � 63�� 4
��%����!��� �#�,!�����,�.�1$���9 �X6�$�!-; �
����$ ; �7����%5�% �
��$���$�"; ��7�����; �7�� ���!�6 �$������ �$� ���!�1��� �,!��2���; �� �
7�� �2�! �` �/�� �]�,.���$�� �$�5�: ��-5��$3: �,!�"�����^ )+ ���3 �
��J���$ �2 ���� ���������� ����,!� ��% ��� ���!-1�0��: �$�� �,!�� 4
2���� �� ���$� �"�.��; �����!�� � �. ��� ���2��.�2 ��.� ���!�6�2_ �$� �
,��.�$$�% ��-�$���� �,!��2��� �� �$�2 �$��� �
�/6� ���6����� �/��2 �
��!�6$32; ���$�!��$32; ���2��.�7����2 �235.�$��2_ �,�$ ��%$�� �
235.�$�� �!�1���� �,!�6-� ���!�63 �2$���6$�7�23; �,���2- �7�� �
,!������. 0� �����% ���$��6 ����,!� ��%_ ��$� ��2����.�$�$3 �� ��$K�
��6$�7$3; �,���2- �7�� ������ � ��6�,!�����,�.�1$3: ���7���� �` �
�����$�7$���� �� ��,!���.�$$���� ��7�!��$�%� �<.��� ����9 �,�!�3% �
��2��. �� �,�!�� �,�/��7���� ����$�"�_ ��� ��-�-�� �,�/6� ��� �
���2� ��� �=�!2�2� ���$�; ���� �� �,!�����,�; �� � 63��; ���� ���!�6 4
$���9 ���:!�$ ��� �1���% ��� ���: �,�!_ ���.95� �/�� ���!�6$���9 �
,� �. ��� ���/,�����:; �� �6���2 ��3!�1����� ���!���!�7����� �
=��-!3; �� ���.95�� �.���!��-!$3� �1�$!3 ���.�7�0�� ��� �����.9 4
$��� �,�/��7������ ��.��� ���.9�� �����2 �!�62�!�2_ �,����$� � 63�-; �
$����.�� ���!�6$32 � �. ��� �=�.9�.�!; �$�!��$� �,��$ ; ����6�� �� �
���� )L�p�� �
����$ ��6-7��� � 63�; �=�.9�.�! �� �.���!��-!- �� �
$�!�6!3�$�% �-� 6�� �� �235.�$��2; ���$��� ���� �,��:�.���62 �� ���� �
��37$� �����.����7���� �,��,�7�� ���.�0� ���� ���� ����!����� ��. �
$�� �$�,!��2.�232� �
�,!����; ��.-���� ��$��!��$3 �� �"�$$3 ���� �
,!����7����� �!����3; ��� �2$���2 �,!�����:���0��� ���$�!��$3� �
�3���3 ���!!�� ���.� �,!�$��!�79 ���� ���2��.���% �� ���$�����9 �� �
$�%���� �� ���5�=!���� ���$�!��$3: �6$�7�$�%���!�6�; ��� �� �!�����: �

����$� ����1��� �������%5�% �2���!��. ���2�$��7����: ���$$3:; �
,!�7�2 �- �$���; ���� �� �- �X6�$�!�; �23 ��$��� ����.�����2� �� ���!�2$32 �
��.�7�����2 �]2$���!�6.�7$3:^ �� �]2$���6$�7$3:^ ���!�6���

	. �$�� ��7�$9 ���1$�; �7�� �
����$ �$�������. �,�!���!���� �
2�1�- �=�.9�.�!�2 �� �.���!��-!�%; �!���2��!��� ��: ���� ����$��� 4
�3%�,�/��7����% �� ���!�6$3% �2���!��.� �
� �2�$�� ��$��!��$3 �
���.�����$� �
����$� �� ��23�.���2 �6$�7�$�� �!�=23; �2���=�!3; �
,�!�..�.�62�; �-,����.�$�% �� ��!��$�$�% )* ��<.��� �� ���7�6$-�5�2 �
,!������.�$��2 ��.� �� �!��5�!�$$32 �6$�7�$��2 �,�!�!�1����� �� �
$����; ��2�$� ���23�.�$�% ����� ���6 ���$"� �` �� �$�6�� �� ��,�!��_ �� �
�����3� �=�!23 ��.������ �$���� �����!1�$��; �� ���2 ��62�$ 0�� �
��23� �=�!23 cM�
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�&� �
�!�..�.9$� �-7�$�0 ��� ���!�6� �$�!�1����� �$��� �
2��$� �$�-�� �� �-�.�$�2 ���/�$�.���0; ���"��.���0 �� �

,��:�.���0 �,�!���3�$��� �235.�$� � ���$� ��6�.�$�% �,!�� �� 4
����� ; ���� � �-1� ����6�.�; ��� ��$�.�%���% �5��.3 ��$�!�,�.���� �� �
�� �-7�$��2 �� �,�!���3�$�2 ��$�2�62�_ ��6����.�������.�% �2�=� �� �
��! ��; �,!�$ �5�: �/�- ����!�0; ���$$��!� ��2�. �$����.95�� �
�.� $��; �� ���� ����!3% �$�-7$3%�2���!��. ��,.������!�. �$� ���$��
,���.�$�� �-7�$3: c) ��	�2�$3 ��.� ��-:� �,.���!��� ����5.� ����9 �
2�!; ������$$� ����6��5��9 �$� �23�.� ��.�������; �� �7���$���� �� �
��,!���: �� �,!���:�1��$�� ��!�7����% ��!�23� �	!-�-0 �.�$�0 �
,!������. �� �
!�%�; ���1� �$�7��5�% �� ��$�2�62� �� ��-:�� �,.� 4
��!��� �� ���$�6��� ��!�23; �$� �6���2 �,�!�5��5�% �� ��6-7�$�0 �
,�!���3�$�% �,��:��� ����!�2�$$3: �$�"���.�6���$$3: cc���0 �1� �
6�$ .��9 �/�$�.��� �� ���"��.���; ��6 �$�: ������$$� ����6�.� ��.� $�� �
=!�$"-6��� �5��.� �	0!���%2�; ��6�����!�% ��35�. �� �'���K �
�!0.9� ���$� �,�.�1�$�� ����6$�7�.��9 �� �-���!��.��9 ��7�$9 �,!�7 4
$�f �7�� ��-�����-��; �,�2�2� �����!��; ���� �� �]������!� ^; �-�.�� 4
$���:���3��0�� ���� �2�!; �����!3% �,!��5����-�� �,�!���- �
��!�,�%���% �"���.�6�"��_ ��0�� ��:�� � ��-���!��3 �����!�7����: �
$�!���� �� ����!�2�$$3� �]����!�^� ����!� ��-���!��� ������� �
���6�.��9 ����,�����-0��% ��� ����: ���7�$� : �$�-�� ���$"� �gRg�� �
$�7�.� �gg �����_ ��0 ����.� ���J �$ �9 ���� �!�6.�7� ��$-�!� �����!� 4
7����:; �]!����3:^; ���"��.9$3: �� �,��:�7����: � �.�$�%; �,!�7�2 �
��23% �,!��2 ���1-��%� ���$�!��$����; ��$���$$3% ��0��; �����% �
�!-����90 �,!�7�$�. �2$��� ��!��� ����!���7����% �23�.�_ �$� 4
�2��! �$� �/�� ��.� ��2�$$� �� ���.- �/���� �-7�$�� �� ��-���!��� �7!�6 4
�37�%$� ��6.0�.�$$� �� �,���%7�� cH��<�$�2; ���$���; �$��$-1$� �
�2�5����9 �,�$ ��% �� �������!��; ���!�.����; ���.����� �� �����; �
�����23: �� �$�-7$3%����:�� �$� �� �23�.90 �� ���$�!��$� ��-������ 4
���5�%; �` �� ���.�7�� ��� �����!��; �!�.����; �.����� �� ����� �` �
��63���!�7$����; ���6!�.����6$���� ��.� �$�.���7����2 �235.� 4
$��� ����2� �!���7�2� �,�$ �� 2� ���.9�� �:���.� ����6��9 �� ���7� 4
����$$� �!�6.�7$3: �,!�"����: �����!�� �� �������!��; �!�.���� �� �
��!�.����; �.����� �� ���.������ �<�$�2� ���gg ����� �-��!�$� �
�,�!�!-0� �$��3� �/�$�.���7����� �!�63���$� ; �,�!�1���0��� �
��,�!9 �����3% �!��� �� �$�,! 1�$�� �� ��� 6� �� �,�!�:���2 �� ��: �
!-�� ���$��$3: �,!��.�2 ��-!1-�6$�% �$�-��� ��$���7��.�$$3� �
5��.3 �� �$�,!��.�$� ��2�!���$�����; ��=!���$����� ��; �,�6�$��; �
����!�.����� cj �6�$�2�0�� ���,�!9 ���2 ���,!���2; �����!3% �$���� 4
�� ��3. �:�!����!�$ ��. ��6-7�$� �$�!��$��� ����!7������ �i�2 ���J 4
 �$ 0�� ��$�.���� �=�!2 �-�$�!����; ���.��� ������ ��: ��!-� ��� �

��



�!-�� �,� ��!�2�$� �� �,� �2���-q �8��2������$�� ��.� ���2���� ��.9 4
$���9 �6�!�1��$�%q �
� ������; �� ����.���� �� �$���% �/,�:�%; �-1� �
6�-7�� ��$�7�� �
!�1�� ������; �.0��,3�$� ��� ����: ����!�$ ���-��� �
�$��/��.0"��$$�� �$�,!��.�$�� cs��$� ���� �$� ��2��� �$� �$�6���9 �
��� ; �$� �,�!���9 �� �,�$ ���2; �����!�� �2�!��� �� ����� ��$ ; ���� �- �
$��� ���$ �� �,! 2�.�$�%$���9 �� �,��.�������.9$� �,���-,���.9 4
$���9 �:����

��1�- ���2 ������0�- �$�7�$�0� �,!�:����9 �23�.� �� �.���.9 4
$���� �,!�"�����; �$� ��� 6�$$3: �����% �����%; �� �,�!��.07�$� : �
�-.9�-!3; �� �!�6$�!��$���� �� �!�6$��!�2�$$���� ���1� �����; �7��; �
��6�.��9 ��3; ����$������ �
! 2� �.�$� �/��.0"�� �6�2�$ ��� �
��.$���!�6$�%; �� ���. ���% �$� �2�! �=�6�7����: � �.�$�%_ ���23% �
,!��2 �].�$�%$����^ �-��-,��� �2���� �],�!����7$����^; �� �$���-,� 4
�� �$��3��.�� �"�!���� ��� ���� �!��� �"��.�6�"��$$3: ����%; �
��-��: ���� ��� �#��� �� ���!�6�� ��!��$��; ��6��$��7$����� �#���.�� 4
�� �����!�� �/�� ���.� �2�!=�.���7���-0 ��:�2- ��,�$�.�!�; �� ��$ 4
�!�,�.���� �` ����!�0 ������� ���� ����!� �2���$3:; �6�2�$-�3: �
,!�"�����; �,�!����7���� �,����! 0��:� ; �����.- ��6����$�% �
2����7����% �2�!���% �!��2�7$����; �,�.$�� ������ ����!��� �� ���� �
��$��$�% ����%$3%���$-� ��2,�!��.����7����% �/,�:�� �
�!���% �
2�1�- �,!�1$�2� �]=�!2�%^ �� �]����!1�$��2^ � �. ��� ��.������ 4
�2 �/��% ����!��; �!���"��% �$� ��: ���!2�$�7���-0 ��.��$���9 �� �/�� 4
.0"��$$�% ����!��� �#3!������ �$��� �,!��.�2� �!��7.�$�$$���� �
��-: �$�7�.; �,!�7�2 �$�-7$�% �23�.� �,!������� ���J �$��9 �2�!=� 4
.���7���-0 ����$�������9 �=�!2 �,!� ��$-�!�$$�2 ��23�.���2 �
��.�7���

��� �,!��.�2� �!�6.�7�%; �6�2����!���$$� �����!1��� �� ����� �
,!��.�2- �2$�1�����$$���� �� �,�!���� �!�6����$� ����$����; �/��: �
,�!�3: ����2� �� ���3 �=����; ������$ �� �7���� �=�.���=���% �
2�2�$� �6$�$� �>��- �$��� ���� �����!� ? �� ����!�����K$�-7$32�

!; � ��
����
*�� �#���.���� �$�-7$�% �,!������ �,!��.�2� ��$�.� 4
��%�� �!�6.�7�%; ����$���� �� �2$�1�����$$���� �

,!�$�2��� �:�!����! ���,!��� �� �6��2������$�� ��.� ��,�$��$$����; �
��$�K ��.� �,�.���$�6�� �<�6��0�� ���� �$�,!��.�$� �� �/�$�.���� �� �
=�.9�.�!�� ���$�; �,�� ��.� $��2 �,�.��$��.����; ��!��$���.9$�% �
�$���2�� �� �������!�7����% ��!:��.����; �,!�:���� �� �������!� 4
7����2- �$�7�.- ���$��$3: �=�!2 ��-.9�-!3; �����!3� �,�!���.��9 ��6�
/���� ���$��� �$�7�.� �,-��2 �,�!���7� ��.� �,!���7���$� � �#�!��"�� �
������. 0� ���.9�� ��,����3 ������� �!��,!���!�$�$� ; �.��� �$�7�.�; �
����!32 ���J �$ ��� �$�.�7�� �=�!23 cI ��#��!�� �$�,!��.�$�� �
����!�� �� �2$���: �� �!�6.�7$3: �,!�7�$�:; �,!���� ��: �� ���1�� 4
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����$$32 �!�6-.9����2_ ����$����3� �=�!23 ��$� ���J �$ �� ������%�
��$��$"��% �,!�!��3 �,!�:����9; �$��2��! �$� �!�6.�7�� ���$�!�� 4
$3: �-�.���%; �� ��$�5$�2 ��$�.��� 2 c+����� ���7�$�� �23�.� �$�:� 4
��� �,�!�..�.9$3% ����.�� ������.����; ���,�.��6��.���� �� �
,�.������$��� cL_��6�2�$ �,�$ �� �����!��$"��; ��� ����$�2 �,!� 4
��:�1��$�� �� �,�6�$�%5�: ����.�$�$� : ��� ���$��$��� ����$����;�
` �2$�$�� �/��.0"��$$�% �5��.3 �	�!��$�; ��$����!�,�%����� �
 63��6$�$� �� ��!��$���.9$�% �2�=�.����; �` ��3�������� �,�$ 4
��� ���$��!��$"��; �` ��� ��6$�7�.9$� �!�6.�7$3: �,!���:�1��$� : �
� �,!�:���; �,-��2 �����2�. "�% �� �-!��$�$�%; �� ��:��$32 �=�!2�2� �
��� ��,�$�.�! �>��7���� �� �����? �,!���. �� ���!�"�$�0 ���2-0 �
-���%7��-0 �������!�0 �$�-7$�% �23�.� �` �,!�7�$$���9; �,���6�� �
��$�%�],���!:$���$-0 ��� 69 �2�1�- � �.�$� 2�^ c* ;���� ����!� �
��$��!��$"�� �-$�7��1��� �$�,���.���2-0 �� �$�-�� ����0 ������� �
,!���:�1��$� ���6�2�$ �� ��� �����% ����$���!�6� �=�!2 �
,!�!��3� ���� �������$ �,!�:���. �� �$����.9��2 ���,�2 �23�.�; �
=���.9$� �������0��2 ���0 �,��:��- �7�.����� ��6����� �� ����_ �/�� �
2�$���$$�� �,���� $���� �=�!2 �23�.� �,�!�1���� ����$����3� �
=�!23 ��-.9�-!3 �>��,�7$� �����.����7���� ���$"�,"� a?_ ����- 4
�� ��3 �$� �5.� �����7$���; �7�.���7����% �-2 ��.� ����!3���� ��.� �
,!�$�2��� ���$� �� ��� �1� �=�!23� �� �,����$32 �1� �$�2$���2 �
��$��$32 ���,�2 �,!�:���� �� ����!� ���$��!��$"��; �����!� ��6 �
���.���� �,�!����3����� �� �/�$�.���0 �� �=�.9�.�!�����- HM_��$� �
����!��; �7�� �!�6.�7� ��6$�7�.9$3; �� ��:������ ����!�7$3; �� �7�� �
,�/��2- ��:��$3� � �.�$� �$����.9�� �$����J �$ 0�� �����2 �
,!���:�1��$��2; �` �$�,!����; �,�� ��:��$32� � �.�$� 2� �.�1�� �
����!5�$$� �!�6.�7$3� ���6$��$���$� � �#��-.9�-!� �� �� ��!��$�62� �
23 ��2��2� ���.� �� ������-,$���90 �,!�6$����; �����!3� �/��.0 4
"��$�!-0� �$�6�����2� ��!-� ��� ��!-��� ����2 �23 ��, �9 ���6�!� 4
���2� ������ 2 �.���.9$���� �� �,�!�2�$$����; ������ 2 �
=-$�"��$�.9$���� �����.9$3: �������$3: ����$�" ��$-�!� ���$��� �
"�.���� ���� ����!� �2�1�� ��3�9 �.-75� ������ �,�$ �� �� ��� ���!�"� 4
��.9$�% �!�.�f ��$� �,!�!3���� ���$�������$���9 �=�6�7������ ��.� �
,��:�7������ � �.�$� ; ������� �2���� ��$�.�6� �����.9$3: ������� 4
$3: �7����% �� �� ���$�5�$�� ���1��% ��6�$�: �,!�2�$ �� �����.9$3% �
1� ��!���!�%; �-$�7��1� �� ��� �1� ��!�2 �,�$ ��� �:!�$�.���62�_ �
!�6$��!�2�$$���9 �����.9$3: �,!�6$���� ��$-�!� �� ��$� � �.�$� �
�363���� �!��$�"�$$���9 �!�$$�: �� �,�6�$�: �=�!2� ����!� ���$��! 4
��$"�� ����6�.��9 ����1� �� �,�$ ��� �� ���!3�3: �=�!2�: � �.�$� ; �
,�.-7�0��: ���$�!-1�$�� ��$�6�,$� �,!� ����!�7� �� ��$�5$�2� ��.� �
�$-�!�$$�2� �,�����2�� �#�/��% �-.9�!�����.����7����% ����!��
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��.9�� ��� ��-������$$�; �7�� ��$� �,���6�.� ����,.��$���9 ��$�.���%; �
����!3� ����:�� � �� �!�6.�7$�2- �,!���:�1��$�0_ �"�$$3 �!����3 �
�2�!���$����� �-7�$��� ������;; �����!3% �-$�7��1�. �,�$ ��� �!��3; �

=!���26�] �����! ���� ����: �/��: ��$������!�7����: ���7�$� : ��-!1- 4
�6$�%�23�.�; �$���:���2� �����$����9� ���� �$����$�% �

���!��; ��7�$9; ���6�.��9 ��3; ���.���% ��� �,!��.�23 ���$$�% �!����3; �
$� ��!��-0��% ��$�2�$� ��6K6�����.07���.9$�% ��� �,�,-. !$���� �
- �2$���: ����!������ �.���!��-!3; �=�.9�.�!�; �/�$��!�=�� �� ����� �b �
�2�0 ������- �5��.- ���$����� �-7�$��� �8��2-$�� ��!�%��; �
!��,!���!�$��5-0 ����� ��.� $�� �$� �2$���� �-7����� ��-!1-�6$�% �
$�-�� H)�������.  �� ����!�$� �]/!���7����� �-7�$��^ ��!�%�� �,� ��� 4
��!1�$�0; � �:�7- �����$����9� �.�59 �$� ���2; �7�� ��$ �,3����� �
���9 ��. ��$�.�6� �2�=� �����!�6�� ���� �6���.�� ��� �
�3����� �2�=�.���� ���/�$�,��:�.���� ��!�%� �-���$��.����� �
,!�$"�, ��2����.�$�$���� ���$��$3: �7�.���7����: ���-��$�%; �� �
�2���� �� ���2 ���%���-0��: �.�" �2�=� �� ��: �/2�"�%� �8�%� �� ��3. �
2�=� �� ����6��5��9 �� ���.���� �7����% �,��:���; ��!�%� �,���63���� �
� �2�=� �����$$-0 �=�!2- ���-��$�% �>/!���7����:?; �� �� �2�=� 4
���!7����: ���!�6�: �` ����-0 �1� �����$$-0 ��: ���2��.��-� �
�!:��7����% �7�.����; �,� ��!�%�-; �,�!��.07�. ����� ���-��$� �� �
��6$�$�� �,-��2 ���!�6��_ �,��.��-0��% �:�� ��-.9�-!3 �7���90 ��64
2�$�. �=�!2- ���!�6$����; �� �7���90 �6��$�. ��.� ��3���$�. �,��:�7� 4
���� �,�!�1���� ���.-�9 �6���6$�$� � ���� �!-��2�$�3 �,��:��� �
��,.3��0� ��� ����: ������6$���.9$3: ��.� ��.��� ���$�!�.�!-�23: �
����: ���6$�$� _ �,!�2�! �,�!���� �` ���$; �,!�2�! ����!��� �` �$� 4
�!�6� �� �6����2 �� �6���!-��2; �! ��2 �� �2�=�2; �.�1�� ����$ �� ���� �
1� �2�! �,�.��,��:���_ �7���3 ����!��9� ��� �$���; ����9 ���� �,-�� �` �
���!3�9 �����6$�$�� �6��.-5�$$-0 ���.���9 ������6$���.9$��� �
>2���� �,��:��$�.�6�? ��.� �!��5�=!����9 ��23�. ���!�6$����; �
!-��2�$��!$� ����,!��6����2�% �$�2� ��� ���: �,�! �>2���� ��$���. 4
����$� ?� ����0�� ��6-7�$�� �]��2��.���^ �$��!���7����: �� ��$�K �
���7����: ���!�6��� �8�$�2� �9 �/��% ���2��.���%; ��!�%� �$� ��2��� �
��62�1$���� �-���$����9 �,��.�$$-0 ���!2�$�.���0 ���2��.��; �� �
,���2- ���!������ �� ���$$32 ���2�% �2�=�.����_ �2�= �1� ��$ �
�!���-�� ����; ���� ��2- �,�����63��0� �-���!�.3� �-7��$��� �� �,��� 4
�� �,� ��$��7$�% �2�=�.����; �` �7�� ������� �$� �$�� ���� ���� �,� 4
��!��$��� ���1-�-0� �"�$$���9 ��2�0� ���� ��3���3 �� ���.���� �
,��:�.���� �2�=��� �8���9 ��2 �-���$��.�$3 ���1������ �1�$���% �� �
2-1���% ��-�$����%; ����2���$�� �����$�2 �.�"� ���-: ��.� �
$����.9��: ��,������%; ��$��6$�7$���9 ���!�6�� �� ��: �,�.���2�$�� 4
��; �` ��.���2; ���� ���; �7�� ���$0�9 �$��2�1�� ��3�9 ���J �$�$� �
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],��:���%^� ��!�2� �����; ���; �7�� �,���6�$� �$�-��% ��. �-6��: ��,� 4
"�% �2�=�; �!���!3�� ��2 �� ����� �,��:�7����: �,!�2���� �� ���6���� 4
$� �� ���$��3 �����7�.���7������ ���6$�$� ; �� ��� ��!�2 ���� ���� �/�� �
2�=����!7����� ������$$���� �,!������. 0� �����% �$� ���.95� ���� �
,!��-�� �235.�$� ; �,� �. 0��%� ���.9�� �$� ��6����$�% ������� �
��� �!�6���� ; �� ���!��� �6���$�2�!$�% �/��$�2�7����% �� ���"��.9 4
$�%���-�.��.�$$����� ���!�6�� ��$��!��$�% �,�,3��� ��!�%�� �,��� 4
6��9�2�:�$�62 ����$���!�6���$� f ���:�� ��6�$�.�7� �.���$�$3: �
=�!2; ��$ �-1� �$� �-���$��.����� ���.9��; �$� ����� �� �!���7�� ����� 4
$�5�$�� �2�1�- ���!�6�2 ���!3�32 �� � �$32; �2�1�- ���-��$��2; �
,!������.�$��2 �� �2�2�$��2 ���.�7�$� �� ���!�6� ���� �����$�5� 4
$�� ��$ ��,!���. �� ���� ��$-�!�$$00 �6�����2���9 ����$���!�6��� 4
$� ��� ���-��$� �� ���� �],�!����^ �>,����$� �
����$�? ��6 �
2$�����!�6� �$� ��1�����9; ��6 �!��,.3�7������ �$� ���$�!��$���9; �� �
,�,-�$32� �,!�"����2� �6�2���$� ���$��� ���!�6� ��!-��2; ��.� ��: �
�.� $� 2�; ��.� ��3���$�$��2� �
!� �/��2 ���� ���!�63 �>��$��� ��$� �
�.� �$��!�6�? ��$-�!�$$� ����$��7$3 �� �!�6.�7�0�� �2�1�- �����% �
�,�����2 ���2��.�6�"�� ����$��� ���$��$��� ���-��$� _ ����9 ��� 4
,!�� ���:$�7���� �������� �� ���.95�2- ��.� �2�$95�2- �!�6��!�3 4
��$�0 �/��% ���$��3; �� �6�2�$� ���$�% ���2��.�6�"�� ��!-��% �.��� �� �
�: ���$��2�$�"��� �����; ��!�%� �` ���,�7$3% ���$�-�.��� ���
,��:�.�����_ �.0��,3�$3� �$��.0��$� ; �$���2$�$$� ���1$3� �,!� �
�6-7�$�� �=�!2 ���6$�$� ; ��$ ����!���6�!-�� �,�K��.���$����; ���� 4
��$$� �� �,!�2�$�$�� �� �2�=-_ ���� �-7�$�� ��� �]���,���2 �-6.�^ �� �
,!�2��� �/!���7����: ���-��$�% �$���$� �� �����!5�$$� ��$���� 4
��!�7$�; �,����.9�- �7�.���7����� ���.9�� �� ��,!���.�$$3% �,�!��� �
����!��; �� �����.9$� �,�6�$�%; �����$���.� ��$�2�$�� �$� �/!���7� 4
���: ���!�6�:; ������$$���9 �����!3: �� ���2K�� �� ��3.�; �7�� ��$� ���� �
$�����6$���.��9 ���� �/!���7������ �
�-�� ��� ���!�6� �,�.-7��� �� �
-7�$�� ��!�%�� �,��:�7���-0 �/2�"��$�.9$-0 ��!������-; ���!� 4
��$$-0 �� ��6-7�$�0 �$� ���6$�$� ; �$� ��7�$9 �-6�� �,�$ �3: ���- 4
��$�%� �
� ���$�5�$�0 �����,!��- ���,!���:�1��$�� �2�=� �
�!�%�; ���,!��� ��..06� 2 ���� �,!���!1�$"��; �$� ��$���� �$�7��� �
$�����f ��$ �� ���2�; ���� �,!�6$��� ��!:��7����% ���$�6�� �2�=�; ��$; �� �
$��- �� �/,�:�%; ����!3���� ��6-7�$�� �,�.��,��:���; ��$; �$���$�"; �� �
����2 �$�:�1��$�� �/��% �����$$�% ��!:��7$���� �- �!���$��; �,!� 4
23���� �� ���2 �"��.����2; �����!3� ���-� �,�!����7$�% ������� 4
$���� �� ���1�3% �!�6 �$�7�$�0��2� �6�$��� �2���$�2 �=�6����

'� ������� �� ������������ ���(
���� �
�i�
 �#��6-7�$�� ���!�6� �<���i�� �
6!�$� �=�!2 �235.�$� �,!�$��.� 4

1��; ���$�7$�; �$� �,��:�.����� �
�7�.� ��6-7�$� �,!�2���� ���6$� 4
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$� ������ �� �5��.� �	0!���%2�; ���� ���!�����0�� �,-�� ���"��.� 4
���; �/�$�.���� �� �$�-�� �� �,�!���3�$�2 �235.�$��� �����1�0�� �
,�,3��� �	0!���%2� ����������9 �$�-�- ��� ���������� �-�.�7�$� �
]2����%^ �� ����!3�9 �� �$�%� �.�$�� ����!����,�$$�� ��� ���: �,�! �
��� �$� �,�.-7�.� ���.1$�% ��"�$��_ �$�,!����; ������6����$� ���� �
23�.9 �� �,�!��$���-0��2 �6$�7�$�� ���..�����$��� �$�7�.� �� ���!�6� 4
��$�� ��!:��7����: �=�!2 ���6$�$� ; �� �7���$���� �` ���!�.����6$3: �
,!������.�$�%� ��2 ������$$� �,��7�!�$-�� �!�.9 ���������$$���� �
��� ����!"� ����: ��-.9�-!$3: �=�!2 �� �"�$$����%� �	0!���%2 �,��� 4
63����; �7�� �$�7�� �$� �]�3�-2�$�^ �����.9$32 �7�.�����2_ ����!3�� �
6���$�2�!$���9 �� ���$�6��� ����: �=�!2 ��-.9�-!3; ��$ �,��7�!������ �
���!����, �/��: �=�!2; ���6��$$3: �������!�7����2 ���..������2 �� �
,� �$��.�����- �,�!���$$3: �$�2; �� ��: ����!�2�$��.9$�% ��� 6���.9 4
$���� �� �$��62�$$����; ��:���3��0��% ���0 �$�5- �1�6$9;�$�5� �
23�.�; �$�5 � 63�; �2�! �$�5�: �����% Hc���.��� �� �,� ��6.�1� 4
$�0; ��$��� �	0!���%2� �$� ��3��!1����� �$�����% �2�����.���7�� 4
��% ��!�����_ ���� ���"��.���62 ����.�7�$$3%; ����!��$$3% ��� ���63; �
��� �]��������$$���9^ �` �6�2�$� �,� �2����- ��3.��� ���.$"� �� ��-:�� �
!������.9$����� �<,�"�=���% �,�!���3�$��� �235.�$� �6�$�2���� �
-7�$�� �	0!���%2�; �'���K�!0.9; �� �,!�:���� �� ��3���- �� �!�����2 �
!�6.�7�� �2�1�- �$�5�2 ��,�����2 �235.�$� �� �,�!���3�$32 HH��
<�6����� �� �� �/��% ���.���� �,�$ ��� �]������!�7$����^; �� �'���K �
�!0.9 �������; ���$��!�2�$$� ���
!�%��2 �� ���!!�2; ���!2�$ �
]��.���7����� �235.�$��^� ���� ���!�6-��� �$��� ����"�,.�$�; �� �
����!-0 ���$3$� �-��!�2. 0�� �� �,��:�.���; �� �=�.���=3; �� �
.�$�����3; �� �/�$�.���; �� �$��3� ��,�"��.���3 �` �/�$�,��:�.���; �
���-���; ���$���; ����� �,!���:�1��$�� ��� �#-$��� Hj_�$� �/�� ����"�, 4
.�$� �$� �8�,��� �� �- �$�� ���!���� �$� ����2��!�.9$� �,!�����,�.�1 4
$3: �2�����:� �
��2��! �$� ������ �� �	0!���%2�2 �2�����.���7� 4
���� �$���������; �'���K�!0.9 �"�$�$ ���2; �7�� ����� ���.95� ������� �
-7���. _ ���� �23�.9 �� ���2; �7�� ���������!�� ���1��� � �.�$�� �
,!�!��3 �� ���!-1�0��% �1�6$� ���,!���1����� ��23�.���% ��$��! 4
,!���"��% �7�.���7������ ���6$�$� H\;�� ����1� ���� ��$�.�6 ������$ 4
$����% �/��: ���.���7����: ���23�.�$�% ����!3��0� ���62�1$���9 �
$�-7$��� ��6-7�$� ���2�$����; �����!� ����63����� �$��,.���2 �
]$�!��$��� ����!7�����^ �� �]$�!��$�% �,�/��7����% �=�$��6��^ �
>��� ��-2�.� �2�=�.�����3?; �� �����!�7����2 �/��,�2 ���6$�$� ; �
!����!-0��2 �$� �!��.9$-0 ���%������.9$���9� ���,�!9 ���2��.��� �
��!�6�� �,�.-7��� �6���$�2�!$�� �����$���$�� �� �� ���$�5�$�� ��� 4
��!�7������ ��!�2�$� �� ���7�����$$�; �,� �����!1�$�0_ �7�2 ��.-�1� �
�6-7���� �������!�7����� �235.�$��; ���2 �,�$ �$�� ����$����� �

��



�-�$���9 ���!�6�� �������� ���.9�� ��3 �$��9 ���23� ������$$���� �
��.���7������ �235.�$� ; �� �'���K�!0.9 �� ���"��.����; �
!�%� �� �
/�$�.����; ������!�! �� �=�.���=��; ���!! �� �.�$�������� ����$����� �
�,!���. 0� �/�� �235.�$�� ���� �]��$����7�����^; �]��2,.���$��^; �
]��==-6$��^ �� �]��$�!��$��^ HI_���$3$� ����$����� ��6����$32; �
7�� �]������!�7�����^ �235.�$�� �` ���!�6$��; �7�� �6����!�6$���90 �
.�1�� ��,!���.�$$�� ����,!� ��� �2�!�; �� �,�/��2- �]�$��2�.9^ �
���$����3: �,� �����!1�$�0 ���!�6�� �$� ��.-7��$_ �$���$�"; �7�� �/�� �
2�!����,!� ��� ��,�.$� ��,�"�=�7$�� �<����2- �/��% ��,�"�=�7 4
$����; �� ����� ���$�% ��6�=�!2 ���6$�$� ; �����$���. �-1� �$� �'���K �
�!0.9; �� ��!$�� ������!�!; �=�.���=K��$���$�"; �����!3% �,��:���� �
� ���!�6-; �� � 63�-; �� �2�=����!7����2- �235.�$�0 �����7�� �
6!�$� ��$��!��-0��% ���� �]=�.���=�� ���2��.�7����: �=�!2^ H+��
�����!�!- �$-1$� �,���6��9; �7�� ���$� ��3. �,!��; �7�� �7�.����- �
,!��-�� �� ��!�1��$3 ��,!���.�$$3� �=�!23 ���6$�$� ; �7�� �/�� �
=�!23 �$��62�$$3 �� ������7$3� �
� ��� ��!�2�$� ���$�� �$�-�� ���� 4
.�.� ���.95�� ����!3�� _ �� �7���$����; �/�$�.��� �� ��$�!�,�.��� �
���!3.� �$��3% �2�! �$�65�: ��-.9�-!� ����; ���$���; �$� ��2-���� �
��$���$"��� �#��9 ���$� �!�6.�7�. �,��:�.���7����% �� �.���7����% �
��$�6�� �,�$ ��%_ �,��:�.���7���� �,�$ �� ���6$���0� ��6��,3��; �
$� ��2 �.���7���� �,!��5����-0� �,�$ �� ��,!��!�� ������!�! ���� �
$����$���$�" �� �,3����� ����9 �����!�0 �,��:�.���7������ ���$� 4
6��� �,�$ ��%_ ��$ �!�6!3���� ���.���7����� �� �.���7����� �235.� 4
$��; �$� �,�$�2� ����$���� �.���7������ �,!�"����� �<�/��% �,�6�"�� �
�$�6��$��!�����$ ��2�$$� ���2; �7���3 �����6��9 �������!�6�� �
2�=�7������ ���6$�$� �` �� ���� �,� �. 0�� ���� �!����3 �� �$� 4
,!��.�$�� ��,�"�=���"�� �� �-��7$�$� �,�!���3�$��� �235.�$� � �
��$��$�% ��3��� ������!�!� �6��.07���� �� ���2; �7�� �2�=�7����% �
2�! �` �/�� ����$����$$3% �2�!; �����-,$3% �������!�7����2- ��� 4
6$�$�0; �� ����!7����� � 63�� ��.� �2�=� ����9 ���.9�� �7���9 ������� �
,!�"���� ����6$�$� �2�!� HL����$��!-����$3� �=�!23; �.�1���� �� �
��$��� �2�=�7������ �2�!����,!� �� ; �` �,����$� � 63����2-; �
$�-7$�2-; �:-��1�����$$�2-; �` �,���63��0� ��,�"�0 ���� ���� �
��.���� ���6$�$� � �����2 ���!�6�2; ���.� �$� �� ���2 ��.� ��$�2 ���$ 4
�!��$�2 � �.�$��; �.�1���2 �6��2�=�2 �����7����� ���� ���$��� 4
7����% �,!�7�$3; �� �����2�2 �235.�$��; �����!�� ���7�����$$� �
��.�7$� ��� �$�5���� ���.�7�$� �/�� �����0�� ; ��.��$32 ���!�6�2; �
������!�% �,!�7�$$����; ��!�2�$� �� �,!���!�$����� �#�,�!��% ���� �
���� ���2,.���$���� �� ����-����� �!��7.�$�$�% �23�$�:���2 �
��1������ �,!�7�$3 �� ��.������ ; ��� ����!�% �` ���!�6 �7�!�����$� �
��7�����$$� �!�6.�7$3: ��!�2�$; �,!� ���$��!�2�$$�% �,.�������;
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�� ��.��$���90 �]!�$95�^ �� �],��.�^_ �$���$�"; ����!��9�% �` �
���,!� ��� �,!���!�$���� ���� �����; �� ��,!���.�$$�% ���!-��-!�%; �
,!� ���1������ ���.�7�$3 �� �=�!23� ����0�� �` ��� 69 ��!�2�$� �� �
,!���!�$���� ���6�,�.$ 0��2 ��: �����!1�$��2 �� ���1������ �
7���� �` �"�.�2-; ����$�7$��� �` �����2-; ����� �` ����%���-� �����
���� ���!-��-!� �2�=�7������ �235.�$� ���1������$$� �,�!��7 4
$�K 63����2- ���6$�$�0; �� ��� 69 ��: �$����.9�� ���$���7$�; �7�� �
 63���3� �,!������.�$� �� �6�-���3� ���2,.���3 �!�1��0�� ��� 4
$��!�2�$$� �� �2�=�7����2 ���!�6�2� �b63� �� �2�=; ��.�������.9$�; �
,�!�..�.9$3; �� ����� ; �!�1��0�� ��: ����:� ����9 �,�!���3�$�� �
��6$�$�� H*��
� �$�!�6!3�$���9 � 63������ �,�$ �� �� �2�=�7������ �
��!�6� �,�6��. �� �6�2�$ �9 ����$ ��6�/��: ���-: �/.�2�$��� ��!-��2; �
� ������ �,�!�� �$�2� �2���=�!�� �
� ���!�6$���9 �!�7� �$� �,!��6�5.� �
�6�2�=�; �$� �2�= �` ��6���!�6$���� �!�7�� �����=�!� ���� �=�!2� �
��2,.���$��� �� ����1�����. 0���� �235.�$� �,!��5����-�� �!�6 4
�!�$�7�$�0 � 63�� �� �2�=�_ �� �2�2�$� ��� �6�!�1��$� �/.�2�$�3 �
��6$�$� ���� �$� ��3��.�$3; �� ���� �/��� �,!�"��� ����1�����.�$� �
� ����9 �2���=�!�6�"� � �����=�!� �,�/��2- �,!������. �� �����% �
��2��. �����!5�$$� ��,�"�=�7������ �����!1�$� ���6$�$� � �<� 69 �
�.��� �� ���� �6$�7�$� ��� 6�$3 �/��2- �1� ����1�����.�$�0 �6�-���� 4
�� ���2,.���� �� �����������-0��2 �����!1�$��2 ���6$�$� ; �!�6-.9 4
����2 �7��� � �. ��� ���1������ �2�=�7������ ���!�6� �� � 63������ �
,�$ �� � �#�/��2 ���� ��3 ����� ���6� ��. �,�!�..�.�62� ��.���K �� �
2�=����!7����� �� ���%���2�$��6�"��; �����!� �6��������.9������ 4
$� �$�-��% ��. ��!:��7������ ���!�6��



� � )�������� ������* �����; ��-!1-�6$� �$�-�� ���$"� �gRg�` �$�7�.� �
����� ������� �� ������ �gg ����� ����%����$$�� �
���,.��� �2$��� �"�$ 4

$3: �� ���1$3: �=�����; �,!��6��� ����!3�� ; �/2,�!�7����2 �
,-��2 �$���.���� �9 �$��$��3� ���.���� �6$�$� ; ��$� �2�7��� �� �
,�����: ���J �$�$� ������ �����; �7�� ���!1�� �� ��������$$3: �!-��:� �
��$� ����!� ��2�$ �� ��!-�-0; �7���3 �6���!� ��3�9 ����!�$-��% �-1� �
�!��9�%� �#��� �1� ��!�2 �6��,�.���� �$�-�� �6$�7���.9$� ��������.��9 �
$��32� ���$$32�� �#3!��.� �=�.9�.�!������; ��!��$���.9$� �/�$� 4
�!�=� �>$�63���2� �$��8�,��� �/�$�.����%?; �$�-�� �� �!�.����;�
�$�!�,�.��� ; �$�-�� �� �,�!���3�$�2 �235.�$��� ���$����9� �� �
.���!��-!� �,�K���!�2-; �,�K�!������.�����; ���� �� ����!����$�"� �
�����!$3: �=����� ����.� �$���62�1$�; �� ���� �1� �.���!��-!����� 4
$�� �,!���.1�.� ��������9� �����2 �1�; �����2 ��3.� ���� �� ��$��7 4
$����_ �,�,�� �� �=�!2�.����2; ����.��5��9 ���J����2 ��: �],�/ 4
����^; �.���!��-!� ����6�.��9 ��3�.07�$$�% ��6�$�-7$�% �1�6$��

	!-�-0 ���!��$- �,!������. �� �2�.��� ��������� �$�-��; �� �� �

��



7���$���� �$���� �-7�$�� �� � 63�� �
�b� ���!!�� �#�� �,!��!�����$��; �
7�� ���.� �6�,��$� �$�-�� �6��-��6�$$3% �,�!���; ��2���� �� �� �
] =�����.����^f �/��2 ���J �$ 0�� �2$���� ����,���$� ���2 �� �
�-�� �
� ����!� ���!!�; ��������$$� ���!�2.�$��2 ���.����9 �2�!� 4
�������% �2�����.����%; ����.� �$� �����!�7���-0 �,�7�-; �� �� �/��2 �
�� �!�6��� ���.�7�� ��� �8�,���� ���$��$�� �6$�7�$�� ���!!� ��. �
.���!��-!�����$� �6��.07���� �� ���2; �7�� ��$ �-��6�. �$� �-� 6�-�
2�=�; �=�.9�.�!� �� ��01��� ���235.�$��2; ����� �1� ��!�2 �
,!���2�$��!�!����; ������ �� �,�� ��.� $��2 �����: �����!�7����: �
-�.���% ���6��.��9 �,�!��7$� ������2� �2�!���66!�$7����: �6$�7� 4
2����% �>��2�$����? �` ����$����$$3% �$�,��!������$$3% �=����! �
�-�-��: �.���!��-!$3: �=�!2� �
�����$� �!���.0"��$$32 ����6�. 4
� �,�.��$��.���7����% ��$�.�6 ���!!� �` �$����.�� ��,�"�=�7���� �
�����$$���9 ������ �$����� �-7�$� �� � 63��; ��2�0�� �$��2�$95�� �
��.�7����� �,��.�$$3: �,��.�������.�% �� �$����.95�� �7��.� �,!� 4
���$����f ���.� �$��,!���� �� ���:$��� �!����3; ��$���2�!-0��% �
=���3 �>����� ����.�������.9���� �,!��23 ��3.� ��� ���!!�?; �$� �� �
��!�"�$�� �$�.�7$3: ������3: �=�!2 � 63�� �>2�=�; ��01���; �
=�.9�.�!� �� �,!�?; �� ���6$���.9$�2 ����!��3��$�� �/��: �=�!2 ���� �
7���K�� �$�,����1$���; �]����5���^ �` �� ����!��3��$�� �����; �7�� �� �
��.95�$���� ��.-7��� �$����.�� ��3���� �!��"�$������ � ����; ���!! �
���.��$� �],�!���!�7���.^ �"�.3� ���.���� �6$�$� �� ��: ���J���3; �
������� �/���� �,�.��$��.���7����2 ��$�.�6�2 �� ���:���2 ��� ��� 4
��,!�6$�$$3: ������3: �=�!2; �����!3� ����63��.��9 �����.����% �
$� ���$�% ��6 �����!�7����: ������%� �	. ��$��7$��� �2�!� ���� �6��.- 4
�� ���2 �6$�7���.9$�%; �7�� ��2�$$� �$�� �/��2 �2�!�2 �� ����.� �.0 4
����$��; �,!��.�$�$��; ���6����$�� �� �$�!2- �� �����_���!! �2�1�- �
��2 ����!�.� �,���6��9 �,�� ��!�7����2 � 63��2 ����!�7����%; �,�� �
!�2���2 �` ���!�2���%; �,�� ��$��7$�% �2�=�.����% �� �=�.���=� 4
�%�` �,!������.�$� �,�!���3�$��� �7�.���7������ �
�b� ���!! �$� �
�3.; �,� �����2 ��$��!���2 �� ��,�"��.9$����; �.���!��-!�����2; �
:�� �-�$��� �2�1$� �$�%�� �����.9$3� �23�.� ���1� �� ���$�6��� �
.���!��-!$3: �1�$!��; �$��������$3�; ��,!�7�2; ��� �$�����!��� �
�.� $� ���$�!���7����% ����!�� ���
� �#���.������� jM_�$� �2�.��- 4
������$$�; �����% �,!�=����� �� �����: �$��.�$$����% ��3. ���!!; �
` ���1$�; �7�� �$���� �-7�$�� ��� 63�� ��2��� ���!��$�.9$�� �
6$�7�$�� ��. �.���!��-!�����$� j) ����!! ����!3. �$�2 ��.�6� �$� �
,�!�����,�$$-0 �!�.9 ���$���7����: �,!��.�2; �� �����2 ��3 �����.� �
����.���� �$� �5.� �!�79_��$ ����6$�7�. ���$�!��$3� �,-�� �����!� 4
7������ �!�6���� �2�!���66!�$� ; ��6�����!��� ��3!��.� �� �.���!� 4
�-!�; �� �,���6�.; �7�� ���2�$���� ��2��� ����0 �2�!=�.���0� �X7�$�� �
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��!!� �� �������.9$����; �-7�$�� ���$�2�7�����; �����!�7�����; �
!�6���5�� �2�$�.��$���9 ��-!1-�6$�% �]������!��^; ��2��� ������ �
1� �,! 2�� ���$�5�$�� �� �,!���:�1��$�0 �.���!��-!3; ���� �� �� �
,!���:�1��$�0 � 63��� �#� ��� �!�6.�7�� ���!! ���J �$ . ���� ���� 4
���.9$�� ��62�$�$�� �,�!��$�7�.9$�% ���==-6$����; �� ���1������ �
�$ �,!������. . �� ����� ���==-6$��� ������ $� ; �����!�� ���62�1$� �
��.9�� �$����2�% �,�!��% ������� � 63��� ���5�0��� �6$�7�$�� �
�2��� ��. �.���!��-!�����$� �� ���!�"�$�� ���!!�2 �6��2������ 4
$�%�� �2��!�"�%_ ��$ �,���6�.; �7�� �$���� �$�7��� ��6�$� �$� ���!��; �
$� �,�.-7��� ��!���"��$$3% �2���!��. ��6�$��.��� �,!��3�-��: �
�����% ������� ��������$$��� �!�6���� � �����2 ���!�6�2 ��. �.���!� 4
�-!�����$� ���!! ����� ���$��6 ����: ������1�$�% �6�,��$�% �
/2,�!�7����% �$�-�� �� �2�!��������% �����!�7����% �2�����.����f �
�$ �,!��!�5��� �$���:���2���9; �����,!���: ����!�� �� �����!�� �
.���!��-!3; �������9 ���$���7���-0 �,!��.�2-; �!�6!�5��9 ��� �,�.� 4
�$��.���7����; �-� 63���9 �,!���:�1��$�� �.���!��-!3 �� �,!��� 4
:�1��$��2 �2�!���66!�$� �� ��6-7��9 �2�=�.���0 �� �=�.9�.�! �� �
������.9$�K����!�7����2 �!�6!�6��


�� �+�����, ��� �������� � ��6!������% �$����� �-7�$� �� � 63�� �� ���K
-�.� �������/�����0��&� �
���� �.���!��-!3 �6�$�2���� ����� ��!�$�K �

��2�$�"��%; ��!-�3 �����!��� ��2�0� ��. �,�/���� �� �����!�� �
.���!��-!3 �,�!�����,�$$�� �6$�7�$��� ��$� ��,!���. ��� ���2; �7�� �
���� ��!�$�K��2�$�"��% ��6-7��� ���$�6�� �.���!��-!$3: �,�/��7� 4
���: �=�!2 �� ��: ���2�$���- �� ��� 6� �� �����!��% �235.�$� _ �6$� �
,�7�� ���� ���$��$3� ��!��$�� � 63��; ��� ��� ��!�$�K��2�$�"��% �,� 4
��63���� �$� ���.95�2 �2���!��.�; ���� �,!��6�5.� �2���=�!�; �2�=;�
�01��; �,�/��7����% ���!�6; �,�/��7���� �!�79; �,�/��7����� ��!�� 4
$�$� ; ���2� �,�/6� ; �7�� ������ �=�.9�.�!; ������3 ��� 6� �2�1�- �
2�=�2 �� �,�/6��%; �=�.9�.�!�2 �� �.���!��-!�%_ ��$ �,�!�3% ���!��� �
����!�0 �������.9$��� �!�6���� �.���!��-!3 �� ��� 6� �� �����!��% �
235.�$� �� �����!��% �����.����� ���� �-7�$� �!����� ���2� ��2��� �
$����.9�� ������%� ���� �� ���2��� �$�7�.�; �,!� ��6-7�$�� �!�.���� �
���,� $; ����� ��!�$�K��2�$�"��% �$�7�$��� ���!�"��9 �6���: �!�.� 4
���6$32� ���$"�,"� 2� �.���7����� �,!�"���3; �]��� �,!��6��.9 4
$3� �-2�6!�$� ^; �� ����� �,!��,��3.�� �� �]������!�6$�% ����!�� �
,�6$�$� ����,� $; �����!-0 ��$� �!�6��. 0� ��� �2$���2� �,�!�� 4
�3�$32� �$�!���2�^ jc ����� ���$��$� ��$����.���7���� �"�.9 ��� ��� �
�!�$�K��2�$�"���� �������� ���%����$$�% �� ��. ����: ���� �,��.� 4
�-0��:; �-1� �.���!��-!����7����: �!����� ���,!��$�% ���7��% ��. �
���� ��!�$�K��2�$�"���� ��.-1�� �23�.9 ��� �����!�7����% ��62�$ 4
7������ �� �-�.��$���� �=�!2 ����,!� �� �2�!�_ �,�/��2- ��$ ����� �

��



����� �=�!23 ���6$�$� ; �����!3� ���.�7�.��9 ��3 ��� ����!�2�$$3:; �
� ��,�!�� �!���$��!-�!-�� ��: �� �!�.���� ����,��; �� �6���2; �� �,� 4
2��90 � =���7����% ����!��; �$�:���� ��: �� ��,�"�=�7����2 �235 4
.�$�� ����.�������� ���������� ��-��2�$� ������� �235.�$� �` �� �
!�.����6$�% �� �,�/��7����% ���!�6$����_ ����0�� �� ����$�� ��� ��� �
�!�$�K��2�$�"����; �� �,�!�3% �,�!��� ���� �!����3; ��2�$$� �� �!- 4
��2�$��!$32 �=�!2�2 �!�.���� �� �,�/6�� �� �,����� �� �$�2 �,�!�� 4
$�7�.9$3: ��23�.��3: �,!��,��3.��_ ����0�� �1� �` ���!�"�$�� �6��
$�2� �,!��6��.9$���� �� ���6����$�� ��: �� ��,!���.�$$�% �=�!2� �
235.�$� � ������ ���!�2.�$�� �����!��9� ��� ���$�� �,�!���3�$��� �
��6$�$� �� �6��!�.����6$�K,�/��7����% ���!�6$���90 ������6�����9 �
����!�7����� �7�!�3 ����$� �-�!�7�$$3: ���$"�,"�% �2�!�; ����!� 4
���5��9 �� ���$��$32� �,�.�1�$� 2� �$����� �-7�$� �� � 63��; �$� 4
:���� ���� �� �-7�$�� �� ���2�$����� �#�/��� �,�!��� ����� ��!�$�K �
��2�$�"��% ��3,�.$ �� ��7�$9 ���$�!��$-0 �6���7-f ��6�!�� ����.�0 �
2���!��.�2 �$��.0��$�%; �� �2���=�!�����- ����:�6����$�% �,�/�� 4
7����% �!�7� �` �"�.90 ����.�����$� ; ��$ ����!3���� �� �$�%������2- �
��,�.����$���% ����2�.����; ����:�� �-0 �� ������2� ���.���7���� 4
�� �235.�$� � �#�!�6-.9���� �,�.-7���� ���!��$�; ��$�.���7$� ���%;�
����!-0 ����.��$� �,���6�.� �
�b� ���!!; �'���K�!0.9; ������!�!; �

!�%� �� ��!� ���������$$32 ��3����2 ��6�/��: �!���� ��.-1�� ���!� 4
"�$�� �6�����.�%���% ���!�6$���90 �$�"��$�.9$��� �:�!����!�; ���� �
�$� �,!�6$���� ���6��$$�% �,�!���3�$32 �235.�$��2; ����6�� 4
5�2� �� �$�"��$�.9$�2 �,�2 �$��� ���!��� �,�!�1���7$� jH����$� 4
�� �!�.9 �����: �,�!�1����� �$��2�:�$�7���� _ �2�1�- ���2; �7�� �
������. �� ��: ���$��-; �� �,�6�$�%5�2 ���,�.96���$��2 �/��% ���$� 4
�3 �'�1�� �$�!�6!3�$� ��!��$�7���� ��� 69 �� ����� �!�.����6$�% �
��2��.��� jj ������; �,!��6��.9$� ���6��$$3: ���!�6�� �$��_��: �
���!7����� ��36��$� �������!�6$32 ����6$�$��2 �2�!�f ���$�!��$3� �
7�!�3; ���� ��!�2 ���$�: �,!��-����-0���; �����!1�� ������� �
�3.3� �,!������.�$� ; ��-���.9$3% ��23�. �����!3: ��� ��!�2� �
$�2 ��3���!������ � �
�/��2- �!�.����6$� ���2��.��� ����63�� �
��� ����!�7$32 �,!����!�$��2 ��!��$�% ���$�!��$���� j\ ��	�.��; �
!��5�!  ���6- ������� ����.�����$� ; ��� �����!�$�K��2�$�"��% �
,!��.����� �=�.9�.�! �� �.���!��-!-; ����.�%���� ���!�63 �� ��!�7� 4
����; ����,������ �� ��!-6�$���� �� �����; �,���63�� ; ���� �� ��: �,�� 4
,�7�� �$�:����� ����$�� �,�!���3�$�� �235.�$��� ��7����$� �,��.� �
/����; �7�� �� ���: ��.-7� :; ������ �-7�$3� �����.� ��.��3 �6�$���$� �
�.� �6��2������$� ����� ��.� ��$��� ���!�6�; ����� ��!�$�K��2�$�" 4
��% ���6����� ���� �� �,�!���3�$�2- ���6$�$�0� ��6-7� �!�.����6$� 4
,�/��7����% ���!�6; ��� ��� ��!�$�K��2�$�"��% �����$��.������ �� �

��



/��� �,�!��� ������$$� �7���� �$� ���,!���: ���$�6��� �2�=� �� �-��. �� �
,!��2-������$$�� ��$�2�$�� �2���=�!�; �� �����!�% ������ ���$- ��6 �
����!�7����: �=�!2 �7�.���7������ ���6$�$� � �
�/��7����� ���!�63; �
����!�� ��$; ����9 ���.9�� �7���$3% ��.-7�% �2���=�!�6�"�� �!�7�; �� �
,�/��2- ���.�$�� �$� �,!�6��7���-0 �� �,�/��7���-0 �!�79; ���$���$ 4
$�� �$��2���=�!�7����2 �:�!����!� �,�/6��; �-�.��$�_ ���!�63 �� �
-,����.�$� ���!�1�0� ���66!�$� ; �����!3� �]� �,!��5����-0��% �
������ �$���.� �:�!����! ��������$��� ����,!� �� ���!-1�0���� �
2�!�; ���� �$� �,�!��7$�% ������� �$�23�.�2 ��-�.�62 �2�=�.���7� 4
����� �� �!��.����7������ �235.�$� ^ jI ��
�/��7����� ��!��$�$� �� �
-,����.�$� �,!������. 0� �����% ��$��!,!���"�0 ��23�.����� �
��1������; ���6��$$��� ���.���7����2 �235.�$��2 j+ ��
�� ��01���2 �
���� ��!�$�K��2�$�"��% �,�$�2��� �,!������.�$��; �,�!��=�!2 4
.�$$�� �� �!�����6 �,!� �,�2��� �,!��$���$� �/.�2�$�� ���%���� �
�.� ����1�$� jL �����2�.���7����� �,!������.�$� �]����69 �,!�62- �
$�!����5�:� �=�!2 ���������$$��� ��3��^ ���6��0� ���!��� �2�=� �� �
���� ��$�!�,�2�!=$3: ������ �� �,�.-7�0� �-���%7��-0 �:�!�� 4
��!�����- �� ���7�� �6!�$� �,�.�; ���6!���� �� �2���� �� �,�$���$� j* ��
��� ����2�7���� �,!�!��� ����63����� ; ���.��; ����!��$�7����% �
�� 6� ���%���-0��: �.�" ��� ����:�%$32� ���.�2�; ��.�"����! � 4
5�2� ���$$-0 �,!�!��-f ���2� �1� �/�� ����:��; �-�!���� �2�=�.��� 4
7����% ��3.�% ���.��; �,�!�:�� � �$���2,.-� �,!���3: ��$�5$�: �
 �.�$�% �� ����$�� �� �]�"�$�!��2; �$������!�2 �!�63�!3��0�� �
��1$�%5�� �/,�6��3 ��6��!�1��2�% �1�6$� �2�=�7����: ���!���^ \M��
�$���� �1� �/�� ����2�7����� ���.3 ���!���0�� �� �2����3; �� �����!3: �
��!�1�0�� �]=�!23 �2���!��.9$�% ��-.9�-!3 �� ���"��.9$��� ��3��^ \) ��
��!�"�$�� �2�:�$�7����: �6��2������$�% ��01��� �� ���6����$�� �
��� �� ����2�.���7����2 �,!������.�$� 2 �6�����. �� ��� ��� ��!�$�K �
��2�$�"���� �!�6�� �,�!���9 �� �]���!��% �����7$���; �,� �����!�% �
���$ ��6��01����; ��.� �2�=��; ��.� ���!�6�� �$�,!�2�$$� ���.1�$ �
�7����9� �,!���:�� ��2 ��6 ��!-����^ \c _����0�� �1�; ���� ��.�������; �
�3������ �,�.$�� ���!�"�$�� ����,���$�% �2�1�- �����!����2� ��� 4
��.9$3: ���!�6$3: �7�!� �� �,������-0���� �� �$�: �,�2 �$��� \H�

+H��)�������� �������, ��� �������� �8��)*cLK)*H\ ���� �6�,��$� �$�-�� �$� �
�� ����
����� �&���� � ��.� �$�7��� ����!���7���� �$������

i�2 ��.-�1� ��!�6�� ��-!1-�6$�% �
�-.9�-!3; ���2 ���63��%$�% �� �2�.97� ��� �$�-7$3� �!����3_ �=�5��� 4
��� ���!2�$� �$�-7$� ��3!���.��9; ���!$-�5��9 �� �-���!�.32 �� �
!���"��$$32 �!����32 ����!� 2; ����$� �����!�$-�32 ���2�2 �
�-!1-�6$32 �6$�$��2� �
�,!����; �$�5� ��������� �$�-�� �6��/�� �
���3 �2�����.���7���� �� �=����7���� ���6!��.� �� ���!�,.�_ ��2�$$� �

��



� �/�� ����3 ���!! ��=�!2-.�!���. �-7�$�� �� �������.9$���� �� ���. �
���-0 ��.����7���-0 �!����-; ���� �]b63� �� �235.�$��^� �#�)*Hc��� �
�35�. ����!$�� �]�!����$ �� ����.9��^ �� ���..�����$�% �!�����% �
$�� ��01���2 �/��% ��!��$�������% �,�/23�

� � �"�$$3: ����!���7����: �!���� ����� �6��/�� ��!�2 �� ����� �
�!�$�K��2�$�"��%� �� �$�7�.- �HMK:���� ��6-7�$�� ���$�6��� �,�/��7� 4
����� ����!7����� �,!������ ���� �� �23�.� �� ���2; �7�� �,!�"��� �
!�6���� �,�/6�� ���$���7���� ��� 6�$ ���,!�"����2 �!�6���� �
235.�$� �� �2�!���66!�$� ; �` ����0�� �$���:���2���9 ��6-7�$� �
,�/6�� �� �-� 6�� �� �����!��% ���6$�$� ; ����0�� ��$��!�� �� �����!�� �
!�6���� ���!�6$��� �235.�$� ; ���6 �����!��� �$�.96 ����!3�9 �
,�!�..�.�62� �]2�1�- ���$$32� �.�$������7����% ���2�$���� �� �
��2� ���7���$� 2� �,!������.�$�%; �����!3� �.�1�� �� ���$��� �2� 4
=�.���� �� �,�/��7������ ����!7�����^ \j ��#����!$��� �]�!����$ �� �
���.9��^ ����� ��!�$�K��2�$�"��2- �,!�$��.�1��; ��!�2� �!-�� 4
������� ����% �!�����% �� �����9� �,� �2���!��.-; ���.95� �6��.07� 4
��.9$� �����9 ��3������ �,!�$"�,��.9$��� �6$�7�$� ; �� �����!�% �
�,�!�3� �$�2�7���� �������.9$3% �,-�9 �����!�� ��01���; �,�!�. 4
.�.9$� �����!�� � 63��; ��� ���$�6��� ���$�!��7.�$�$$�2 �2�!��� 4
6�!"�$�� ����.�������� ��������� �� ��,.��9 ��� �.���!��-!$��� �
=�!2�!���$� �� ��������� �=����.9$�2� �� �/��2- ��!�2�$� ��$�2� 4
$�� ����� ��!�$�K��2�$�"���� �$�,!��. ��� �$� ���; �7���3 �$�2� 4
���9 �,-�9 �!�6���� �����.���% ��;���7���$����; �,�!�:�� ��� �
2�=�.���� �� �.���!��-!�; �7�� �-1� ��!��-�� ��3 �.�$� ��,�"�=�7� 4
���: �7�!� ���$�% �� ���.�7�� ��� ��!-��%� �#���-: �!�����: �)*H\ �������� �
�!�$�K��2�$�"��% ������� ��2�$$� �� �����% �,.������� �,!��.�2- �
�01��� �� �,!��.�2- �2���=�!3 \\ ;�,!�7�2 �� �,��.��$�% �$�2�7��� �
]��� �,���!��; �����!3% ������ ��� �2�=� �� �!��.����7����% �,�/6��f �
�2���� ���,�.96���$� �7�.���7������ ���!�6� ��. ��.�"����!�$� �
 �.�$�% �,!�!��3; �,��.��$��; �� ��: �2�=�.���7����2 ����,!� ���; �
���$�� �� ��!������2 �,�/��7������ ����,!��6����$� �.0����: �
:�!����!�� �� ���$�5�$�%^ \I �
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� � ����3�� �4�������" �
���������5
�$ ��� �]�$��7$�% �.���!��-!3^ ���J���$ �� ��!� ��!-,$3: �
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7�.�����; ��2�!�9 ����� ��.� ���!� ; ��!�� �����; ���!� ��.� �7�.������ �
����.9$3� �1�$!3 �.�!��� ���� ���$�63��0�� f ���=�!�2�3 �
>��2����� �!�1��$� ; �,����$��� �,������?; ���3 �>,��$� �� �,. � 4
��%?;�/,�$���� �>,��.�,����$3� �:��.��$3� �,��$�?; �/$��2�� �
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>:��.��$3� �,��$�?; �,�!=�$�� �>��2$3����-5��?; �,/�$3 �
>��2$3?;���2�$�� �>�!�7$3� �,��$�?; ��!/$3 �>,��$�K,.�7�?; �
��,�!:�23 �>,��$�K,. ���?� ��!�2� �$�: ��-�����-0� ���� ����.��; �
6����.9$3� �,��$�; �� ����63����� ; �7�� ��: �$-1$� �,��9 �� ��,!��� 4
.�$$�2 �,�! ���; �6�����.�2; �,� ��7�!���; �� �7�5�% ���$� �� �!-��: �� �
� �!������.9$�% ������%; �` �:�� �� ���=�!�2� ��� 6�$ �� �,��9�2 �
��$� �>��� ��-.9�� �` ��!���?�

���9 ���� �,!������; �,��$� ��� ��!�2 �5����� ; �` �� �/�� ���2 �
��.�� ���!�$$�; �7�� ���!�=�7����% �:�!����! �:�!���% �.�!��� �$�634
����� �]��!�=�7����2^ �,� ���!2�$- �:��9�3 �>],���!��^?; �� ���� �
2��!�7����� ��=�!2.�$�� �,�7�2-K�� ��� 6�$� �� ���22��!��% ��!-�� 4
���� �:��� �>:��; �,!�����,�.�1$3% �:��; �����$����; ��.� �,��$ ; �
,!�����,�.�1$� �,��$ ; �6��.07���.9$� �,��$ ?�

� ��2 �� �:�!���% �,���$$�K,. ����% �,��$90 ��3.� �� ����� ; ���� �
����! �� ���,�.$���.9 � �. .��9 ���$�2 �� ���2 �1� �.�"�2; �� �/�� �
.�"� ��3.� ����$�7$��

��$��� �� �/�� ���.9$� �.�!�7���� ; �2�.3: �!�62�!��; �,��$ ��� 4
1� ��7�$9 ���!�$$� � �� �$�%�$�.96 ����6��9; �7�� ��$� ��.� �:��.��$� �
�.� �,.�7��$� _ ��,!�7�2; �$��; ��$� �,.�7��$� ; �,�7�.9$� �� �6���9; �
$���2���� �:��.��$��� �1�$!� �$��1���$$� ����63����� �1�$! �
�$������$3% �` �,�$�� ��% �����; ����� ����,������ �	�� ���$� ��� 4
2�$�!-0� �� �/��% ���.9$�% �.�!���; ���� �� �� �:�!���%f �,�7�.9$3% �� �
!�����$3%; ����!3%; �,!�7�2 �� �,�7�.9$�% ���$�.9$���� �6�.�1�$3 �
,��$� �� �!�����$3:; ���6�.��9 ��3; �����: �` �� �,!��!��$�% �0$����; �
� �$��.�1��$�� �1�6$90; �� �.0���; �` �� �!�����$32; ����!32; ����� 4
.32 ���$�2 ���.�7�0�� �,�6�! ��� �� �,�$�� ��� �,��$�; �,��$� �
�3�2����0����


�7�.9$3� �,��$� �$�63��0�� �]/.����%^ �>6�,.�7��?; �,�!� 4
"�0��� �] 2��2^ �>6$�7�$�� �$��6����$�?�

�.���� ���� �1� �2��!�7���� ��=�!2.�$3; ���� �� �/,�7����� �
,��$�; ���� �,�/23 ���2�!� �� ��������; ���� ���2�!������ ���2$3 �� �
����2f �/�� ������2��! �� ���7���$�� �� �,�$��2��!�2; �� ��: ���!-��-!� �
` ���-���5���

��� �,�/2� ��������; ��$� �$�,�.$�$3 ���$��$"� 2�; �������2� ���
!���-1��$� 2�_ �� ���; �7�� ���1��� ���!�$$�% �2�$�!�% ��$�����- 4
�.9$��� �,�/�� ��������; ���; �7�� �$�,�.$ �� �!�.����6$3� ��$��� �
�$�-��� �� ���!��� ��.� ����-; �����!���!2�$���% �/,��; ��� �- ��!���� �
���63����� �1�$!���% ������$$���90 �.�!����

� ���2 �1� �����!�� �/�� �.�!��� �����.9$32 �����!�2q �
�K �
����2�2-; �� �����; ���.� �,��$ �,���� ��� ��2�$� �,�!���� �.�"�q �

��; ��!�7����% �.�!�7����% �,�/� �,��� �$� �� ������ ��.���� �����- 4
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5��. �� ���%���; �!���-1����; ����� ������3; �` �� ���!������ ��� �
������ �.�"� �� ���2-K$��-�9 ��!-��2-; �$��� ����� ���2�2-� �]<�� �
��2���^ �` ������� �,�!��$�1� ��!�7���� �.�!��� �$� �6$���� �<!��� �
�� ���%���-0��: �.�" ��2�0�� �����; ���!��; �1����$3�; �!����$� ; �
.0��_ ���.9�� � 2����K�!�:��7���� �,�/6� �>] 2�^?��!-�-�� �
7����%5�2 �.0����2 �,�!��$�1�2 �>$�! �- ���� �1� �������2�?; �
7��� ���!����9� �� �$�2- �` �� �$�,����2��

�!�7���� �.�!���; ���.� �2�1$� ���� ����6��9; ���-���!�$$  f ���$� �
���!�$� �,���; ��!-�� ��.-5���_ �.�!�� ��2��� �,�!�$�!�� �
� ����9 �� �
� �,! 2�% �=�!2� �.�!�7����% �1�$!; ������ ��% ��6���-: �-7���$� 4
���; �� �$� ���$���; �` �/�� ��!:��7$� ����.���7���� ���!�$���� �� �
�$� �2�1��; �! ��2 ���.0���$�% �� �,�7�.9$�% ���!�$���%; ��3�9 �
��!�$���% ��!�$� �� �,�$�5�$� ���� ������ �!�6$����$���9 �/���� �
1� �1�$!�� �#��!�7����% ���!�$��� ����� ���%���-0��: �.�"; �� ���1� �
��.��; �7�2 �����_ ���� �/�� �$� ���!�$$� ��. �$��; �$� ���6.0�.�$$3%�
,!�:���� �$�790 �� �����% �.0��2�% �,�7�2-K�� �$� ����$; �� �� ���,!� 4
��1��$�� �2$�1����� �.0��% ������� ���6!���� �� ������� �,�.��

����; ���1�3% ��6�.�!�7����: �1�$!�� �$���� �$�,�$ �$3% �
:�!����!; �����!3% �$���J �$�2 ��6 ���$�: �-�.���% �dRRKdR�������

�!-�$� ����� �,!��������9; �7��� ��!�� �$� �2�� �� �/�� �/,�:� �,!� 4
,��9 �,��$0 �6�����.�2 ���6 �7�5� �� ���$�2 �� ������; �,�!���$$�% �
�2- ����!�,�6$���2 ��2���� �� �,���$$�% ��7�!��90_ �7��� ��.0�.�$ 4
$3%�$� �,�1�.�. ����6��9 �� �����% �.0��� �� ��.�6- �$� ��.�6; �$� �-,� 4
2�$� �� ��2�!�� �� �-� ��$��_ �7��� �$�.96 ��3.� ����%���9 ���6 ������ �
� ���!���; ���6 �2�!���"�� �� ��.�6 ��; ��.��$��; �7��� ���7����9 ����� �
!�6$���!�6$�%5�� �1�.�$� �� �:�!���% ���$���$$�% �,��$90�

� ���� �1� �/�� ���!�$$3� �=�!23 ���6$���0�; ������.�6�!-0�� ; �
=-$�"��$�!-0�_ ��: ���$��$� �� �$����.�� �$�,�$ �$� �7�!�� �` �
���$��!��6�"� ; �1�$!��3% �5��.�$; �����!3% �,����!1������ �
���2� �,�/��2�; ����2� �.�!���2� ��!�"�� ���6 ����.07�$� ; �:�� �
��$� ����! � �� ���$��; ��!-��� �$� ����!���:; ��!��9� �� �	�!���; �7�� 4
��!�3� �� �������� �� �$�-1�.� ���!�6���$�% ��!��; ���6����.9 ���$�% �
�6���.���: ��-.9�-!; ���6$���.9$� �,�. �.0���$3� ���!�$��3 ����!$� 4
2- ���� �-; �"�.���. �,�!�� �� �,��. ���$�2 ����!9; �����!�% ���J � 4
$ .� �� �.0���q

�� � 789:;9 ��� �d ����� ��� �$�5�% �/!3 ���:���� ��6��!�"��; �� ���7����� �
���-���� �1�$!�; ��!�2�� ���� �.���!��-!$� �!�6$����$���9 �

��� ���.�� ���.1$� ��3.� ��3 �,�!�1��9; ���.� �� ��� �=�!23 �$� �
,!���.1�.� �1��9 ��� ���: �,�!�

��.� �/,�7���� �,��$ ; ���� �� �2$���� ����3 �.�!���; �,���� ��� �
�!�2 ���3 �,!��2-������$$�; ���.� ��!-�� �7���9 �.�!�7����: �
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1�$!�� ���,�.$ ��� ��� ��!�2 �5����� ; ��� ��!�2� ��2��� �-1� ��� 4
6���.9$�� �2���� ��. ���,�.$�$� ; �� �� �/��2 ���!��� ��� 6���.9$�2 �
2���� �,!��-��6�$� ����f ���� ���,�.$ �9 ���$$3%�.���!��-!$3% �
1�$!; ���� ���,�.$ �9; ���� ���.1�$ �� �����2 ���!�6�2 ���� ���,�. 4
$ �9;���� �� ������ ���.1�$ ���� ��.-5��9; ���� ���.1$3 ������9 �
�.-5�0���; ���� ���� �9 ���,�.$���.� �!�6.�7$3: �7����% ��!�23; �� �
����� ����1�3 ���.1$3 ��3�9 �����3 �� ��� �� ��!-��� �� �����


�!�6���.9$� �� ���; �7�� ��.-5���.� �/,��� �� �.�!���; ���6�.��9 �
�3; �2��-� �$�:����9� ���� �-���$� �>/�� ���1� �$�5� ����!!�"� ?; �� �
�.-5���.� ��!�23 ��:��7�$3 ���2 �1� �!��.�2�$��2 �1�$!���% ��� 4
6���.9$����; �7�� �� ���2� ���,�.$���.�� �����!� �$�����$� �� ���� �
�.��$� �$��_�$� ���.� �� ���2; �7�� ��$ ���,�.$ �� �6���9 �!�.9 ��.��$��� �
��%��-�-0���� �.�"�; �����!� �����!��� �!�����63����� �,�!���
�.-5���. 2�� �
�:�1� �$������!� �.�!�7������ �:�!�; �$������!� �
.�!�7������ ���.�q �	�; �,�:�1�� �
� �!�6$�"� �� ���2; �7�� �!�����6 �
����� �� ��6��!�1�$��; �7�� ��$; ���� �23 ���,�!9 �����!�2; �!�63�!3 4
����� � ����� �!�����6 �2�1�� ��3�9 ���� ����; ��, �9K����; �:�!����!� �
` �,�7�.9$3% ��.� ��2�5$�%; �� �/�� ���� �/.�2�$�� �������.�$3�

#��!������; �,�7�.9$�% ��!�2�; �!�63�!3����� �!�����6 �� ���!��� 4
$� : ��.��$��� ���%���-0���� �.�"�_ ���2��� ��3�2������ �/�� �.�"�; �
$� ��3�2������ �� ��!�����0� �� ���2��� �� ��!����� ; �$��2��! �$� �
!�6.�7�� �=��-. �� ���$�; �,�:�1�; �� �/�� ���1��� �-������.9$32_ �
,�7�2-K�� �� ���2 �� ��-� �! ��2 �� ��.��$32 ���%���-0��2 �.�"�2 �
"�$�!�.9$-0 �!�.9 ���!��� ��� ����$��"��� ��� �����"��� �7��3!�:�
7�.���� ���$��� �� ����� �1� ���6!����; ���$��� �� ����� �1� �,�.�; ���$�% �
� ���%�1� �,!�=�����; ���$��� �� ����� �1� �,!���:�1��$� ; �!���� 4
5��� �� ���$�% �� ���%�1� �2���$�����

��� ��$��� �:�!; ���� �1�; �7�� �� �.�!���; �� ��$ �,��� �� �,. 5�� �
6���9 ���� �1�; ���� ���2; ���,!���1�� ��� �1� �.�!�7����� �,�!���; �� �
��� �1� �����!�� �� ����� �$� �]23^; �� �] ^ �� ���.�� �,�:�1 �$� �2$�1� 4
����$$��� �����!�; �7�2 �$� ���,�.$���. � �
� ��.��$�� ���%���-0��� �
.�"�; �!�����6 �� �����!�2 �!�63�!3����� ; �$�����9 �7���9 �:�!� �` �
��� ���.9$3% �.�!�7����% �,�/� ���1� �$� �:�!�7�$_ �/�� �����.9$�� ��� �
:�!� �.�"� ���%���-��; ���$���; �$� ���$� �` ����9 ���� �� ����!�� �.�"�; �
� �����!32 ��$ ���� �1� ����.���7���� ������ �,�!���; ���� ���� �.�"� �� �
��!�$���; ���� �,�.-:�!� �� �:�!���% �.�!����


� ��3���� �� ��!��9� ���%���-0��� �.�"�� ���.9�� �,�!��� �.�"� �
 �. ��� ��.��$32; �,�!�32 �.�"�2_ �$�7�$� ��� ����!���; ���� �
6$�7�$�� �,������ ���� ����� ��.� ��!�� �����.9$3: ��� �:�!� �.0��% �
����3 �$���37�%$�f �-�$�: �$� �.�"� �2����; �$� �$���: ����-!$3 �` �
,��$�1�� ��!��� �-��7�$$3: �:��-.�%; �� ����1�� �$� �$�: ��.�$$� �� �
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� 1�.� _ �- ����!3: ���,�.$���.�$ ����-!$3 �$�1�; ����1�� ��35� ���
.��7�� �
� �� ��.-5���.� �����3 �����32 ���!�6�2; �� �$� ��: ���.���: �
��$�� ��6 �!������.9$����_ ��$� ��2��! � ��!�2- ��!� ��$ ; ��� ����:��� �
��.$"� ��� �6�:���; �� ���1�3% ���$9 �,!�:���� �,� ��!� ��!������ ���
��$�% �,�.-�!������K,�.-��2����; �<���!���% ��!�2�; ���%���-0 4
��2� �.�"�2� �����!�% � �. ��� �:�! �$��.0��%; �����6.�$���:�
,�.-������

��� ���2��� ; ���� �� ��!����� ��2�0� ��,!���.�$$-0 ���!-��-!-�
#��!������; �� ���7����� ��� ��� 6���.9$3: �7����%; �23 ����!�7��2 �

�!�$3 �>,.�7�?; ��� ���23�; �����!3� �� �.�!��� ��3.� �����32 ���2� 4
��� ��.9$32 �1�$!�2; �� �,��$� �5����-0���� �:�!�; �,!�:�� ����; �
��� ���� �$� �2���� �� �-:�� ���� �` �:�!��3� �,��$�; ���!�=�7�����; �
��� �� �.�!����

#���2���� ��.��$� �������$� �7���9 �` � 2�3 ����$�������%; �
,�6�! ���; ��3�2����0��� �,��$�; �����!3� �,��� �:�! �-1� �
���!3�� ��� ��2�$� �����!�; ���� �� � 2��7����% �.�!���� ��!�2� �����; �
��!-��-!� ���2���� ��������; ���6 ��� ��%; �����2�; �.���7����% �
,!�7�$3; ��6�1�!���,!�$�5�$� ; �,!������.�$� �� ���� �� ��6 �
��2�% ���3 �$� ��"�$� ��.��$��� ���%���-0���� �.�"�� �� �6���$7������ �
�!���2; �.���.9$32 ��.� �$�.���.9$32_ �$� �:�! �,��� �6���9 ��� �1� �
��2�$��; �7�� �� �� �.�!����

#�� �/�� ����� �$�.96 �$�6���9 ���23�.�$$32� �� ���7�� �6!�$� ��: �
=-$�"��$�!���$� �� ��$��7$�% �.���!��-!�_ �23�$��2�1�2; �,� �
�-�����-; �$� �,�$ �9 ��: �$�6$�7�$� �� ��� 6�; �$� �,�!�����9 ��2 �
-���. �9� �

�� � 	� �$�� ���5.� ��!������ ����: ��!�: ���.���: �����7����: ��!������
d ����� ��� �$�/��` ���:�.�; �<�=��.� �� ���!�,���� �<���$�% ����!�$3; �

- �$�:; ���� �� �/,���; ���%���-0��2� �.�"�2� � �. 0�� �$� �.0��; �� �
��.9�� ����� �� ���!��_ �5�� �$�6�� ��� �.�!���� �<��!-��% ����!�$3; �
�01��3 ��: ��!�����%; �.�5�$$3� �!��.9$����; �,����$� ��01���2 �
/,�7����2; ��=�!2.�$3 �1�6$�$$�_ ����� �� ���!�� �,���$3 ���� �.0���

	��%����$$���9; �����!� �$� �2�1�� �-�!3�9� �� �/,��� �� �,�!� 4
1��� �� �.�!���; ���:���� ��� �,�.$��� �$������������ �� ��!������� �

�.96 ���!�"��9 �$� �����; �7�� ���:�.; �<�=��. �� ���!�,�� �!��-0� �
���0 �/,�:-; �����: ����!�2�$$����; �1��3: �,��.�$$3: �.0��% �� �
1��-0 �!��.9$-0 �1�6$9;�$� �$�.96 ���!�"��9 �� �����; �7�� ���� �/�� �
$� �,�:�1� �$� �$� �1�6$9;�$� �$� �.0��% �d ����� ��� �$�5�% �/!3 �� �
�=�$�:�

��:�. �� �]
�!��:^ ����� ���!��$- �,�!�1�$� ����!���f ����3��� �
����!�7�����; �.�"� �!��.9$3�� �
� �,�7�2- �1� ������-; �2��9 ����!���; �
��!��� �$� �1�$��$�; �� �2-17�$�; �� �$� ��� �.�"� �2���� �$�!��.9$�% �
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]1�$��$3 �������^; �� �$� ��� �$���: ����-!$3q �
�7�2- �,� �. ��� �
�6�,!���,��$�% �2�!���" �	�!�%; ���$9 ���"� ����!���; �� �:�! ��6 �
��$���6!���$3: �� ���$�,.�2�$$3: ����!"�� �,��� �� �,. 5�� �.�!� 4
7����% ��!�$ �>,.�7?q�
�7�2- �/�� ��!����� ; ���� �� ���� ��!-���; �
��.1$� ��3�9 ���-��$$� �� ��2��9 �,�!�,���0 �` �,�!�:����9 ��� �
!������ �� ���!0; ��� �$���1�3 �� ���7� $90; ��� ����:�� ��% �.�$�� �
,����9 ��$�6q �
�7�2- ����.�� ���.1�$ ������ �9 ��6��,!���.�$$����
7��.� ���!��; �� �/�� �����!�7���� ����9 ��� 6�$� �-.�1��9� �� ���� 4
�23�.�$$-0 ���!-��-!- �,!�.���; �,�!��� �>,!�:�� �:�!�?; ����:�2�K �
=�� �>������!�6$��� ����.���?; ������2�� �>,���$ �$�,����1$��� �
:�!�?; �,�!�,���� �>,���!��� ��01��� �� ��$�6�,$�% �!�6� 6��?; �
��22��� �>,.�7� �:�!� �� ���.����2? �� �/����� �>-:��� �:�!�? �q

��!�,�� ����� ���� ��-��� �!��.9$3� ��01��3; �,���63���� ���!���� �
� �!�=.����� �7�.�����f ���� �1�$��$�; ���.�,.�$$� ���!���90; �
���!5��� �-1��$3% �,���-,�� �` ��.������ �$� �$���$$���; �.1��; �
-$�1���� ; �,!���-,��� ���� ���������$$3� �6���$3; ���,�!3�� �
!��$���� �-������ �����: �����%_ ���� ��!�2� �2���!� �� ��3$�; ���!� 4
2 ��:� �,��-���9 ��!-� ��!-�� �� ��� 6$� �6������ �1���%���� ��.��� 4
,�.-7��; �$� �,���2 ��,�6$�0��: ����$ ��!-����; �!�����63��0��: �
���0 �,�7�.9$-0 �1�6$9;���$�2�0��:� �$�1$� �� ���:�� ���� �
���!�; �/�� ����� ; �/�� ���$ �� ��!�-��%f ���!�� �2�=��; �!������$$� 4
�� ������; ���6 �����!3: ��: �,�����9 ���� �� �$� �2�1�� ����%���9� ���
��� ���,�.$ 0�� �/�� ��!������ �� ��,!���.�$$32 �6�7�$�2; ��!���$ 4
$�%�7���90 �� ���� ���2 �1� ����$����32 ���$"�2q �#�:!�2�; ��� �� 4
.��� ����� ��2�!�� �� �����!���$� ; �	��$���; ���� �� �,�!��2 �! �- �
�!���. ������ ���� ��.��$3% �1!�"� �
� ���� �2�$�� �,�$ �$�; ���� �� �
�� ��.���; ��� ��!�2 ���.95�: �!�.����6$3: �,!�6�$����; �2�1�� �
!�63�!3���9� �!�6-:�����3% �=�!� ��.� �,�.���7���� �����!�; �$� 4
63���2� ��!��$�% ���2����%� �	�.1$� �1� �7�2K�� ���J �$ �9� ; �7�� �
�. �,�.���7����% ���2���� ��!����=�$� ���!-��-!$32 ����.���2 �
�.-1�� �1�!���,!�$�5�$��; ���! ,$ ; ����; �7�� ���� ���%���-0��� �
.�"� �� �2����:; �7�� �,. ��� ������� ���$���,$�; �7�� �� ���$�2 �� ���2 �
1� �2���� ���2���� �:�! ���.1�$ �,���!�7����9� �.�"�2 ��� �����!�� �
� �,-�.��� �� �����


� �2�$��; ���$�7$�; �6�����7$� �� ���; �7�� ��!��$  ���2��� ; ��� 4
2��� �,�.���7���� ; �,�.$� �����!�6$���� �� ���%�1� ���2�% �=�$�� 4
�����; �����!� ����!�7���� ���.9�� �� �/,���f �6���9 ���%���-0� ����� �
� ���!��; �,!���:�� � ��"�$3 ���,!���,��$�% �� �$��$���; �� �$�� �
����% �$�.�,�"3; �����!� �$� �2��.� ��3 �-1��9� �� �!��.����7����2 �
6�23�.�2�


���$�"; �6��!-�$ �� �� �6���9; �� ��!�2�; ����$��!�$���9 �1�$!�; �
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����!�% ���� �,�����.� ����,!����.��$� �,��7�$ 0�� ; �� ���1�3% �
�6���.���: ��!�2��-!���; ��!���� ��$ ��.� ���2��; �,�5�� �$� ��� �1� �
��23 �� �� ���2 �1� �1�$!���2 �5��.�$�; �7�� �� ���� �,!��5�����$$� 4
��� �	!�2� �!��� �$�63����� �,�7�2-K�� ��!������% �>,��$9 ���6.��?; �
�!�2� �,�.���7����% �����!3 �` ���2����% �>,��$9 �,�!-5�� �� �
����.��� �5����� ?�

+�� ,-� �. ���1$� �����$����9� �� �$� ��!�7����% �,!�6�; �7��� �-��6��9 �$� �
�� �$�,!������$$3% �:�!����! �` �!��2�7$���9; �5��.�$� 4

6�!���$$-0 ���!-��-!- �,!��.�1�$�%; �������!�6$�%5�� �,���!�� 4
$�� �,�!���� �� ��$-�!�$$�% �!�=2�%; �� ��$����6�2�; �� ���$�2�!$32 �
��.�7�����2 ��.�����

����!�=� �� �����!� ; �=�.���=� ; ��!��$�!�7�� �` ���� ����$ 4
����$$3� �1�$!3 ��!�7����% �,!�63_ �$�� �$� �!�����6�; �$� �!�2�$�; �
$� ������ �����; �7�� �23 ���,�!9 �$�63���2 �:-��1�����$$�% �,!�6�� 4
7����% �.���!��-!�% ��.� �:�� ��3 ���..��!������%�

#��!�"�� ���..��!������ �$���

-1$� �.� �,�/���� �6�$�2��9� �$�-7$32� �����2� �.���!��-!3q �

��� ��-��� �$��� �
� �$�.96 �,!�%�� �� �2�2� �����; �7�� �/�� �$�-�� �` �
����%K�� �/�����.�$� ���..��!����7����% �,!�63�

����!� �,�.$� ����6��; �2�=�; �=�$�������; �� �/��� �/.�2�$� �
7-���$���; �/.�2�$� ��$������!�7����%; �,���$ ����=�!2.�$�� �
!��.9$�2 �� ���!�2$�%5�% �,!�2��90 �=����� �� ����-2�$����

��.95� �.���!��-!� �����$��.����� �$�5� ��$�2�$�� �$� �����!� 4
=�7����%; �/�$��!�=�7����% ���2�����_ ���.���� �,.���$� ; ���.���� �
$�!��3; �������$3; �` �� �! ��2 �-��,� ; �2�=; �����.0�$�� �$�,!�� 4
��,������� ���.���=� ��6.������ ����:�2�; �� �=�!2� �/,�7����: �
,�/2; �` ��.� �` ���� �1� �7-1�� ��. �$�5��� �,�$�2�$� �` �� �
���.���7����% �=�!2��


���$�"; �,!����7����� ��!���!���� ����63����� �.���!��-!$32 �
����2; �� ����!�% �2�1$� ����!����9 �!�79; ���� �$�6$�7�$�� �����!�% �
` ��3�9 �,!��6$���$$�%; ����!����9 ��� �$�,���$$�% �� �$� ����6�$ 4
$�%;�7�2 ����6�$$�% ����K$��-�9; �$� �$��6�,���$$�%� �� ��-�K�� �
�2�$$�; �� ���.���� �,!����7������ ��.�������!�$� ; �23 �$���.�� 4
���2� �$� ��:�2- �����.9$� �!��.�2�$��!���$$3: ���!-��-!$3: ��� 4
$�$�� �,��92�; �$���� 6���.9$-0 �:-��1�����$$-0 �=�!2-; �$� �
=�!2- �.���!��-!$-0� �X��$�� �,!����7����� ��.��� �` �/�����.�$� �
� ��!��$�% ��!�"�� ���..��!������; ��3,�.$ 0��% �6���9 ��- �=-$� 4
"�0; �����!� ���37$� ��. �,������ �� �!�2�$��

#�� ����3 �/��% �$�-7$�% �,!�63 ������.9$3_ �����!�� �,����! ��; �� �
=�!2�.9$�% ����!�$3; �����!���; �=�.���= �` �=�.���=�; ��!���! �` �
�!���!��
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<��%

������������ �
��������� ���!23 ��
�<�; �.�!��� �� �	!��t;
����!3� ���� �,�!�1�0� ����!�"�� �

� ���� ��-��� �2��-� ��3�9 ���J �$�$3 ���.9�� �����%K�� �2���$�% �
�,�"�=���"��%; ����63��0�� �� �/..�$����7����% �.���!��-!� �-1� �
�����$$32 �2���!��.�2; �,!�6$�$$32 �����7����� ���!�6"�� ��$� �
��� �� �����0�� �1��9; �/�� �.���!��-!$3� �=�!23; �$��2��! �$� ���; �
7�� ��: �$������������� �� �$��32 �����!1�$��2 �6$�7���.9$� �!�67� �
�!������ �� ��.�6�; �7�2 �� ��!��$�% ��!�"���

��� ���� ���.95�$���� �Y,!��6����$�%Z ��$��7$�% �.��!��-!3 ��� �
$�� �$� ���5.�; ��!-�$� ��-���9; ������ ��6�$��3: �1�$!�� �,�.-7�0� �
���$��.�$�� �� �/,�:- �/..�$�62��


��� ���2��� ; ���-�� ��� ��!��$�% �� ��!��$�%; �$� ��2���; �,�K �
����2�2-; �$�7��� ������� �� �,�.���7����% �����!�% ��!����=�$� �� �
�!��$�: ���2����_ �:�!� �6���9 �$��; �,!�1$�% ���!-��-!3 �$��; �$� �
���9 �$��3% �5��.�$; �,� �����!�2- �� ���1��% �����% ���2���� ����9 �
,����$-�3� �����; ��: ����!�7� �� �!�����. 2�; ��: ��.0�.�$$���9 �� �
�!��� �
�7�2- �1� �/�� �` ���2��� �� �� �7�2 ��� ��� 69 �� ��!��$�2 �
,�.���7����2 �� �=�$�����7����2 �=�!��2q


� �. ��� �� �/,�:- �/..�$�62� �� ���..��!�������
<$�7�.� �/�� ��!�5�7$3� �!�����6��� �� �,!�6�_ ��: ���%���-0��� �

.�"� �` ����� �� ���!��� �	�.95� �/�� ��.�$$3� �,������ �� �,-��$�% �
��2,�6�"��%; �$�,�2�$�0��� �/,�� �,� �=�$������� �� ����!����,- �
,!��.07�$�%_ �� �/��� �1�$! �6�5��.�$�6�!���$; �� �$�.96 �$�,����9 �
!�2�$; �� �����!�2 �$� ��3.� ��3 �!�6.-�� ��.0�.�$$3:; �,!��.07� 4
$�%�� ����!�7��

�..�$����7���� �.���!��-!� ��,�!�3�; ��!��$���.9$� �� ��!��$� 4
�!�7����%; ���6���� �.0���$3� �1�$!3; �� ��� ���!�2.�$�� �����!� 4
1��9 �!��.9$-0 �1�6$9�� �!��.9$��� �7�.����� ���� ���.9$�%; �7�2 �
!�$95�; ������$�!-�� �� �$�������������2 ��!��$�% �=�!23�


�/6� �����. ��� ��� �2-63�� �� �,. ��� �� �,!���!����� �7���� �
.���!��-!$-0 �=-$�"�0_ �$�����9 �/�� ���� ��� �1� �/.��� �� �
/,��!�22�; ��� �1� ���2$3; ���� �1� �/,�� �` �,� �=�!2�; ��� ��� ��2 �
�.-7��_ ������2��! �� �,�$��2��! �` ����-���; �,�K���!�2-; �!�62�!3�

=��+�
&���� �
��������� �#�!��<��� �.���!��-!� �/�� �-8���
�

�<�u
,�/��7����% ���!-��-!3; ��.�1�$$�% �� ��!��$�% �

�!�"��; ����� ���� �6$��9����$7���.9$�_ ���.� ���.95�$���� �
!�2���: �,�/��� ��.��-�� ��!���"��$$�% �=�!2� �/..�$�����; ����
��!�"�% �����!����90 ���6��$��. �� �1�$!3 ��!��$��!�7����% �
.�!���; �$�,�.$  ��: �$��32 �����!1�$��2�

��1�- ���2 ���; �7�� �6�$��� �,!�:���� �/��, ����$��.�$� �6���9; �� �
!�2���% �.���!��-!� �` ��$�; ���� �� �� �/..�$����7����%; ���� �� �� �

�




�!��$��!�7����% �.���!��-!�:; �,!��.����� ��$�2�$�� �$�����$� 4
��$$���90 �� ������$�$��2 ���!-��-!3�

��2���% �!�2�$; �!�2��� �����!� �-������.9$3� ��$� ��$��!��- 4
0�� �!��.9$�% �1�6$90; �!��.9$32 ��3��2� �
� �!�2�$ ��,-.� �
,�!�,�.$�$ �=�$���2���!��% �� �����2� �1� �,!��.07�$7����2� �
�:�2�2�K5��.�$�2�; ���� ��!�7����% �!�2�$_ ��.��$�� ���%���-0��� �
.�"� �` �1����$��; ����.; ��3�5�% �$������ �7�.�����2 �� ��$��� ��2 �
���$�� ��%� � ���2��� �����!�; ���� �� �!�2���% �!�2�$; �����!�6 4
$�; �"�$�7$�; ��-.9��!$�_ �/�� �$�,�2�$��� ��� 6���.9���� �"�$�62� �� �
$�,!����%$���� ����!��$��!�7����% ���2����; �:�� ; ����!-��% �
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��! �3� �
��; �/�� ���� �$� ���! �3; �$� �6��� ��$� �/��: ���%��� �$�� �
!�5���.9$� �$������� �]��!�6� �1�6$�^f ��� ��,.�59 �,�����$�� 4
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$���9 �������� �6���9 ��6���%����$$��� ����,!��6����$� ����2� 4
7����% �1�6$�� �
!��6�������; ����3 ��!-��; ����.���7����� �2�2�$ 4
�3 �` �/�� ���� ��$��!,!���!-��� ����2���$�7���� �� �������� 4
����$$� ����,!��6������ �����%����� �>:�� ���2��� �,�$ �� �
���2���$�� ���� �$��?�����; �,�.���% ����; ��2�!�9 �` ��!� �����: �
���.���7����: �2�2�$��_ �$� �$� ����$ ��6�$�: �$� ����6$���� �!��.9 4
$�; �,����.9�- �$�� �,!��,��3.�� ��. �!��.����7������ �2�!�,�$� 4
2�$� � �
�!���3�$�K�:��$�7�% ���..����� ���J�����$� �$�:����� �
� ������ $�� �,���� $$�% �� ��1����7�$$�% ���!9�3 �� �,!�!���%_ �
��2� ���� �,!��6������� ��� 6�$� �� ��-!���% ���!9��%; �� �� ��:�����; �� �
!-��,�5$�%; �� �,�2��90 ��.��$��� ������� ��!-������ ��!-�� �` �
!-�� ��� ���2$ �` ��$ �6��.������� �6��!�2 �� ���� �2 ��2; ���� ��!� 4
�90� ���!9�� �` ����$����$$� �������!� ����,!� �� �2�!� �� �
,�!���3�$�K�:��$�79�2 ���6$�$��; ����$����$$�� ���2�$��7����� �
����!1�$�� ���� ����2���$�� �� ����: ���%���; ��� ����,!��6��� ��:�

�� �)��������, ����,� �
����&�� ��!:��7����� ���23�.�$�� ���3; ����:�� ��� �
��� �� �����2�62-; �.-75� ������ ���:!�$� 4

.��9 �� �!�.����6$�2 ���! ��; �$�63���2�2 �.��-!���%� ��� ���%����$ 4
$3%������; �� �����: �7�!��:; �6��.07���� �� ��.��-0��2� �<� ��$ 4
$�� �,!������. �� ��,�!�� ����-�3 �` �����.; ��.0��; �$�1 �� �����; �� �
6���2 �:.�� �� ���$� ��. ��-�-���� �],!�7���$� ^; ���:�!������ �
p.��; �����!3% ��$ �,!������. ��; ��7������ �]��$"�2^ �� �]��.�2 �
p!����^_ ��� ��$$�� �!�1�� ���� �$�1�2 �$� �7���� �� �/�� ��..���!�K �
6�!-�� �]��!����^; �,!�7�2 �7���9 �:.��� ��.-1�� �!��!�2 �p!����; �
$�1 �` ���,9�2 �� ����� �<����������$$� �� ���$� �� �����% ��3����� �6��
�!��9 �p!����� �
�!�� �"�$�!�.9$32 �2�2�$��2 �,!�7���$� ��� 4
��$$�� �� �,�2��$���2 �����!5��� �5������ �,� �"�!��� �` ����$ �
!�6 �� ��.0��2 �� �����.�2 �� ���,!���1��$�� �.�2,��; �� �6���2 �� �
�.0��2 �:.��� �$� ���.��� �� �����.�2 ���$�� ���:�!���� �������� �� �
��2; �7�� ��� ��$$�� �!�6��. �� �$� �7���� �:.���"; �7���9 ���� ��J����� �
� �.���$� ���2 �� ����� �,�2��$��-; �� �����.9$3� �7���� �!�6���� ��. �
��3 �,!��-����-0��2_ ��� �1� ��$ ���.��� �� �� ���$�2� �
� ����$7�$�� �
���% �/��% �"�!�2�$�� ����-�3 ��37���0�� �� ����� �� �$� �2����; �� �
��23% ���! � ���$7���� � ���$�7$�; �,!�"��-!� ���,!���1����� ��� �
$�7�.� ��� ���$"� �,�$��2; �2�.����2� �� �!�6$32� ���2��.�7����2� �
��%���� 2� \+ ��
� ��6���$�% ��� ����.�% ��:�23 �-1� ��������7$� ����4
$�; �7�� �.��-!�� ����,!��6����� ��!��$�% ���! � ���3 �� �,��9 �` �
�� �,!������.�$� ��� �-��!��� �� ������ ����$����� �,�$ �$�% �!�.9 �
��"�!��� ����.�f �/�� ���.�7�%5� �]�� �3$ ^; �]�� �� ��� �3:^; �
],!����.^; �����!3% �,!������. �� �����% �,!����K$�,!���� ������$ 4
$3%����.� �
� ����1� �� ��.��$�� ����$���� �` �/�� ��!�2� ���3; �� �:.�� �
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� ���$� �` ���.� �� ��!��9 ���1������ ��� �1� ��� ��$$� �!�.9 �:.��� �� �
��$� �� �$�����!3: ��!-��: ������.-1�$� : \L;�� �!�6��7� �:.��$�% ���3 �
��J �$ ��� ��,��.������� ���� ��3����% ���� �]�. �,���!�,.�$� �
��.^ \* ����$���; �$� �$-1$� �6��3���9; �7�� �$� ���.9�� �:.�� �� ���$� �
,!������.�$3 ��� ����: �/��: ���! ��: ���� ���,.���$�� ���1�����; �$� �
� �5������ ��� ��$$���� �,� �"�!��� �6$�2�$���.� ��2�!�9 �� ��� �
,!����.�$��� ���� ���2�$���� �:.��� ���� �]1����� ���7$���; ��5�� 4
5��� �� �$����^; ���� ���2��.� ��,���$� ��� ��2�!�� �� �����!���$� ; �
�����$$� � �$� �� ���! �� �������� �,��:�.9$��� �:.���; ��� 6�$$��� �� �
��!�6�2 �����!���$� IM_���� ���� ���1����� �����!���$� ���!1�� �� �
�����2 �"�!���$�2 �2���� ��2���� �� ����$�% �����!��5��� ����� �� �� �
,!�6�$�� �����!���$� ���$�� � ����!-� �"�!��� I) ��������� �� ���� �
2�$�:�� �,!� �6��$� ���.���.��; �,!� �,�$�� �]p!����� �����!���^ �� �
,!��5������ ����$3 �����!���$� ; �/���� �,��:�.9$��� �:.��� �� �
$����.9��: �.�2,�� Ic����,!��6����� ��- �1� �.��-!��0; �$� �
������1��$$-0 ��� �"�!���$��� ����$���� �� �!�6��!$-�-0 �� ��3�; �� �
��2 �1� �5������2; �$� �!��.9$32; �� �� ���0 �1� ����0; �$� �1���% 4
���%� �� ��2 �� �:.���2; ��.�"����! 0��2 �2-1���� �����!�5�0��� �
��1����� �>�!���?; ��-�����-�� �����% �1� �:.��; ��.�"����! 0��% �
1�$���� ���1����� �>,�$��� ? IH��'�59 ����-.9�� �/���� �]:.��� �
����!���$� ^ �.��7� �-.����9 ���!�6 ��,���$� ��� ��2�!��; ��� 6�$$3% �
� ���!�6�2 ���3 �� �:.����

	� ��I� ���
�&������ ���37$� ��� ����: �/��: � �.�$� : ���� � �,�!�1���� �
� �������� � ���, �>��7�!�% �.0���?� ��$� ������ .� ��6�,!�.�2 4

.�$� �:.��� �� ����2���$�% ���3 �� �,!���:���.� �� �"�!���:_ ��: �
�6��$ �� ����-�� �� �Rd����� �'������%���% �����! Ij ����$��� ���.� �$� �
� ���$�: �/��: �!�.����6$3: ��!�,�6�: �� �$� �� ���$�: �,�!�1����:f ���; �
7�� �-�.��$� �,!�$ �� �$�63���9 ����,�2�; �6��������.9������$� �
/�$��!�=��% ��. ����: �$�!����; �,!�5��5�: ��6����$-0 ������0 �
!�6���� � �X1� �$���$��!��$� �-��63��.��9 �� �$���!���K!�2���� �
,�!�..�.�; �$� ���������$$3� ��: ����.3 �� �$� ���37�� �!�.����6$3���

� ���.� �����!��9 �� �!�.����6$�% ����; ��� �,!�1�� ������ �$-1$� �
��,�2$��9 ��!�7����� �������$�� �� �!�2���� �,-.9��$�!�� �� �
.��"����!$��; �,���2- �7�� ��-�K�� �23 �� �����2 �:!�2��-0 ���-� ���� �
�.�1� ��; ��3�9 �2�1��; �,!��� ���!����9� �� ����,�2 ���!�%���2_ �
���9 �6���9 �,�!�� �$�2� �,�����$��$3% ��3�; �� �23 ��� ���: �,�! �6�4
����2 �$� �6�,��� �- �,��!��!:�.9$3: ���!��� ���� ��$�� �� ��.����.� 4
��$�� �:.���; �� ��.��$�� �` �,!�.�2.�$�� ���� �:�6 �$�2 ���2� �� �
��-5�$�� ���� ����% ���29�% I\ ����2 ���232 ���,����� ����.07���.9 4
$���9 �.��-!��7������ ���$"�; �:.��� ��.� �,��:�.9$��� ��!����� ��3 �
����2 �� �- ���!���; �� ���$-$ �
��:�; �!��-�.9$-0 ��!�,�6-; �� �-���$� 4
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�.�$$32 �����2� �$�,����1$32 ���$�$�2 �!�.�% �� �=�!2; �� �� �
"�$�!� ��� �` ���! � �:.��� �>2�"3?�� ���$�; ���,!���1���23% ���� 4
.���2�; �7��$��2 ��� ��$$3: ��������; ���2��.�7����2� ���%���� 4
2� ��; �,�K����2�2-; �6��!3��$��2 �� ����!3��$��2 �2�"3; ���� �
Y6��!3��$��2 �� ����!3��$��2Z �6����3 ��.� �,��!���� �$�� ���!� 4
2� II ����� ��� �1� �.��-!�� ���3; ��� �1� ��!�2� �:.��� �� ���$�; �.�59 �
:�!����!� ������.-1��$���; �:�� �� ���2�5$���� ���.� ��� �2�1$� �
�!��$��9 ���:!�2���% ����%; ��� ��-����$�� �,!�.�2.�$� �:.���� �
$����.�� �,��:�� � �� ����,�2� �#���! ��: �!�6�!��.�$� �:.��� �� �
!�6��7� ���$�; ��-�9 �/�� �� ���29� ��.� �� �"�!���; �����$ ���� �,�!�� 4
�3�$�% ��!�,�63; �� ���!�"��9 �/���� �$���� �$��������� $��� �< �
�!-��% ����!�$3; �$�.96 ���!�"��9 �$� ���1������ �/���� �2�2�$�� �� �
!�6$���!�6$3: ��� �=�!2�:; �$� ���$��!�����$���� ��3��� �
!�.�2 4
.�$�� �:.��� �- ���!��� ��.� �� ����,� �����; ��������$$�; ���,�7$� �,�� 4
:�.9$-0 ���!��$- �!�6!�6�$� �,��:�.9$��� ����,� �� ��J���$� ����f �� �
6���9 �:�6 �$; ��.� ��� ��$$��; ��.� �,��!��!: �����!5��� �!�6��.� 4
$��; �� �����$� ��.� ���29 ��J����� I+ ����� ��1�$���.9$� ��.� ��1� 4
��7�!$  �,��:� ������� ���,!�� ���� �1� ���23%;�7�� ������. �
,��:�.9$3% �:.��f ���,!�� ��� �-� 6�� ���3 �� �����!���$��2 �� �� �,!� 4
.�2.�$�� �� ���-5�$�� �:.��� ���� ��,���$���

j������; ��-�����-�� �.� �!�6�� ��!�$9 �2�1�- ����% �:!�2���% �� �
�3����%q �� ���� ������� ����,!�$�2�.��9 ���2� ����q �
!�1�� �

�����; �7�� �2�1�� ��9��9 �,!��� ����.�; ���2$��3 ��.� ����1�3q ��3 �
-����2; ���$���; ��,��.�������; �7�� ����.; ���3�$���$$3% ����. ��. �
��3; ���23�. .� �� ���!�6�: ��3���3K$���; �� ��2�$$� �������; �7�� �
�$ ����. �2����,!��3��$��2 ���1����� �6.��� �� �,.���; ���1�����K �
1����$���; ��$ ����.�.� ����.�2; �$� �����!�2 �.�1�� � ���� �� �6��
����!32 ��� �� �i�� �2�1�� ��3�9 ���������$$�� �� �1�6$�$$��; �7�2 �
,��!��$���9 �� ����1�� ��.� �� �1�.���q �� �2�1�- ���2 �,��!��$���9 �
/�� ���23�. .��9 �,!������.�$��2 �� ����2�7$���� �,��!��� �� ���,� 4
����.�$��2 �,�.���� ���$���2; ���2$��3 �� �,!���,��$�%� �� ���� �
��3; �1���%���K!��.9$3% �� ��,�.$� �=�6��.���7$3%; �$� �,�!������ �
�����32 �1� ��������9� ; �:�� �� ��� 63����� �� ��!-��2 ��,!���.�$ 4
$3: ���!�6��� �
� �$�2 �$� ��.��-�� �6��3���9; �7�� �� ����.������2 ��� 4
������ �$� ���.9�� �$� ��3.� �,�!��$���� ���$�% �=�!23 �����.���� �
$�� ��!-��%; �$� �7�� ������� ��$� ��� 6�$3 �2�1�- �����% �� �7�� �$� 4
���� �!��.� �$� �-������ ���2�$���� �� ���23�.�$�� �$� ���!�"��� �
!��.9$����� ���1�- ����% �6����2�5$�2 ����.�2 �� �"�!���$�% �
.��-!���% �$�� �!�6$�"3 ��3������ ��.� �!�.����6$��� �����!1�$� �
� �$�5�2; ����!�2�$$�2 ��23�.�� �
�/��2-; ������ � �-���$��.���0 �
� ���! �� �!�6.�23��$� �:.��� ��.��$3% �2�2�$� �� �1�6$� �,�!�� 4
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�3�$��� ���������; � �/��2 �$������.0 ���� ���7�-; �����.9�� �
$�7�$�0 ������9 ��� ���23�.�$��; �����!�� �,�!���3�$�� ��������� �
/��2- �2�2�$�- �����.�� �<��!-��% ����!�$3; �,�!�..�.�62 ���$��� ���
���� �1� � �.�$� �� ��3�- �� �� �:!�2� ��,!���!���� ���$����!�$$�� �
2$�$�� �����$��!�����$���� ���$�: �.�59 �=�!2 �!�.����6$3: �
� �,���63����; �7�� �$� �2�$�� �!�.���� ���$��!������$ �� �!-��2�$ 4
��!�$ ��3����% ���37�%�

#���2�2 ���.�; �,!�6�$�� �!�1��$� ����63����� �,!�6�$���2 �
��3 �` �/�� ���1������ �� ���� �!�1������$���2 ����.�2; �-:�� ��2 �
��.��� ���.-�9 ��!��$����_ �� �����9�� ����9 �� ���! � �:.��� �� ���$�; �` �
��.�� �6����$7�$��2 ����� �$� ���2- �,�! ��.�; ��� ��� ��2 ��.-7��; �
�!�7$� ��!�,�6�_ ��2�!�9 �� �,�:�!�$3 �6$�2�$-0�� ���2 �1� �����2 �
��3 �� �$� �2���.� �� ���2�; �$�; �,�2�2� �/����; ��-�����-�� ���� �� �
��� �$�63���2� ��!�,�6� �2�!��3:; ����� �� ���2 �,���%$��; ��6��!� 4
1�$$3%�$� �������: �� �2���.9$3: �,.���:; �23�.��� ��� ��2 �� �
,90��2� ����$ ����.3% �,�!�7�$9 �/��: ������6����$3: �=����� �
,���63����; �7�� ���� ���3 ���,!������.�$�� ��!��$��� �7�.����� �
�����$ .� �� ��!-��2 �����:K�� ���!�6��; �����!3� �,!����. .� �� �
�!�,�6� ���� �� �-��.�$�0 ���.��� �� �1�1�3; ���� �� �23�.9 �� ��� 6��
���� ���3 �� �2�2�$��2� �!�1��$� ; ������$�$� �,�.�� �� ��2�!��� �

� �,���63���� �$� ���.9�� �/��� ���.� �23 ����!�7��2 ���$� �� ��� �1� �
��%����� �� ����� �!��.9$��� �� �� ����� ��2�1�$�!$���; ���.� �����! 4
5�$$� �!�6.�7$3� � �.�$� ��2�5���0�� �� ���6$�$�� ���$� �� ��!- 4
��2; �� ���.� ������ ����.���7����� �=���3; ���� �-��.�$�� ���.���; ���� �
,� �.�$�� �!���$�� ��.� ��2�!�9 �7�.�����; ����,!�$�2�0�� ���,!� 4
�� ��: �!��.9$�% ��-�$����; ��� � �$�; �7�� �23 ��2��2 ���.� �� ���-2 �
 �.�$� 2�f ���K,�!�3:; �� ���%������.9$���90; ���K���!3:; �� ���$ 4
"�,"��% �/��% ���%������.9$���� �� ���6$�$��� �� ������ �:!�2��� �
!�,.��� ��3��; ���� � �$�6��.� ��3 ��� ��� ������.-1�$��; ����$����� �
,���6���.9$�% �,�!�..�.90 �� ��3����% �!�.����; �� �.0��% ���! � �
�.� �,!�6�$�� �!���!3��0� ������$�����% �2�!� �������!�6$3% �
:�!����! �,�!���3�$��� ���23�.�$� ���%������.9$�����

\� �)�������� �$����������(���� �
� �
� �$-1$� �-,!����9 �����; �i�� �
��2� �,� ����� ��.�1$�� �
�.96 �6��-5� 4

�3���9 ����� � �.�$� ; �7�� ���:�!���� ; ���.� �� � �. ��� �,�!�..�.90 �
���,3 �� �,!������. �� �����0 ���%���� ���3; �$� ����9 �� ��� �1� ��!�2 �
� �$����; ���� ��$� �� �$�63����� ; �1�!���,!�$�5�$��� ����� �1� �
,!�$�� � �6���9 ���2��.�7���� ���1�!��-q ���$"�; �.�59 �,�$� 4
2��2��� ��$����6���.9$� ���� ���1�����_ �$�; �,� ����.��; �,��.�$$� 4
�� ���$"�� �����; ���� ���� ����$ ���!�6; ��$���� �� ���� ����� �
<.�������.9$� ���%���� ���3 ����9 ���$��!�2�$$� �� �1�!���,!�$� 4
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5�$�� �� �$�7��; ��� 6�$$�� �� ���!�6�2� �!�1��$� ; ������$�$� �,� 4
.��; ��2�!�90 �� �����!���$��2_ �� �1�!��� ����9 �2-7$�� ��6��.��; �
:.��; �����!�� ���$��!�2�$$� �23�.��� �2�.��32 �1����$32; �� ��� �
� ���7�.���7�$$32 ���1�����2� ���� �1�!��� �7�.���� ��.� �1����$�� �
�. �$�� �,�$ �$3; �$� �$�,�$ ��$ �:.��_ ���� ��!�,�6� �,�$ �$3 �:.�� �
� �1����$��; �$� �$�,�$ ��$ �7�.���� �� ����� �b�$�; �7�� �$�5� �,!�� 4
����.�$�� ��� ���� �� �� �1�!��� �$� ����,����� �� ��!:��7����2; �� �:�� �
=�!2� ����� �� ��!-���� ��� ��.���� ��� ���: �,�! �� �$�5�%; �$� ��� �
��23�.�$��; ���2�$���� ��� �����!5�$$� �!�6.�7$� IL ��
�� ����% �� �
,�� �1�!���% ����.������� ��������� �,�$�2�.� �$�7�� �2���=�!�7� 4
����; �$�7��; ��� 6�$$�� �� �-6.�2 ���!�6�� �� �1�6$� �� ��2�!���

#��$��7$���� �1�!���,!�$�5�$�� �������� ��6 �2�2�$��� �-���$� �
1����$��� �� ���-5�$� �1�!��3_ ���! � �����!5���� �,�� �2-63�-� �
8���9 ��� �1� ��2���$�� �!-�; �,!������.�$�� ��.��!�% �� ����-���; ��64
�$�$�� �,!�=�$��; �,!���� �� ���2��! �1�!���$$3: �1����$3:� �
� 4
�3,�� ���.��3 �1�!�� ���.7�$�% � 72�$$�% ��!-,�%; �,!��.-1$��� �
-����0� ��:� ������ ��$� �,���0�; ����!�0� ���$�: �5�-!-; ���!-� �
]$�7����^ ��� ��$-�!�$$����% �� �����! ��; �,��3,�� ��: � 72�$$�% �
�!-,�% �$��-� �� ���!6�$�: �1�!��-0��2; �����!3� ��.��-� ��: �$� ��. 4
��!9; �!�6��� � �,�� �$�2 ����$9 �� ���6.���0� ���$� I* ��8���9 �,�!�� �
$�2�; ���� ����6��9; ��� ��$$� ��-:$ ; �� �����2 ����!�.9$��� ���!���; �
$�.�"�� ����� �2�2�$�; ������$$3% �� �.��-!��� ��� �2�$�2-2�; �� �
�"�$� ���2��!� �� �,!������.�$� ���3 ��1����� ���.9�� �-�,�!��� 4
���: �$����!��$� �X�$�: �$�7�.� �.��-!��� ����!3����� �,!������.� 4
$��2 �:.���� �<� ��$$�� �,!�$���� �2-�-; �2��.� �� ���,.-0 ����-; �
2�5��� ���� ��2���� �� ��.����� ��-�� �6������-� �<0�� �1� �,!�2�5����� �
�$ ���.9 �� ���.��� ��6������ ������� �8���2 �$���-,��� �,!������.�$�� �
:.���; �������. 0��� �7���9 ������.-1�$� � �
�!�..�.9 �1�!���,!� 4
$�5�$� 2 �` �� �!�6$3: ���!��$�: �,�!� ������ ��.� �,�!� ��. ��� 4
��� +M���3 �����2 ��� �����; �����!3% ���2 ���� �� �,!��.�5��� ������% �� �
���� �$���!�,�6- �` �/�� �������$��; ��� ��!�,�6-; �$������!-0 �
,!��.�5�0�� �����; �� ��: �����-� �!�62���0�� �6�����.�2� �` �/�� �
]��..����!$��^ ��. ���� ��: ������; �.��"����!$�� ��. ���6.�1� 4
��:� �
� ���1�����; ���.� �� �$� �$� �,�!-; ���� �1� ����; �� ���� �1!�" �
 �. ��� �,!��.-1$���2 ���� ����.�� �
� �!�.� �,���!� �23 �����2; �
7�� �1�!���,!�$�5�$�� �,�$�2�.��9 �$� ���.9�� �� �$�5�2 �,35$�2 �
� ������.-1��$�2 ��23�.�; �$� ��3.� ���!�6�� �,!��� �� ���$��� �� ��.� 4
��.��9 �� �,!������.�$��2; ���� � �-1� ��3!�6�.��9; ��� ��$$�% ��-: 4
$�; �,!������.�$� ��. ���1����� �,���� ����; ��=�$�% �!���!3���� �
$��2$���: �,!�2�!�:; ��� ���3.��% �$���$��7$3� �����!����3; �
���!�.9$�� �,!���:�1��$�� ��!�7����: �,���!��� ��$ �,���63����; �
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��� ��: ����-����� ��35.� ��6����-����� �1�!���,!�$�5�$� ; �� ���� �
�$�7�.� ��$� ��3.� �,!�$��.�1$���90 �������$�!�1��$$3:_ ��$�
,! 2� ����1�����. �� �,���!�� ��� �1!�"�2�; �6���6��5�2� �1�!���$ 4
$�� �1����$�� �� �-2��5�2� ���!����9� �� �$�1�2 �� �2 ��2 �1� 4
���$���_ �� ����0 ��7�!��9; ��$ ����� �,!�2�!3 �� �����; ���� �,���!� �
6$�.�; �,�2�2� ������� ����-�����; �� ���! � �1�!���,!�$�5�$�% +) ��

!� �,-.9��$�!� : �23 �����2; �7�� �� �:!�2�: �$�:���.��9 ����.3 �� �
.�1� ��. ������ +c��� �- ��!���� �� �:!�2�; �! ��2 �� ��.��!�2; �23 �7���� �
6�����2 �,!���� ����.3_ ���!�%���� �]:.��3 �,!��.�1�$� ^; �,!�$� 4
��23� �$��:!�2���% ����. �����!1�����$$�% �"�!�2�$��; ���1� �
,�.���0�� ���1����- ��.� ���� �,�!��$�=���"��; ��� ��$$��- +H��
����7�0� �/��2- �� �!�2���� �2�$63 ���� ����.3 ���1����� +j ��
� �
:������ ���.9��; ���$�5�% ���7�� �6!�$� ; �,.��3_ ��� �=-$�"�0 �
�3,�.$ . ��.��!9 �>1�!���$$��?� �#��!�"�� �� ���2� �:.�� ��3,���. 4
� �� �:!�2�: �������K#���3_ �� ���2� �7���� �1�!���$$��� �1����$��� �
,!�$���.��9 �$� ��.��!9 �� ����� ���!�$��� ��.� �1�!�$��� ��.0��� �# �
�$��� �� �� �#���.�$� ��2�0�� ��� ��$$3� �,���!� �� �,���!� �,!� �
:!�2�:; �,� ���.95�% �7���� �1!�"3 +\ _����.� �,���63����; ���� ��� �
�!�2 �1�!���,!�$�5�$� �� �:!�2� �����!5���� ���!�� �2 ��; �� �
�� ��$$�� ��,-���. ���.�- �� �]����.; ��.� �� �����!0.0; ��.� �$� ���� 4
��!��-; ��.� �� ���!5��^ +I ���!-..9���% �����! �6�,!����� ���!��9 �� �
"�!��� �$� ��.��!� �2 ��; �� ���! � �-2�!��� ++��#�� �/�� �,���63����; �
7�� �,!������.�$�0 �� ���1����� ���,-�������.� �� �,!������.�$�� ��� �
���; �� �7�� �1�!���,!�$�5�$�� �$� ��3.� �7�2K�� ��6�.�!���$$32; �� �
!�6��2 ���.�$��2 �$� ���11�$�� �� �$����-5�$�� +L��
� ���� ���� �
,!��-����-�� ��� ����: ���$��$3: ���! ��: �,�!���3�$��� ���������; �
��� �� �1�!���,!�$�5�$��; ��J���$�� �����2 �-������ �1����$���; �
��.��� �$� ���7�!,3����� ���$�2� �:!�2���K!�.����6$32� �����2� �
6��.�$�%; �,!�$�5�$�% �� ���6.� $�%; �� �� �!�6$���!�6$3: �=�!2�: �
���� �,� ����2 �.�$� 2 �1�6$� ���1����� �� ���2�$��7���� �6��.07� 4
��� �� �����: �>�����3 ����.; �,!����.; ��.��!9; �1�!���$$��; �.�1�?; �
� �,!�6�$���:; �� ��-.9��; �� ��� ��$$3: ����6�$� :� ���� �� �7�.���� �� �
���.������2 ���6$�$�� ��.��3 +*_�7�� �$-1$� �7�.����-; ��� �$-1$� �� �
���-_ ���1�� �!��.9$� �,��!��$���9 ��2��� ����� ���23�.�$��� ���
������; �7�� ���! � ������.-1���$; �� �7�� ��$ ����9 �1�!���,!�$�5�$��; �
� �7�� �1�!��� ����� �� �,��- ����-; �$� ����.07���� �� �$�2 �,!���� �!��.9 4
$3%���� ���3 ��2�!�$���� �
� ����0�� ��.��-�� �� ���� ����$ ��3���f �
��!�6 �7�.���7����% ���3 �$� ���.�7���� ��� ���!�6� ���3 ���1����%�

A��J����� ����������� �K��������
�, ��� ��� �������.� ������ �=���3; ���� �
�2�$�2�7$���9 ���$"� �� �:.��� �� �.��-!��� ��.� �

v��$��7$3% �,�!�..�.�62 �1�!��3 �1����$�% �� �2-7$�%�������$$� �

C7



$��. �$� �/�� ���2�$��7���� ���1������$$���9 ��2�$$� �� ���$"�; �` �
��692�2 �.� �23 ���� �� �,!�����,�; �,��:�.9$�% �1�!���; ��.� �� ���2 4
��.��� �,!��=�!3� �#�,��.��$�2 ��.-7�� �7���9 ��.-1�3 ���� �� �$�634
����� ���!2�$�2 �1�!���,!�$�5�$� � �p.�� ��.� �2-7$� �1�!��� �
��� ��!�2 �23�.��� �0$32 �1����$32_ ��$�; �,����$� �1����$�% �
1�!���; �,��$�2���� ����!:-_ �,!� �!�6!�6�$�� ��� ��� ��$$�� ��� 4
��!��f �],!�$����� �� �1�!��- ���$�" �����^_ ��!-���2 �!�6!�6�$� �
�.-1�� ���,9�; �� ��� ��$$�� �],!�$6���^ ��2 �]��.�^ �:.���f ���.�$�� �
2-7$�%�1�!��3 �$� �7����"3 �,�$�2���� ���� �!��7.�$�$�� �1���� 4
$���; �� ��� ��$$�� �����!��f �]�!����� �� �!�6��. ��� ���$�" �����; �
!�6�!��. �23% �� �$� �!�6J �3%^ �� �����_���$� �-,����. ��� ��!��� �
1����$���� �<�23%���!2�$; ����6$�7�0��% �!�6�!��.�$�� �:.���; �
 �. ��� �!�6$����$���90 ��!�7������ ���!2�$� �w�,�!��2�� w;�w!�� 4
7.�$�$�� �1����$��� w�` �:�!�5� ��6����$��� ���:$�7������ ����6$� 4
7�$� �!��,!���!�$�$$�%5�: �$� ����2 �6�2$�2 �5�!� ���! ���f �/�� �
!�6!3��$��; �!��7.�$�$��; �!�6$ ��� �,� �7��� 2; �� �"�.90 ���-5� 4
$� ; �����2$��� �����K1����$��� LM��� �..3 �����2 �,� ��3!�1�$�0 �
]��$�" �!�6�!��. �23% �� �$� �!�6J �3%^; �7�� �!��7.�$�$�� �$���� �� �
���� �,!������.�$�� �� �!�6$ ���; ���� �� �w�,�!��2�� w������; ���,�!9 �
�� �$�� ���2�: �6������ �,�$ �9 �� ��23�. ���!�%����� ���! �� �,!�.�2 4
.�$� �:.��� �� �-�����9; �7�� �� ��-� �$�:����� �� �"�$�!� �]!�6J��� 4
$�$��^ �:.��$�% �1�!��3; �!��7.�$�$�� �1!�"�2; �,��!��!:�2 ��.� �
�.���% ���29�; �� �"�.90 �!�6��7� �� ���-5�$� ���-7���$���2� ���$��� �
������ �� ��� �� ��!:��7���� ���� �� �����: ��3���3: �=�!2�:f ��.��� �
��2� �6���. �� �1����$�� �� �,�!�-0 ���� �7���9; �,�!��3,�� � 72�$ 4
$�%�2-��%; ��!����� �� ����$9 ��.��! �` �/�� ���� ��. �����_ �6���2 ���� �
,!��-����-0��� �1�! � ���� �����.9$3� �7����; �� �:�6 �$ �!�6��. �� �
�:; ����� ���1��2- �,� �7���� L) ��#�,�!���3�$�2 ��������� ���� �
����!5���� �������; �� ��.���!9 �!�6��. �� �,�%2�$$��� �6��! �$� �
7����; �����!3� �!�6���� ��!��� �,!��-����-0��:� ������3 ��,�!��$ 4
���� ��������� �� ��=�$���� �����3 �� �,!���$��f ���1�3% �,�.-7�. �
���0 ���.0 �� ���������$$�2 ����.�; ���!���2; ��� 6�$$�2 �� ����� 4
����$$�% ���.1$���90 Lc��
� ��.-7�%$�% �,!������� �,�!�� �$�2� �� �
�2�$�2�7$���9 �:.��� �� �1����$���� �
� ���.9�� ���!�63 �w���� w�� �
w7�.����� w��.��3; �$� ��.��3 ���!�63 �1����$��� �� �!����$� � ���� 4
��$$� � !�� ���$�!-1����� ���� �/���; ���� � ����6�.� ��3; �,��:�.9 4
$3%���2,.��� �� �����$�$� : �� �-��%���� �2�.97��� �� ���! ����2 �
��-5�$�� ���� ��!���� �
� ��.���2 �!�2. $�$� �- ���$-"� ���.����;
` � ��$��� ��6 ���23: ���!�6���$$3: �!�$$�:!�����$���: �,�����.�%;
` � :!�����$� �����!�0�� �� �,����$$3: �2����: �� �� �!�.����6$�% �
"�.90 �!�6!3��0� �$� �7���� �� �,90� ��!��9 �2�.97���; �,��!3���� �

��



2-��% LH��#��01��� �/���� �����$�$� �6��.07���� ���$� ��6��.���� 4
$3: ��$��!,!���"�% �
��:� ���� ���:�!����� Lj f�����!$�� ���-5�$�� �
2-7$�%�1�!��3 �0$��� �1����� ��-������; �!�6!3��$�� �� �,��9� �
�!���; ���0��� ��,���$�� ��� ��2�!�� L\ ������2 ���!�6�2 ���� ���3 �
,�!���3�$��� �7�.����� �,!������. .� �����2 ���3 �� ���2��� ���4
1����� �>�����1�!���,!�$�5�$��2?; �$� �� �/��2- �,!������$�.��9 �
��� �� �!�6!3��$�� ���J���� �,��� �� ������-,$�� ��J���$�� ���.� �� �
�3,���$�� ���� ��!��� �` ���.� �/�� ��3.� �1����$��; �:.��� �� �!���� 4
��.9$��� �$�,���� �` ���.� �/�� ��3.� �6.��� LI ������� ������-,$�� �
!�6!3��$�� ����9 ��,���� �,�!���3�$�% ���������$$�% ���3; ������ �
!-�� ��.-1�.� ��.��$32 �,!��6�������$$32 ��!-���2 L+���2�$�2�7 4
$���9 �����7�.����� �� ���!��K6.��� � �$� �����!�� �� ���2 ��.-7��; ���� 4
�� �!�6!3����� �� ���-5���� �7�.���� ��.� ����� ��-.9� �	��$��� �� �
���� �,!�7���� ��.-1�� �,!�2�!�2�� ��3 �6$��2; �7�� �� �2����!� : �
�.����$� �� �� ���! ��: ������� ��-��������.� ������ �1� ���2��.�7� 4
���� ���-5�$��; �6������!32; ���� ��!��$��; ��3.� ���-5�$�� �����! 4
5�$$� ���$�!��$�� LL���$� ���2 �����,�!$��; �7�� �,�!�..�.9 �� �$�2-�
�-�����-�� �- ����: �,�7�� �,�!���3�$3: �$�!����_ ���� ��.����7����% �
,!�2�! ����� ��!�"� �� �!�.���� �8��!� ; �����!3% �� �������� ��3. �
,�:���$; �-��� �� �!�6�!��$ �$� �7����; �� �,���2 ��1��.�$ L*������!� 4
=� ����: ������; ��2�0��: ����0 �����!�0 ��2�!�� �� �����!���$� ; �
�2��� �� �����!�0 �!�1��$� ; �,�!�:�� �-0 �� �����!�0 ��������� �
��� �����!�=�� �,��:�.9$3� �� �!�1������$����; �� �����!3: ������� �
���9 �!�����6 �� �2���!�K����; ���%$� �!�1��0��% �2.���$"�; �� �,� 4
:���$�� ���� ��.� �-��%����; ��� ���� ��1��.�$�� �� ����!:J���� 4
����$$�% ���.�; �� ��!���:; �$���.9����$$� �-����0��: ����; �� ��� ���� �
����!���$��� �
�7���� �!����$�% �,!������. 0�� ���1������$$3 4
2� �,�!��$"�2 �� �1����$3:; �� �.0��% *M;�� �,���2- �! ��2 �� ��: �
��-5�$��2 ��-�����-�� �]���� ��$��^; �����!�� ��� ����: �/��: ���! 4
��: �� ����6�$� : ���� ��!������ �� ��.�6�� �����2 ���!�6�2 �� ���1 4
������; �� �
��:� ����9 ���.9�� �� ��$3: �=�!2�: ��$��!,!���!���$$�� �
1�!���,!�$�5�$�� �� ��!�,�6�; �� ��: ���! ���3% ����. �������� ��: �
!-��2�$��!$32 ��2�$�2�2� ���� ��� �1� �������$�� �� �-����$��2 �
����; �.�59 �� ���%�!�6$�"�%; �7�� �,��:�.9$3% ���� ���2 ��. ���� �
-������ �,�!��$"��; ���� �1� ��!�7����% �,�2���$ �� �-�.��� ���.�� �
�-!�-�6$3�� �
� �]���� ��$��^ �` �� �7���� ��!�7����� � �.�$��f �
����� ��!�$ �,!��.��3���� �����: �����%; ��$ �� ��!-��2 ����� ����� �$�2 �
,��:�.9$3% ���2,.��� �$� ��!�7����% �,�7��; �� ���2 �1� �-,!���$$32 �
]!��-�.9$32 �-��%����2^� �8���9; ��.�������.9$�; �-1� �,! 2� �
=�!2� ��!�,�63 �����; �� ��!�,�63 ��������$$3: �2.���$"�� *) �����2 �
�,!���3����� ���!�6 �v��3 w���� �1�!���,!�$�5�$� ; �$� �� ���� �

��



-��%����� ���.�� �����f �w-��%���� �1����$��� ��. ����� w�,�.-7��� �
$��3% ��23�.�

+��wx�� ���� ������������ �8�2�7���.9$�; �7�� �,�!��$�=���"� �1�!��� 4
,!�$�5�$� ; �>yQzV{S|?������; ��2��� �� �����%�

����!�=�� �/,�6�� �7���� �,��:�.9$��� ���1�����f ���� ��!�� ��6 �2���� �
��.��� ����; �7�� ������; �$������ �����; ��J����� ��������$$��� �
�3$� *c �����$���� ���2�$���� �� �2�=� �,��7�!������� �� ���2; �7�� �
��$��.��� ������� ����� ��� ��!�$�; �7�!�6 ���$��.� �� �
�.�,��; �� �
��$��. �` �/�� ���� ���!�%; �����!3% �-�����. ������ ��������$$32 �
�3$�2; �,!�������� ��6�$��� �2 �$�� ��.0�� *H������ ��3$ ��3. �

�.�,�; �����!��� ����� ��1���.�_ �$� ��,��.������� ���� ���7�!�; �� �
"�.90 ���� ��2�.�1�$� ; �!�6$ .� ���� �$� �7����; ����!�.� �� ���6!��� 4
.� *j ��<3$ �/���� �
�.�,�� �` ������� �8���9; �$�7�$� ����!�$� *\ ;�
 �$� ����$� ���$� �� ��� �1� ���2�$����; ��.���� ���!9�!���$$� ; �� �
�$�K�� ��,�.$� �,���63���� ����$���� ���!�6�� ���3; �1�!���,!�$� 4
5�$� ; ��� ��$$��� ���!��� �� �-��%����; �!�6!3��$� ; �����2�!�� � �
w<��!��9 w;��61�!��9 �2 �� �����$� �` �/�� �6$�7�.� �,�.-7��9 �
$����.9�� ��2�.�1�$��; �$��,�.�$��$���0; �w$���� �!�1��$�� w;�
v����!���$�� w�����2���$�7����� �6$�7�$�� ���!�� �$���.�� �����.��9 �
� ����!�7����% �2�=�.����; �� ����!�7����% �=�.���=��� �<�23% �
���$9 �` ��.��! ; �����!� ��.� �,�7� �` �,�.-7�. ���2�$���- ����� �$� 4
7�.�; �����!�� �!���� �� ��1��. ��_ ����0�� �` ���2�$���� �,��!� 4
��.9$��� �����!� ���� �7���$3% ��.-7�% �!���$�!�"��$$�% ��-�$���� �
��$ � ����0�� �1� �� ���2�$���� �2�!����� �,�1�!�; �����!3% �
,�!�!�1���� �� ���$��. �� ����.�$$-0 *I �����; ��1�!�0��% �-����� �
1����$��; ��61�!�$$�� �� ���$� ��.��! ; ���2 ���232 ����$����� ��� 4
��2 �����!�5�0��2� �
���2$�$$�; �7�� �,�!��$�7�.9$� ����2�2$�$ �
-����. �� ��.�. �$� ������! ��=���$�0 ���� �1!�" ��.� ��� ��$$�� �` �
��$"� *+;����� ��. ����� ��; �� ���7����� ���� �!�,!�6�$��$��; ��. ���� �
��2���� ������� �1�!��� ���!��2� �� ���$��.�� �
� ��$�7� ��.��-�� �
��,�!9 �,��2��!��9 �� �$� ���.�:� �� ���� �������2� �1�!���2�; �� �$� �
��$����!�; �� �$� �,�1�!���.9$�"- �����% �'�2�0; ��� �� �$� ����9 �
��$�6�� ����6�� �� �,�1�!���. : �����%� ��$�7� �,��2��!�2 �� �$� �6�4
��.���$�� �����% �� ���$� �� �$� �,!�:�1��$�� �7�!�6 ����$9� �#�� �/�� �
	�2��!3; �� ���$� ���0��� �6���. �2.���$"�2; ��6��3; ������3; ��$� �
` �/�� ���� ���!��$� �/,�6����; ���� ����,!��6������ ��� ��$$�� �
��!��� *L;�� ���� �/�� ���!��$� � �. 0�� �,�!�� �$�2� ���� �1!�"3; ����� �
��� ��� ����!�.9$3� �,���!�; �� �!�.����6$3: �=-$�"� : �����!3: ��� 4
��!�. �$�2 ��=�$�%� �	��� �6���9 �` ��2�$�2 �2-7$��� ��.� �2 �$��� �
�.0��� ���:�!���� ��� ��$$���; ��J���0���� �����K��$"�; �,�.-7��� �
�.-����% ��23�.f �� ���� �.�"� �� ���2 ���� ��J����� ������� ��3$�� �X��% 4
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����; �!�6!3��$��; ��J���$�� �$� ���.9�� �1����$���; �$� ����� �� �7�.� 4
����; ������$$� ��.�6����; �!��$���; ����$����� ���23�.�$$32}� �
����� ���� �-������ �,�!��!�1��$$���; ��.� �7�.���� �-������ �7�.����� �
` �/�� ������ �� ���� �����!���$�0� �<.�������.9$� �$� ���$� ����; �$� ���
�2�!�9 ����,!�$�2���� �,�!���3�$32 ���������2 �$� ����; ���� �$�2�� �
�3 �����.�; �7�� ���$��. �,!�$���� ��3$� �� �1�!��-; �7�� ������ ��J����� �
������ ��3$�_ �23 �6$��2; �7�� �:!�����$���% ���� �1�!��-�� �����2 �
�3$�2; �$� ��� ��$$��; ���� �,!���������.9; ��J����� ���� �` �w1�!��� 4
���9 w�� �w�J����9 w����$��7$� )MM������; ���� ��2�!�� �� ���� ���3 ���� ��!�2 �
������ �,�!�� �$�2� �� ����� �-���%7����� �� �$�,!����.�2��� ��2�$�2��

<��)����H �� ������������ �� ���� �#�/��2 ��23�.� ����� �.� ����9 �7��K$��-�9 �
��.�� ��$��!��$�� �� ��. �$�� ���.�� �7-1 4

���; �7�2 ��$��7$3� �$��!���,$3� ���� ��� �2���.9$3� ��6��!�1�$� �
�!�,�6 �2�!��3:; �� �����!3: � �-1� �����.969 �����!�.�� �#�$�: �23 �
�2��2 ���- ���2��� �,���%$���; ���2; �6���!���2; �,�!�..�.9$� �,�2� 4
$�.9$�% ���� �6���9; �$� �6�2.�� �
� �$��!���,$�: �2�!��3% �,!������ 4
. ��� �,�!-0��2f ��$ ������ �6�����.�2; �-����.�$$32 ������32� �
 ����2� �� �,��9�2; �� ���!-1�$�� ���29� �� �,!��.-1$����� ������ �
��!�2.�$�� �����: ��6��!�1�$�% �7���� ��-.9�����_ ��-� ���37$3 �
�.��3 �1�!���,!�$�5�$�% �� ��� 6���.9$� �,!��-������ ���$���% �
��.��3 �� �62��� �8$�7�$�� �� ��23�. �/��: �$��!���,$�� �$�-��% ���� 4
$� �!���!3�3f �-1� �$����; ���� ����6�. ���� �� �)L*I �����!�"�; �$� �
�-2���; �7�� �/�� �,!���� ���2�%$� ��!�,�6�; ���6 ���$�5�$� �� �
6��!��$�2- �2�!-_ ���7$� ���� �1� ����$� ����!3�� ���2�$���� �62�� �� �
��$ ���� �,��6�2$��� �$�7�.� )M)��#�]���,-�.���^ �
.���$� �� �- �
�!����=�$�; �� �,�!�..�.9 �� �2���.9$32 �,.���2 �� �������2; ��� 4
��!��� �� �,9 $���� �-2�!5�:; �,���� $$� �,�!-0��:_ �2���� ��� �
��� �� �,��9� �,���%$���� �7!�6�37�%$� �!��,!���!�$�$ �� �=�.9� 4
.�!� )Mc;�� �$�� �$-1�3 �$�,�2�$��9; �7�� ���2�� �,!������.�$�� �� �!�� �
�� 6�$� �� ���7$32� �����2� ���3 �� �,��9 � �<.�������.9$�; ���.� �23 �
����.� �!�$95�; �7�� ��$�.�6 ���3 ������ �� �,!������.�$�0 �� ��2�!��; �
� ��2�!�� �,!�63���2�%; �` �,���2- �7�� �-��%���� ���2��� �.-75��� �
1����$��� ��.� ��������$$��� ��3$� ����9 ��2�!�9 �$�!�7��� �` ��� �
��,�!9; �,!� ��$�.�6� ��2�!��; �23 ����.�����2� �� �,!������.�$��2 �
� ���-5�$��� ����; ��-.9� ������3; ���1����� �,��6�2$���; �7�������. 4
� ��!�,�6�%_ �$� �,�!��!�����: ���!�� ��3����. .��9 ����.3 �� ����%; �
]����3 ������3^ )MH_����$��!�=� �������2� �����63���� ���1������ �
/��: ��!�,�6 ������3 �� �:!�����$���2� ����,�2�; �� ����,�2� �,� 4
:�!�$$32� )Mj ��#� ��� ��2 ��.-7��; �� ��!��$�:!�����$���: �������2 4
��: �7���� �,� �. 0�� ��6��!�1�$� �����: �1� �$��!���,$��; �� �
�,�"��.���3 ���� � �� �$�: ������$�$�� ����, �� ���:�!�����0; ���.�- �
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�: ���� ���2��. �����!���$� )M\����- ��!�,�6-; ��!�,�6- ���%$�%�
��7�!�; ���$���% ��$���:�%���% �$�63���� �].���!����2 ��. �
����2�!�� ^ �� �]�!������2 �,!���� �-2�!�$� ^ )MI����� ���!�6 �
����2�!�� �� �,!����.�$� ��2�!��; ��!�,�6� � �. ��� ��2�$$� �$� �
�!����3: ��6��!�1�$� :; �� ���2 ��-.��; ��3!�1� �9 ��.���2� ��$!�K �
:�; ���!�$��0 �����!���$� )M+��� ���2; �7�� ���� �� �,��9� � �. 0�� �
�.��$32 �/.�2�$��2 ����: �!�.����6$3: �,!�6�$����; �6$�.� �-1� �
�!��$�� )ML��
� ���232 �,���6���.9$32 �������� ; ���$�7$�; ���! � �
2���.9$3: ��!�,�6; �����!3% �,�2����� �$�2 ���2 ���22�$��!��2; �
����!3% �23 ���%7�� �1� �$�:���2 �� ��!:��.����� �� ��	�/ �� ����- �
,!����.; �,�!��$�7�.9$� ����. �$�� �,!�:�2 �-2�!5���� ����� �,!����. �
���$����� ��.��$�% ��� �3$�% �:!�2�; ���� �,!���.1��� ���� �9 �$�� �
2�!��32� ���.�2� �>��� �$�63���232� �]����$��2� �2-7�$����^?_ �
$� �$�2 �.�1�� �]�� �3� ���!3^; �:.�� �� ���$�; ���0��� �,!����.�$�� �
�2�!�� �� ���,!�7����� ���1����-� �b�$�; �7�� �$� �/�� �:.�� �� ���$�; �
$� ����; �$� ��2�!�9 �� �����2 ���23�.�$�� �$� ����,���0� �� �$�5�2�� �
8���9 �$���-,��� �2�$-��; ������ �,!�:����� ��,!�5����9 ���� ; �7�� �
����� ��2�!�9 �� �,!������.�$�� �,�!���3�$��� �7�.����� �� �,�7�2- �
�$� �2�1�� ��3�9 ��� 6�$� �� ����%� ������ �$� �/��� ���,!�� ������ �$�� �� �
�!-� �,!������.�$�% �� �2���!�K6�2.�; �,�6�$�� �� ��-.9� ���!�!$3: �
����� �� ��: �2���=�!�7����% ��$��!,!���"���

*���.��$��; �7�� �6���9 �$��� ����6��9; �` �/�� ���; �7�� ��2�!�9 �� ���6$� 4
$�� �,�!���3�$��� ��������� � �. ��� �!�1��0��2 �$�7�.�2_ �

6�2. �` �,!���,��$  ����9 �6�2. �` �2��9; ��6�����!�% �!�1��0� 4
� �$����$� �!����$� ; �$� �1����$3� �� �.0�� )M*�����0�� ���!�6 �
�2�!�� ���� �,�����.9$�"3 �1�6$� �� ��� ���� �,.���!��� ; ���� �
=!-�����!3 �� ��$�����!3; ����0�� �1� �� ����%$� ���2�$���� �
w��2�$� w�� �w,����� w;�w1���3 w))M��#� ��% �,.��; ��-�9 ��$ ���� ��.� �
������"� ; ����9 �$�,��!������$$�� ������� �6�2.�_ �������; �$�,�.� 4
��$- �� �,!���,��$�%; ���!1�� �$�� �,���!:$���90 �6�2.� ��� �!�� �
�6���.� ; �� ��!��� ���� �,.���� �� �6�.�$� �$�:����� �2�.�$9��� �
��� ))) ����!�6 �!�1��0��% ��2�!�� ��363���� ���!�6 ��!-����!���; �� �
����!�2 ���; �7�� �,�������; ��$��9 �$�!�1����� _ �!�1��$��; ��� �� �
�2�!�9; ��.-1�� �=�!2�2� ���7$�% �1�6$�; �����2�!�� ; ���6�!��� ��6 �
$����� ������ $� �� ����!�� �� ��6����!��� �� �$���� ))c ���!=�7����% �
]�!-� �!�1��$� ^ �� �]�!-� ���6!����^; �� ����1� �]��.��� �$��6��1 4
$����^ �6�.�1�$3 ��2�$$� �$� �����2 �,!������.�$�� ))H_��2�!��; ���� �
7���K�� ���6��6�!��$���; �$��_���� �-2�!�0��� ���6!�1����� �� �$� 4
��2 �,�����; �� �,!�,.���; �� ���� : ))j ��<�/��2 �,!������.�$��2 ��.����
� ��!-���f ���1������ �7�.����� �� �1����$��� �� �!����$��2� ���� ���4
����"� ; �7�.���7���� �1�6$9��� ��3��!� �-� ����; ��� ��$��� �"������
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�!� �$�5�: �,�$ �� �` �]�2�!�9^; �]1�6$9^; �]�$��� ��2�!�9^ �` �
�. �,�!���3�$��� ���6$�$� � �. 0�� ����$32 ��6��2$�K,!�$�6�$ 4
$32 ���!�6�2� �
�/��2- �w-2�!��9 w�6$�7�� �$� � 63�� ��!:��7����: �
2���=�! �w!����9 w�� �w�1��9 w;�� �w�1��9 w�` �-2�!��9 �>-2�!����9? �� �
!����9 �>!����9� ?� �� ���� �����2 ���"�� �� �2���!�%; �-2�!��. 0 4
��: �����: �����%f �/��2 ��$� ���0� ��2 �����2�!��� ))\ ���3 �����2 �� �
2�=� �� ���! �� �,!��.��3��$�� �����%; ���1�����; �7�.�����; �� �� �
/��2 ����� �,!��.��3��$� �!�� �2���=�!�7���� �-,����. ��� �6�2.�; �
7!��-; �,!���,��$�%; �!�1��0��2- ��!��$- ))I ��
!��.��3�� ; �7�.� 4
��� ��1��. �� ���J��� ���3; ��1��� �� ���2_ �w��� w�` �2���=�!� �1�6 4
$� �� �����!���$� � �
!�$���� �� �1�!��- �` �/��; ���� �-��63��0� �
��$��. �� ������; �6$�7�� ��J���9� �� �6$�7�� �w�,���� w;����.��9 ��2�!�9 �
1�6$90� �<����%; �����2 ���!�6�2; ��� 6�$� �,!������.�$�� �� �,!�� 4
��.�$�� ��2�!��; ��� ���$��.�$�� �1�6$�; �� �����!���$�� ))+ �����0�� �
` �,�6�$�%5�� �,!��!�,.�$�� ���! ��� ���3 �� �����!���0��2 �
����2; ����0�� �� ��!��$�� �],�!3 �����2�!�� ^; �$����!3 �� ��2�!� 4
6��; ���0��� ��6���.�$�� ��� ��2�!�� �� ���7$-0 �2�.�����9� �
�$ � 4
$� �,�/��2-; �7�� �� ��$��7$����; �` �� ���2� ������$$�; �` ������ �
�.-7�.��9 ��������� �>2�!; ��2�!��.9$� ��,��$���9; ���%$�?;���%7�� �
1� �,!�����.� ���,-.9��$�!� 2 �� ��� ���� �!��� ��-.9���32 �
� ���������$$�K��! ���32 ��!�,�6�2f �/�� ��3.� ����-,���.9$� �
1�!���; ��6���. �5� ��� ��2�!�� ))L �


>� �)�
���
H��� ���������� �����; �� ����� ���3 �!�63�!3��.��9 ��2�!�9 �` �
�������� �L���L � ����!���$�� ���J���� ���3; ���:; ���� ��.; ��;

�!�2� �����; ���1����� �$����$��� �� �6��!��$���� ����� ��� 69 �2�1�- �
���2�7����2 ��.�"����!�$��2 �>��1�����?; �7�.�����2 ����$�7$32 �
� ���..�����$32; ����% �` ����� ���2�$��7���� ��� 69; ��3!�1�� 4
2� ���1������2; �����!�� �� ���2; �7�� ��$� ���6��$� �$� ��$��7$32 �
��6$�$��2; �� �,!�2����$32; ��!:��7����2; ��.��$32_ �/�� ���,�7 4
$�� ���6$�$�� �����2����7������ �,�!����; �����!�� ����1�����. �� �
���2�� �� ��������� �� �����2�� ����; �` �"�$�!�.9$3% ���� �� �1�6$� �
�������� �` ���23�. ��� ����2���$�7����_ �� ����� ���3 ����2�� �
>~����2; ���������? ���7�6��� �� �,� �. ��� � �
�7�2- ��2�$$� �� �
���� ���3q �
� �,���2-; ���$�7$�; �7�� ����.���7���� ; �!��.9$� ���� �
���� �� �/��2- �����%K.��� �,����_ �$� �,���2-; �7�� ��$� ��� 6�$� �� �
,!��6�������2 �� ��!-���32� �����2� �����.95�% ����,�$�; �7�2 �
7��K$��-�9 ��!-���_ ���6$�$�� �$� �������� �� �/��2- ���6-7���$32; �$� �
!������� ����!-� ������� ���1$��� � �.�$� �` ��3��. �� ���� ��6 �
��$������ ���%������.9$����; ���"�$��!-��; ��3������� �$� �,�!�3% �
2�!���66!�$7����% �,.�$; �$�; ���$�7$�; ���23�. �� ���� ��,�"�=�7� 4
���; �� �������!� : ����6$�$� �2�!� �������� �#�� �,�7�2- ���� �,�.- 4
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7��� ���2�$���- ����2���$�7���-0; ��2�!�� �� ���$��.�$� ����.�$ 4
$�%;�� �� �$�%������ ��������� �� ���1���� �7�.����� �� �����.9$����; �
���� �����2�� ���$�7$�; ���2� �,�$ �� ����2���$��; ��2�!��; �����!� 4
��$� �� ����� �$� �2��-� ��3�9 ���$���$3 �� �����% �!�$$�% ������� �
7�.���7������ ���6$�$� _ �$� �-�$�� �$�� ���62�1$���� ��3�9 ������ 4
��7$� ���7$32�; �,����.9�- ��6.����9 �$�-7$-0 �!����- ��� �/��2 �
��6$�$�� �,!�:����� �� �$�5�: ����!�2�$$3: �,�$ ��%$3: ���!2� 4
$�:; �� �$�5�% ����!�2�$$�% ���2�$����%� �� ����
/ �0�1 ������!�- �
�!�6- �1�; �7��� �-��!�$��9 ���.9$�%5�� �$���!�6-2�$� _ ��3.� ��3 �
7�!��7-! ��.�1$� �� ��!�2�6��� �,������9 �2���=�!- ��2�!�� ��,��� 4
��.9$�; ���� �]��; �7�� �!�1���� �` �!�1����^•� �
�!��$�7�.9$�; �� �
�:��$�79�2 ���������; �` �/�� ���7�6$���$��K,� �.�$�� ������; �7�� �
�-�����-�� ��� ��$�5$�% �,!�!���; ����� �����2� �� ���� ���������$$�2 �
� ����2�7����2 �6$�7�$��_ �� ��������� �6�2.���.97����2 �,� �. �� 4
� ���!�6 ��2�!�� �� �����!���$� � ���!=�.��� �2���=�! �������.9$� �
�62�$ ��� �� ���!9�!-��� � ��:��$�79� ���6$�$�� �,!������. �� ��� 4
�� �����2; ����� ��������� �� ����2��; �6��!�2_ �$� �/��� �6��!9 ��2��� �
���.9�� �1� �!��.9$-0 �,!�!��- �,!��6�������$$��� �1����$���; �
���.9�� �� ����2�7���-0_ ��$ �$���; ���.$"�; �6�2. ; ����� �� ����� �
��6!3�� ���� �!-��2� �$� �7����; �` ������� �=�!2� �,!�2����$�% �
�:��3 �� ���3; �` ��:��$�79� ��������� ����,�2 ���� ���� ��3!�� �2 �� �
� �,9�� ��3!-0 ��!��9; �$� �/�� �$����.9�� �$� �2�5��� ��2- �,!������ 4
. �9 �!�6!3���23% �����2 �� ����� ���.$"�; ��6.-7�0���� �����.9$3� �
�-��� ������ �� �1�!� ))* ����� ������. �� ���.��� ��.��3 �� �,��.��-0 4
��: ��3���3: �� ������.-1��$3: ���%���� : ���3; �����!3� ���:!� 4
$ 0� �,!�-!�7�$�� �� ��,!���.�$$32 ������ $� 2 ���.$"�_ ������ �
��,�2$��9 ���7�!$0; �-�!�$0; ��� 69 �2�1�- ����% �� �6�:���2 ��.� �
���:���2 ���.$"� �� ����� )cM�����2����7����% �:�!����! �����% ���3 �
���63����� �� ���2; �7�� ���� �!�6!3��$� �� �!�6�!36�$� �,!������ 4
. ��� �����2 �����2�!�� ; ��.� $� �7�.����� �� �����2�; �7�.����� �� �
���2��� )c) ����$���; ��:��$�� ����.����� �6��! ���!-��,�5$�% �
�:�����f �/�� ���2� �,�!�� ������ ; ������ �,!��6�������$$32 �
�!-���2 ��.-1�� �!-��; �$� �,�.�"� �� ���2�$9 ����!� �,!��-� ��%�$�
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,�2��9 )cc ����!9�� �!-��,�5$� ; ����$���!���� �6�$�2��� �� �,!��6 4
�������$$�% �� ���������$$�% �1�6$� �,�!���3�$3: ��:��$���� ��� 4
$� ��6��.��$3: �2���_ ���!9�� �` ��� �"�$�!�.9$�� ����3���; �����!�� �
2�!���66!�$7���� ��.���$���-�� ����:��$�79�% ������2� ���!�6��� �
����2� �-����0� �� �!-��,�5$�%; �6���2 �!�6!3��0� �� ��� � )cHf���� �
,�7�2- ���� ���2�$��7���� �-� 63����� �� ���!9��% �� �,����$��2� �# �
,�6�$�%5�2 ���! �� �� ���37�� ��� ��!�2 ���3 �-��!������� ����$� 4
��!����_ ���2� ���� �� �,��9� ���1� ����$�� �� ���!9��%; �,�61� ��� 4
�� 6�$��2; �� �� �2�=� ���$� �,!�$�2��� �:�!����! ��!-����_ �2���=�!� �
w��3 w�-!��$������ �� �2���=�!�% �w��!9�3 w)cj ��#�6�2.���.97����% �
,�!��� �!�6!3��$�� �6��! ���!������ �� �!�6��.�$��; �,!�.�2.�$��; �
!�6.�23��$�� �:.��� )c\ _���$��� �,�=���!�%"3 �6�,!���.� �/��� �
��! �; ���� ���� �!�6.�23��$�� �:.��� �>,!�.�2.�$��? ��� 63��.��9 �� �
,!���$�� ��� ��2�!�90 )cI ����$��!�2�$$� ��� ��,�!��2���2 �:.��� �
�-��������. �� ���! � �!�6!3��$� �$� �7���� ���!���_ �,.���!���� �� �
=�..�62 ���0� ���� �6$��9�� �/��� �,�!���; �� ���!��� �!����!63����� �
2-17�$�2�; ���1�$��$3 �����!5�0� ����!-� �$��� �,. ��- )c+ ��
	���% �6��!9 ���!������ �����2�5$00 ������$-_ ���,.�2�$$�2 �
�������� �/�� �-1� �$� �����2; �� ���1�����; ���� ���.95� �����7�.����� �
#�1�� ���..������; �����!3% ��3. �� �����2�2K6��!�2; �� �!�6������K �
.�2 ���3; �� �2$�1�����$$�K���$�7$32 ������2; ���/��� �,�!��� �
��==�!�$"�!-�� ����� �=-$�"��_ �1!�" �� �,���!; ��.��� �!��� �� �"�!9 �
,�.-7�0� �!�6��.9$�� ��-��������$��� �
�2�2� ���!9�3 �� �!�6!3�� 4
$� ; ���� ����1�����. ��� �� �� �5������2; �����!�� �,!������. �� �
����% ����$ ��6�-���%7���%5�: �/.�2�$��� ��� ���� �,�!���3�$����
��%����� ���..������$�� ��3��-,.�$�� �,�!���3�$�K�:��$�79��� �
��������; ���� �2������� �,�!����1�$�� �� �2���� �$� �2���� ��!����
��5�!$3:; �7!�6�37�%$� �!���� �6���.�$$3: �,!���!�$���; ��3��-, 4
.�$��; ����$�%5�2 ���!�6�2 ��� 6�$$�� �� �,!��6�������2 �� �=�!2� 4
2� ��!-��; �=�!2�2� ���"��.9$32� �` ���!��� ���.95-0 �!�.9 �� �� �
�:��$�79�2 ���6$�$��; �:�� ���23�. ��� ��7�$9�������!�6$�� �

�!����1�$�� ���..������; �,�!����1�$�� �����2� �����������-�� �� �
,�!���3�$�2 ���6$�$�� �,�!����1�$�0 ����%���!-1�0��% �
,!�!��3 �` ���.$"- �>$��-? )cL_���.$"�; �,!�1�� �7�2 �5��������9 �,� �
��!�6�$�-; �,!����.����� ��!���; �2!��; �� ����� �6��! )c* ��������� �
,�/��2- � �. ��� �!��.��%; �$� ���$��!�2�$$� �� �2���=�!�%_ �� ���2; �
� �6���9 ��$� ��� 6�$� ��� �6��!�$�% ���!9��%; �� �!����!6�$��2 �` �
���% �6��! � �#��� �1� ��!�2 �,�!����1�$�� ����,!�$�2���� �,.��K �
����$�; ����� �� �$�2 ��3���$-�� �$� ���$�2��� ����1�$� ; �� �2������ 4
�,.�5$�%; ���6.�7$3% �:�!����! ���-,�$� ; ���7�6$���$� K,� �.� 4
$� � �
� �,!���� ��� �; �$� �5����-0� �� ����; �� ��� ��.��� �����

��



]������.9^; ���1��; ���1�9_ �/�� ��,�!�� �����2 �����!�6� �6��! ; �
,�!��$�=���"� ���.$"� �� �$���; �� �� �6�2.���.97����% �,�!��� �` �
�,.������!���.9� �'��-!��%$3� �5����� ��� ��.��� ��� ��� ��$$� 4
�.-1���.�2; �� ���,!���1��$�� ������.9$����_ �,!�"����� ��� ��.��� �
������2; �,!������. �232 ������� �1����$���; ��.� ��� ��.��� �� �
1����$32; �� ���!-1�$�� �=���.��; �` �/�� ��6����$3� �,!�2�!3 ��6 �
�����.-1�$� �� ���! ��_ �$� ���� �� �����37�� �5����-�� �2�$� 4
��3!��� ��!��� �$� ��!�,�6- ��.� ���-� �� ����.- �,!� ����!� ��.� �� �
�!�����!���7����2; �$����.�� ���$��!�����$�2 ��3�-�

�1� ����������, �M���$�����M


� � )�������� ������ �b�-1� �����!�.�; �7�� ���� �� �,!������.�$�� �,�!�� 4
�3�$��� ��������� ��.������ �� �����2� �!�1��$� �

� ��2�!��; �� �7�� �$�� ���62�1$����; ���6 �7���� �$�-7$�% �-�.��$����; �
/�� ���!�63 ��!-� ��� ��!-�� �����.��9� �#����0 ��7�!��9; ����3 ���3 �` �
�2�!�� �` �,!��6������.9$���� �$�!�6!3�$32 �-6.�2 ��� 6�$3 �� �
��!-1�0��% �,!�!���%_ ��2�!�� ���� �7���K�� ���$�7$���; �6���! 4
5�$$��� �$��; �� ����9 ���7�6$���$��; ���$��!�2�$$�� �,� �.�$�0 �
>��� ���$��!�2�$$3 �]��^ �� �],��.�^ �� �,�!���3�$�2 ���6$�$��?� �

���!$� �����!��9 �� �6��!��$3: �,!������.�$� :; ��� �-2�!�$�� �� �
����!���$��; �� �1�6$�K�2�!��� �
��6�2$���9 ����9 ������� �!�1 4
��0��� �$�7�.�; �� �!�1��0��� �` �,��6�2$��_ �,�!����� ���$��� �$�� �
�!-��2 �$��; ���� ���� �� �235.�$�� �$�� �,!��,��3.�� �� �!��7.�$� 4
$�0 ����3��% ��� ��!�2�$�� ����; �����! �$�5�2 � 63��2; ����9 �
�2�!�9 �� �����!���$��; �� ����1� �,!��6������.9$3% ����� �
� ���2 �
,!��6������.9$3% ���� ���1� � �. ��� ��2�!�90 �� �����!���$��2� �
i�� �1� ������ ��2�!�9K����!���$��q ���� ���� �� �,!��6������.9$3% �
���� �
� ���1��� ��6�/��: � �.�$�% �,!������. �� �����% ������2 �$� �
��; �7�� �23 �,�� �$�2 �,�$�2��2� �
�!���3�$�� ���6$�$�� ���23�. �� �
�: ���� �$�.�7�� ` ���-������ ����2��� �>����2�? �� �=�!2� ���!9�3� �
���0�� �` �!���$���� ���!�6�� �w��3 w;�w,!��6������.9$��� ����� w�� �
w�2�!��K����!���$� w;��.���0��:� ��!-� �� ��!-��2 �� �,�!�:�� 4
��: ��!-� �� ��!-��_ ����0�� ��: ���$���7����� �!��$�,!����; ��: �$�K�
��6����2���9 ���$��� �� ��!-��2-_ �$� ����0�� �� ��.�1$���9 �$�-7$�% �
��!2�$�.����; �����!� ��5������ ��� ��% �!�6; ���� �:�7�� �-��7 4
$��9 �� �$�6���9 ��: �6$�7�2���9� �i�� ������ �,�!��$�7�.9$3% ��!��; �� �
,��.�$$� �.� �1�$�: �� �$������ �` ���.9�� ��!�7��� � �,�!�; ����� �
�����$ 0�� � ��. ����2���$�% �1�6$�q �<!�6- �1�; ���$���; ����� 4
�� �2���!��.; �����!3% ��!��-�� �������K�� ��$��� ���.����$� ; �� �$� �
��37��2 ��3���32; �$� �!�.����6$32; �$� �����% ���$��� ����,!��6 4
����$� ���� �$� ���J �$��9� �
�7�2-; �$�,!�2�!; �$������ �$� ������� �

��



!��.9$� ; �� �,������$� q �
�7�2- ��� �!�.9 ��$���� ���,�.$ �� ���!� 4
��; �� �1�$�:� �` �7-7�.�; ��.� �$����!��q ��.� �7�2 ���J �$ ��� �
-,����.�$�� ��!�7���:� �"�!0 �� �"�!�"�q ��3; ��.�������.9$�; �� �
6���9; ���� �,!� ��$�.�6� ���2�$���� ���3; ����.�����2� �� ���2��2 �
����� ��: ���!�6�� �� �$� �2�1�2 ��6�.�79 ���$��� ��6�$�:; �$� �6�:��4
��� �7����7$� �� ��!-��:� �
�/��2- ��.��-�� ��6 �9 ����9 �/��� ���2�� �� �
��� �"�.�2� �����% ��2�$$� ��!�7$3% ���2,.��� ��-��������. �- ����: �
�6$�7�.9$3: �$�!���� �� ����� ���! ��� �]2�%����� ���!���^� ��: ���� 4
��.9$3� �=�!23 �2�1$� ��.����=�"�!����9 ����f �)?���:��3 �� ���!� 4
��2; �c?���! ���� ��!�,�6�; �H?��3��! �]2�%���% �,�!3^; �����!� �
��$��!�2�$$� ��6$�7��� �1�$�:� �� �$�����-; �"�! �� �"�!�"-; �j?�
6��2�!=�7����% �2����!��; �\?���! ���� ���22���� ; �I?�1�$��9 4
�� ���!���; �+?�,����$�� �>��� ���.95�% �7���90?� �����.9$� �$� ����: �
/��: �2�2�$��: � �����$��.����9� �$���-�-; ��� �� �$�� �$-1�3; �
,���2- �7�� ��$� �-1� ��,�.$� �������$3 �$�-��%� �	���!�: ����$� �
,���6�.; �7�� �,!�"����� �� ���:��3 �� ���!���2 �-,�!�0�� ���.��� �
��.-�9 ��!�2�$; �� �7�� �� �$�: �.�1�� ��$��!$�"� �,.���!��� _ ���!� 4
��; �,���:; �����9; �� �����!32� �:�� � ��6 ���2� �� ���2 ��.� ��6 �-.�"3 �� �
-.�"-; ����9 ����������$�� ���1����� )HM��#��9 ���2,.��� �,!������.� 4
$�%;��!-,,�!-0��:� ����!-� ��������$��� ��-.9�� ���!��� �� �,�!�� 4
$�=���"�� �2�%���%�,�!3; ����$� ����.����7���� �������.� �
�����:�! �� ���$��!�� )H) ����; �7�� ���� �������.��9 �$����.�����$ 4
$32;��� 69 �,����$��; ��-.9�� ���!���; ��!��� �� ��3��!� ���"�!�; �
!�6J �$�$� ��$�.�%���% �5��.�% �` �!�����2� ��-��; ���!$=�!��; �
��!!���$ �� ��!�6�!� )Hc������$��!-�"� ; ������2� ��2�; �������� �

�!�� �$�2� ���1����� ���!���; �����!�� � �. ��� ���$��!�2�$$� �
��1�����2 �$���; ����3 �� ��2�!��_ ��$� ��.�"����! ��� �� ���!��� �� �
��� �,!��6���$3: �>�.��$32 ���!�6�2 �� ����,��!�; �,���:�; ������?; �� �
,��"�; �� �6��!�_ ���� �/��� ����9 �]��1����� �����^; �� �����!�2 ����!� 4
����7�$� �2��9 �,.���!��� �$�����_ ��1����$� ���.3 �/���� ����� �
��$��. 0�� ; �� ��1����$� ��6��!���� �$��3% ���� �������% �!�,!� 4
6�$��$�; �� ����� �1�$���K2-1���% �,�!3� �<�/��% �"�.90 �-��!�� 4
��0�� ���! ���3� ����� 6�$� ; �1�$���� �� �2-1����; �� �$��!���% �� �
���� ����,��!�; �,���:�; ���$�� ��6�.���9�� �� �,!�7�: ��� ��$$3: �
�.�"����!�$�%� �
�.-7��5�� ��: ��7���0�� �,�.-7��5�2� �2��9 �
��2��� ���1�����; ���1�����2 �� �.�"�:; �� �$� ���� ��2�0��2� ��.���9 �
$�� ���.�2� �$��� �� �6�2.�� ��$� ������$ 0�� �� ��� ��$$�2 ��!��� �
� ���$��!�2�$$� ����$�� �� ������32� �"�!�2 �� �"�!�"�%� �<.��� 4
����.9$�; �• �$��3% ��!�� w����9 ������� �v$��3%���� w;�v"�!9 w�� �v1�$�: w�
` �,�������.9 �� ����� 6�$��� �	!-��� �-7�$3� ���� ���.95� �,�� 4
7�!����0� �� ���!�6� �$����� ��!��� ���� �$����� ����� �2�2�$� ���!9�3 �

�




������2 �-:�� ��2 �� ���� � �� �$�2 �7���� �����$$�� ����� 6�$�� �
2�1�- ��1���0��2� ���.�2� �6�2.� �� ��2�!�90; ��.� �6�2�%_���4
��$$  �$������ ����9 �"�!�"� �$����� �����; �$������ �,������$� �` �
/�� ����!-:� �� ��!�7$�2 ���� $��; �����!-0 �1�$�: �` �"�!9 �` �$� 4
�3%���� �!�6��.�7���; ��9�� �� ��3��$ �� )HH����� �,���6�. �<�$���; �
1�$�: �` �/�� �6�7���-0 �,!�$" �<�.$"�; �$������ �` �,�,�.9$� �
�-�$���9 ���� ���� ���$ ; �8�.-5��; �"�!�"� ��-:$�; �����$��� ����!�; �
!3$�� )Hj ������; ���2�$���� �����: �,!�6�$���� � �$�_ �.�59 ���$� �
-7�$3� ��3�����0� ���$��- ���. !$-0; ��!-��� ����������$-0; ��:� 4
� �9; ���$���; �$� ���$�6��� ��6 ���! �� �2���7�������

�� � )�������� ������� �b�$� ��-�- �6���9 �����!��9 �� �2���� ���� � �.�$�� �
,�6�$�2 �� ���.9$� �,!�-��.�7�$$�2 �$�-��%� �
� �

�-�- ��,�"��.9$� �����$��.����9� �� �$� �:�!����!� �6�2��$�% �!� 4
��$��!-����$���� ������ �����; �7�� � ���.9�� �7�� ��6.�1�.�� ���$ �
�$��!��-�� ���2�$���� �����: ���!�6��; ���� �w1�$�: w�� �w$������ w;�� �
�� 6� �� ���$7�$��2; ��� �����9��%; ��!���2; ����,!��6����$��2; �� ���� �
��� �/�� ���!�63 �$�!�6.-7$3 �� ���!�6�2 �w"�! w�� �w,�������. w;��� �
��2�$���� �� �/���� ���!�6�� ���!�6 �w,����3 w��. �$�� �$� �$��; �,���2- �
7�� � ���� ��7�$9 �$����$� �����!�.� �� �2���=�!� ���!9�3 ���� ��,��� 4
$�� �� �,!����.�$�� ��2�!��� �
�/��2- �,��.� �6$���2���� �� ��� ��� 4
2�$����% �23 �$�%��2 ���,�!9 �� ����� ����$����7����% �,����3 �� ��� �
���.��$��� �6$�7�$� �7�!��7-! �2$��� �$�5��� ��������$$��� �!�"�� 4
$�.�62�� ��7����$�; �w�,�������.�2 w�2�1$� ��3.� ��3�9 �� ���6 �
���!1�$� ���!:� �� ����� 6�$��_ �7�.����; ���5�% �:.��; ��3. �-1� �
w,�������.�2 ��� ��2�!�� w����$�7$�; �6���9 �23 �$���.�����2� �$� �
$���:���2���9 �!��5�=!���� �����: �6$�7�$�%;���� �w,����� w;�� �
w���$ wf���� ��!�2 ; ����� �23 �,��:���2 �� �����2-K$��-�9 ���2�$�� 4
7����2- �=���-; �23 ����63���2� �� �"�.�2 �! �� �$��6����$3: ���.� 4
7�$; �,!��!3�3: ����6$�7�$��2 �$�5��� ������$ 5$��� ��$ ; �� �$�2 �
����� �$� ��3��! ��.� ��5���7$� ���:����9 ��6�$�5��� ��������$$� 4
��; �gg �����; ���23�.�$� �� ���,���9� �$� �2����; ��.� ���!��.�= �6��
��!��.�=�2 �!��5�=!��3���9 ��!:��7����� �6$�7�2����� �
!�1�� �
����� �$�2 �,!����� �!�6�!�$�7��9 ���!�63 ���.$�7$3� ��� ������� 4
���$3:� �� ��� �� ��!-��� �-,�!�0�� ������$�� �,!������.�$�� �� �
$���K6�2.�; �� ���!���K��.$"�� �#���$���; �` �$�-�� �-1� ��� ����: �
���!�$ ��!�7�� ��� �/��2; �` �.�1�� �"�.���$�� ����,!� ��� �2�!�; �� �
����!�2 ����$9; ����� �� ���!��� ���1������$$3� ���$��� �2���=�!3 �
7���� ���.$�7$3� ��2�0� �����!5�$$� �!�6��.9$-0 �� ��$ �$-0 �
.�$�0 �����: ��������$$3: ��-���; �� �,�!�..�.9 �� �������.9$� ���.�� �
,�6�$�2 ���!�6�2 ����������$32� ������ ��2�$$� ���!�6 ���.$"�K �
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,�������. � �
� ����� ��.� �7�� �,���1���� �/��� �w,�������.9 wq�
X6�$�! �� ���!. ��!�6 ����$� �-1� �������.� �$� �/��� �<�.$"� �,���1 4
���� �2!��; �� �/,����3 ���� �]$�,�����23%^ �� �],�������.9^ )H\ ������
,!������.�$� ��,�.$� ���:!�$�.��9 �� �/�!-����%; �,�61� �� �!�2���% �
��! �$���� ��!�-2=�; ������ ���!�%K,�������.9 ����.������.9$32 �
��%���2 �,!������.� �� �,35$�% �,!�"����� �,� ���!��-; �� �,���1 4
��$$3� �,!�����.��9 ��2�!��� �#�.�"� �/���� �,�������. ; �� �����.3: �
���1��: �$� ���.$�7$�% ���.��$�"� �� ���.32� �.�5��92�; �,!������ 4
.��9 ���2� ���.$"�_ �,������ ������� ��!���; ��92-; ��$� ������.��9 ��6�
�����.� ��2�!�� �,!���,��$�%; �7�!�6 ���!�6�$�; �` �"�!���� ���!��� �
�!�-2=�.9$�% ��!��; �` �$� �$���; �� �:!�2� ���� ���!��� �����. 0� �
2�! �,��-���!�$$�%; �2!�7$3%;��� �$����$���; �����.���_ �7�!�6 �
���!� ��!��; �6�!0; �,���63����� �� ���.�,���.9$�2 ��.���� ���.$"�� �
#�:!�2� �[,���!� ���,���.�%�����; ��-�� �,�������.9 ��J�61��� �,� �
��!��-; �,!�$����� �1�!��� ���1����-_ �,�!�..�.9$� �����!�6�2 �
,����3 �� �5������ �� ��J�6�� ������ ���!�6 �,����3 �� �,!�$���$�� �� �
,!�$ ��� �1�!��3; �� ��!�,�6� ���1�����_ �$� �/��� ���!�6 �,����! �� 4
� �� �,��7�!������� �� �! �� �],!�����7$3: �,!��.�1�$�%^ ���! ��; �
� �,�!�..�.�62� �"�!���3: ���! �� �,�!5�����$$�2 �-����$�� ��. �
$�!���� �#��; ��.�������.9$�; ����$ �� ���6 �!�"��$�.����7����% �,�!� 4
��7�f ��$ �,!��-����-�� �-1� �� ���2�2 ���!�6� ��J�6�� �� �5����� ; ���� �
� �,�!�..�.9$� �� ����� �w������� w���� �2���=�!� ���.$�7$��� �:��� �
�6$�7��� ��� �1� ���2��; �7�� �� �w,����� w_�������9� �,� �$��- ���.$"� �
2�1�� ���.9�� �,��.� ��:����� �� �$�7$32 �2!���2� �
����� �` �/�� �
�2�!�9; �����5� �1�6$90; �/�� ���� �1�6$� ����.�� ����- ��2�!��� �

�������.9 ����; ���� �������� �1��9� �<�2� �1�6$9 ��6$�7��� ���.$ 4
"�; �$���; �� ��2�!�9 �` �,!���,��$00; �2!��� �]����� ��3 ����:���59; �
` �����!��� �� ���$�2 ����,�����2 ���2$�; �` ��$� �1��-� �>.0��?; �
����� �6�:���59; ��$� �-2�!�0�^ )HI�����2 ���!�6�2 ����:�� �� �6�:�� �
��.$"� �` �/�� �1�6$9 �� ��2�!�9 ����: �.0��%; ����% �,!�!��3; �� ��1� 4
�$��$� ���$� �� ��� �1� �.0�� �-2�!�0� �� ��1���0�� �<�.$"� �` �
]6�7�$���.9 �1�6$�^f �]�3 �,!��6����59 �7�.���7����% �6�!��35 �� �
1�$��$�; ��3 ���6���59 ���2 �� �2-17�$�^; �]�3 ������!�. �1�6$9 �
.0��%^_ ���.$"� �` �]-1�� ��� ��% ���.9$�% ���!�$3^ )H+��#������2� �
����2����7������ �2�!���6�!"�$� �����2 ���.$"�2K���.�$$�% �
 �. ��� ���1�� ���������$$��� ���..������; �����2_ ��$ ��1��$��$� �
� ��1����$� ����-,��� �� ���!9�- ��� ��2�!�90 �� �,���1���� ���� ��3 �
6$��2 ��6��!-��� ��!�6�!�; �7�� �������.9$3% �,!��2$�� ������� �
��1���; �"�!9; ��1����$� �-����.� ; �� �� ���� �.�"� ��1����$� �-2�!�. �
���!3% ���!�6�� ��!�2�$�; ����; ����!3% ����� �����2����7����� �
2�!����,!� ��� �$��6$��� �w$���6$3 w���$�5�2 ��23�.�_ �.�7$�� �

��



$�7�.� �$� ��-�����-��_ �.�" �$��; ����9 ����$� �2���� ��.��$��� �"�.� 4
��; �� �,���2- ���6$�$�� �$� �6�2�7���; �7�� �-2�!��� ����$ �7�.���� ��6 �
��..������; �,���1���� ������2 ��!-��%� �
��; �� �-2�!�0��% �� �1� 4
�-��% �` ����$3% ���!�6; ����$� �2���� ����2�7������ �����2�_ �/�� �
�$;���� ���� �1� ���23%;�,� �. ��� �� ���7�6$���$��; ��1����� �� �
�2�!�� )HL��
�$ �� ����%����$$����; �1�6$� �� ��2�!�� �` �$�5�� �
#���6$�$�� �,�!���3�$3: ��:��$���� �2$�1�����$$�K���$�7$�� �
$�7�.� �>����2? ���!��� �� �,�!���!��� ���7�6$���$�� �,� �.�$��2 �
>,�6�$�%5�� �` �]�2�!�90 ��2�!�9 �,�,!�.^?� �����0��%� �� �
$�.�7�� ���1�� �` �$��3% �����2; �$��3%; �,!� �,.�2�$$�2 ���!��;�
"�!9� �
�/��2- ���2�$���� �v"�! w�����!1�� �� ����� �2���=�!�7� 4
���� �,!������.�$� �� �$��� �� ���.$"�; �$� �� �� ��2�!��_ �"�!9 �!��$� 4
6$�7�$����-; �����!3% �2�1�� ��3�9 �� �-2�!5�2 �� �����!��5�2� �
�����$$� ��3!�6���.9$� �/�� ���2�$���� �-����,� $; ���� ���1�3% �
=�!��$ � �. ��� ���1�����2; �$���!�2 �����5�% �����7�.�����2; �
��1�����2K��.$"�2� ���!��$ �` �/�� �� �$��� �� �,���%$��_ �,� ��.� 4
��2� �	����!�; �,�!�32 �"�!�2 ������,�� ��3.� ���.$"�_ �-2�!5�% �
=�!��$ �6�$�2��� �$����$3% ��!�$ ���.$�7$��� ����� )H* ��� ���2; �7�� �
v"�!9 w�� �v$��� w��3.� ���1������$$3 �$� ��6����$�% ������� �!�6�� 4
�� ���������$$��� ���6$�$� ; ����$� ��6�!���� �$����.9�� �
�b� �
��!!�; �$� �� �
!�%��; �����!3% �,!������ �]$���^ �� �]6�2.0^ ���� �
$�6��$� ��.�$��f �$���; ��.�������.9$�; � �. .��9 �����2����7����2 �
���6$�7�$��2 ���������$$��� ���..������� �#�� �,�7�2- �����K�� �� �
$�63��.��9 �,�!��$�7�.9$� �"�! 2�; �� �"�!� �` �����2�; �� �,!� �
�,�=��6� �,!������. .��9 ���6$�� ��2�� �$� �$��� )jM ��<.�������2 �
����2����7������ ���1������ �2�1�- ����2�7����2� �� ���"��.9$3 4
2� ���!�6�2� � ��.��9 ���; �7�� �"�!9 ��3. �� �1!�"�2; ����� ��-�.�!�2 �
��1�����_ ��3�5�2� �1!�"�2� ��3.� �� ��$��7$���� �"�!�; ������3 �
�!:�$�K��6�.��� �� ��=�$�:; �{PT�CAE{V{DF�� ���2� )j) ��#��:��$�79�2 �
��������; �7!�6�37�%$� �,!�2����$�2; �$�� �-�.���% ��. ��=�!2.� 4
$� �� � !��% ��3!�6���.9$���� ���6�����23: ��2 �1� ���!�6��� ��$� �
,�.-7�0�; ���� ����6��9; ���.9$�%5�% �:�� �� �6���$7�$$���9 �� ���.�� �
,�6�$00 �/,�:-; �� �,.�2�$$�2 ���!��; �� ��$����-�� ������K"�!�%� �< �
,����$32 �����!�7����2 �6���$�2 �$�2 �,!����� ���� ��!�2 ����!�7� 4
�9� _ ���� �� ��01��; ���6���� �9 �$� ���2�% �!�$$�% ������� �7�.���7� 4
����� ���6$�$� ��2���� �� ��!-��2� �=�!2�2� �����.����; �$�7�$��� �
���� �,��.�$$�� ��-��������$�� ���.9�� �� ��.������2 ����������

	� � )�������� �E��� ����2�7����� �6$�7�$�� �v�"�! w�� ����1�����.�$�� �
��� �� �$���2 �� ���.$"�2 ��.�7�� �6������% �� ���; �7�� ���!�6 �w"�! w�
�.������ �� ���!�6�2 �v���� w��8���9 �� ���$��� �.�1�� ��� �1� ���7�6$� 4
��$�� �� �,� �.�$�� ����2�7������ �����2�; ��� �1� ��2�$0�� � �

��



$��62�$$���9f ��!�2 ����,!�$�2���� �,!���!�$����$$�; �w��� w�
���1�����. ��� �� �$���2; ���.$"�2; �6�2.�% �� �����; �� ����9 �$� �7�� �
�$��; ���� ���2 ���������$$3% ���..����� �� �.�"� ������� ���1���� �
��� w�` �/�� �$��,�!��� ��!�2�$�; �� ���7$� ����� ��� �$���_ �$� �
w������9 w��� �1�; �7�� �w1��9 w;����� �,�!�2�!��9; ���7�6��9 �� �,� � 4
. �9� _ �� �2$�1����� �$����; �2$�1����� �6�2�.9 �>���.9�� �1�; �
���.9�� �.0��%; �6��!�%; �����%; �!����$�%? ��1��$��$� �2�$ ��� ; �
-2�!���; ��1������ �<,�!�� �����% �w��� w���2�$��6�!-��� ���� �$���; �
��� ��!-�; ���� ���.$"� �� �2!��; �6�2� �� �.��� )jc _� �.  �9 ���$��!� 4
2�$$� �����2�2; �w��� w�� ����� ���!9�3 ���7�6��� �� �,� �. ��� ; �� �
w���!3% ���� w�-2�!��. ��� �w$��32 w;�,������5�2 �w����2 w����� �
�:����� ��� ��2�!�90 �6�23 �� �.���; ���.$"� �� �2!���; ���7$�� �` �
���!��� �� �$����� �����2�; ���!��� ���!�2$-0 �!�.9 �� ���6��$�� ����: �
,��.��-0��: ���! ���; �� ����1� �� �2�=��� �#� �� ���!9�� �6�!�$�� �
�2��� �1�!��-; �����!� ����1��� �,���1��$$�%_ �/�� ������� ��-��� �
���!� �=�!2� �����2� �` ����!3% ����; �����!3% ��1����; ����� �
-2�!5�%; �,���%$��� ��6 ���!�6� ��2�!��; ��6���!�6� �,���%$��� �
!�6������� �� ���!�6 �w�!��� w_�$�7��� ��!�1���$��� �� �$�5�2 ��23�.� �
� �$�2 �$��_�w�!�� w�` �/�� �$�����.9 ���!�6� ��2�!��; ���� ���,��� ��� 4
��2�; �����!3% ��-��� �,���1��$ �� �!-��,�5$�% �� �-2!�� )jH �����0�� �
` ��6��!�1�$� ���!9�3; �,����3; ��!�-2=� �$� ��!����3: ��$��7$3: �
!�.9�=�: )jj _����0�� �` �� ���2�$��7����� ���1������ ���!�6�� �
w,����3 w�� �w1�6$� w)j\ ��	�$9 �w$����� ����� w�� ����9 ���$9; �� �����!3% �
��!9�� ��� ��2�!�90 ����� �$��-0 �1�6$9 �,�������.0� �
� �����2 �$��32 �
����2; ���$��.�$$�% ����.�$$�%; �� � �. ��� �����2; �,�6�$�� �"�!9; �
��2�$��7���� ���� �$���; ���� ���!��� �� ���.$"�; ���� �,!���,��$�%�

#�6�2.���.97����% �,�!��� ���.$"� �� �6�2. ; �� ����1� �� �w��� w;�
,�.-7�0� ���2�$���- �,.���!��� � �<2�$� ������ �� �2!��� �-1� �$� �
��� �6�2�7���� ; ���� ��2�$� �6��-:� �� �-!�1� ; ��� �����!3: �6������ �
�!-���� �1�6$9�6�2.���.9"�� �
!�1$�� �����2����7����� ��.�"� 4
���!�$�� ���!��� �` �$��� �` ����3 �` �,!���,��$�% ����$����� �
w��1�����2 ����� w�-1� �$� �� ���. !$�2; �� �� ����������$�2 ��23�.�_ �
•���� w���!������ ����!-����!��$3% �,!���!�$����$$3% ���!�6�� �
-� ��$� �� �!��"���� �!������.9$����; ��2�$� �$��62�$$���� ����$� 4
���� �"��.�2; ����� ���!-�.32 ��!�2�$�2_ �,�������.9 ��2�!�� �
�.������ ���/��2 �w����2 w;�,�.-7��� �=-$�"�� ��,.������!���. ; �
�.������. �$�� �,.���!����2; ��� �����!��� �6������ �-!�1�%; �
,!�,.�� �1����$3:; �$���� �,���.�$�� �.0��% )jI ;�� �,� ���� ��2�$� �
������ �.����7��.�$��; ���� �,� ��2�$� ����� )j+ ����$��� ���!�6�
,.���!��� ��!��-�� �$����$���; �� ���-: �,.�2�$$3: ���!�=���; �� �
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1�$���� ���1�����; �1�$��$�K"�!�"�; �$�7�$��� ���2�$�!����9 �
$�� �2-1���2� ��� �/��% �,�!3; �����$� �� �����; �� �6������ �,.���!� 4
��� �$� ����_ ������$  �9 ��1����$� �� �$���2 ��!���; ��$� ���2 ���232 �
���$�� �� ������32� �w"�! 2� w���: �v�!�� w����,����� �� �$�7�.�2 ��: �
w"�!������$� w�� �� �w$��32 �����2 w)jL ��<�23%���! �; �� �����!�2 �
�$� �$�7�$�0� �1��9; �$�63����� ���$7�$��2f ��,�!�� ��$� ����1 4
�����. 0�� �� ���$��2 �,���2-; �7�� ��$ �2���=�!�7���� ��6$�7��� �
�!-�; ���.$"�; �$���; ����_ �� �6���2 �� �$�2 ����63����� ���� �!������.9 4
$� �,!�!���; �,!�!��� �,.���!��� � �#�$7�$�� ���,!���1���� ��!�� �
����� ���� �"�!�%_ �,�/��2-; ���$7� �� ��!��� �� �$� �"�!����; �235.� 4
$�� ��-�.�!-�� �/��� ���� �,�!�..�.9$32� �����2� ���3; ���!9�3 �� �
���,!��6����$� �

j� � <� 69 ������ �� ��I�", �����; �,�!��$�7�.9$32 �1�$�:�2 �,!������. ��� �
���H��" �� �(������� �����f �� �����2 ��2�$$� �2���=�!�7����2 ��=�!2 4

.�$�� �!�63�!3��.��9 �����9�� �-��!=���� �� �� �
�-.9�� �	��$���; ������� ����$���� )j* ����� ��!�� �$��� �� �6�2.�; �
������. 0��% �7���9 �� ��.����$���: �2����!�% )\M����� �� �,�!�� 4
�3�$�K�:��$�79�2 ��������� ���� ��� � �������; ���������$$32; �
2$�1�����$$32 ���..������2; �-,!��. �232 ���1���2 �` �!�6!3K �
����.�2 �6��! �� �!�6���7���2 �2 ��; ���� �2$�1�����$$�; ����� 4
����$$� ������$ 0�� ; ��2� �2-1����K1�$��-0 �,�!- ��!�7���:� �
��!�=���; ��6�����!�% �1�$��$� ���� �$���3��. ��� ���6$�$��2_ �
��� ��$� ��2���� �� �� �����.9$���� �` �����2; ����� ���!0��%� ; ���7�K �
6�0��%K,� �. 0��%� ��$�5$�% �2�!; �$���; �6�2. �� ����; �7�� �� �
$�2; �w���� w�,!��2-������$$�� �� ���� ���1�3% �!�6�!��$$3% ��-��� �
2 �� ������6���� ����$��� �� �"�.9$��� �����2� �>]��$�" �����; �!��7.�4
$�$$3%;�$� �$� �!�6J �3%^ �?;���� ���1�3% �$��3% �2-1 ��. �1�$��$3 �
` ����$3% �� �$��62�$$3% ��� �2-1f ���� �,�7�2- ���! � ����,!��6�� 4
��� ��!�� ��36$���; �� �� �2�=� �2-1 �,!�:���� �$�-6$�$$32 �$� �����9 4
�- �����% �1�$3 �� ��$��� ������$ ��� �� �$�0; ���37$� �` �� ����� �
��3; �6���!�7$32 �,�!�2� �<�2�� ���$7�$�� �$� �,!������. �� �����%�
������K.��� �,��7�!����$� �,�.����� ������$�$� _ �$�,!����; ���� �
�����2 �� �$� ����$� �� ������2� ��!�7$3: ���! ���; �,���2- �7�� ��$�; �
��� �� ����; �$� ����6$���� �!��.����7���� �� �,!������. �� �����%; �� �
��7�� �6!�$� ���23�.�$� ; �$�7�� �����!5�$$� ��$��6$�7$��� ����; �
��$7�$�� �������� ��6���3; ��6�5����� ; ��6���! ��� �,.�7� �� �,!�; �
�!��� �����!3: ��.�:$�� ���23%�2�2�$� ������$�$� � �i�� ��� �
5����� ; ��� ��$� ���!��� ���.95-0 �!�.9 �� �6���9; �� ����� ���..�� 4
���$�% ��!�7$�% �,!�"�����; �� �����!�% �,!�$�2��� �-7����� ��� �
��������$$� ��!-,,�; ��!�7��� � ��2���� ��� �����2� ���!�=� 2�; �
"�!�2 �� �"�!�"�%; �� ����$ �� ���� �1� ���$9� �#�$7�$�� �����!1�� �� �

��



���� �� ���� �/.�2�$�; �����!3% ��,��.������� ����$����� �,�:�!�$ 4
$�%���! �$���90_ ���7�6$���$��K,� �.�$�� �����2� �� �,!��6���� 4
��.9$�2 ����� ����.9�� �1� �����!�� �$�2 �� ��2�!��; ����.9�� �� �
!�1��$��� �
���!�2; �-1� �2$��� �.�� �$�6��; �������: �!��,�6$�. �� �
!�2���2 ��!��� �,�:�!�$$-0 ���! �$���9f �����9�� �` ���,�7$�� �
�6��!�1�$�� �$� ���!��=���:_ ��!�7$3� ����� �` ����� ��2�!��_ �,� 4
:�!�$$� �,!�"���� �� �������$� �,!�"���� ����$����3_ �$�����- �
,!���� � �$�790�,!� �=���.�:; ��!�7$� �,����.9 �-,����.�$� �
�2�!�$�2- �.�1-; �� �5������ ����!-� ��.��! ��$�.���7$� �,��!���.9 4
$32���! ��2 )\) ��h�$�!�.9$3% �2�2�$� ���7�6$���$� K,� �.�$� �
�����K��.$"� �` ���!9�� �` �������� ���$���% �� �� ��!���_ �,!��6�� 4
����.9$3% ���� ���2�$��6�!-��� ���� �,����$��� �#�� �,�7�2- ��!�7� 4
��� �����$ �.0��� ���.���� �1�$�% ����� �����3 �� �$���� �/,���� �
],!�$�� ��% �,����-^ )\c ;�� �� ���$�2 ��6 ��!��$�%5�: ��� ��.�� ��$� �
�6��!�1�$� ����!-1�$$�% )\H ;����; ��,!�7�2; �� ���2 ��!��; �,�!��$� 4
=�"�!���$$� �.0���9; ��2��� ���!��-��2� �.-�; ���!�.3 �� �=���. �
>���$9?��
� �2�$�� ��$��!��$�; �7�� �- ��!��$�: ���!2�$"�� �2�.��� �
,�.-7�.� �� ���$9 ��!���; ��!��� ��!-��: �,���!���; ����$$�� ��!-1��_ �
]/�� ��: ��!�7$3� �����^ �` �,� �$ �� ���"�� )\j ��
� �,�7�� �/��% ���K�
2�$��6�"�� ��,��.������� ���6����� �������%5� ����$$� 4
/!���7���� �2���=�!������ )\\ ����6-2���� ; ��=�!2.�$� ���!�6� �
,����!��0�� ��� ��!�2�$�2 ��62�$�$� 2� �#�6�2.���.97����% �
,�!��� ��:��$�79 ���2�$���� �,�.-7��� �$���� �����!1�$�� ���� �
!�6-.9��� �,�!���23�.�$� �� �$��3: �,!��6�������$$3: �������!� 4
 :� �
������ �$�7�$��� ��3��. �9� ���.��; �7�2 �1�$�:_ ���� �����K �
�,.������!���.�; ���� ��.��3�� ����2�7������ �,.���!��� ��$� �
���$�� �� �w"�!�"�% w�� �w"�!�2 w�-1� ���/��2 �$���2 ��23�.� )\I ��
��%��� ���! �$���9 �` �/�� ���� �!�6 �������� �2�����3: ���%����% �
���2���$�7������ �:�!����!�; �,!�5��5�: �7�!�6 �6�2.���.97����� �
,�!���23�.�$��_ �/�� ���! �$���9 �����$$  ; ���,!���1��0�� �
����!���$�� �,!�!��3 �,��.� �6�2$�%��2�!��_ �/�� �,�/��2- ��!��; �
$� ��!��; �����!3% �!�63�!3����� �$� �� �:!�2�; �� �� ��3�-; ����2 �,.�4
2�$�2; �� ��,�.�.������� ����% ���!��$�%� �8���9 ���!9��; ����; �,!� 4
"����� �� ���:��3; �6���9 �7����7$3% �6��2�!=$3% �2����!�� ���� �
����2����7����% ��������_ ��3��!3 �2�%����� ���!�. �� ���!�.��3; �
����!3� � �. 0�� �1�$�:�2 �� �$������%; �� ��: ���$7�$�� �-��$7� 4
��$�� ����1�2� ���$��2�_ �$���$�"; �,!��6������.9$3% ���� �� ����� �
	�.�; ��.�������.9$�; �$� �� ���2; �7�� ����$ ��6 ������ ���! �� �,������� 4
. �� ��!-��% ���� ���� �.���7���� �,!�7�$�; �� ��,�!�� �-��!������� �
���� 6�$��; �6���2 ��3��. ��� �,�������.9; ���.95� �/��� �,����� 4
��.9 �,�.-7��� �$��!��- �� ����� �!����$� �� �� �/��% �$��!���% �,!� 4
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��!����� ��.���9 �$�� ������32 �,.���!����2� �����% �]�01��$����^; �
,���!��$$�% �$��,!�7�$$�K�.������$$�2 �! ��; �,�!���3�$�� �
235.�$�� ���6���9 �$� �2�1��� �
��; �� �/��2 ��!�7$�2 ���2,.���� �
��! ��� ���� �7���� �,����! 0� ��!-� ��!-�� �� �!�6.�7$3: �2���=�!�:_ �
��!�6 �v���� w;�w"�! w;�w1�$�:� w����,�����; �� �$��!��� �� ����� �!���� 4
$� ��6$�7��� ��� �1�; �7�� ���2 �,�������.9 �� �,����� )\+ ������=�!� �
w����9�3 w�` �/�� �2���=�!� �,����3 �$�� ��2�!�90; �$����� �!�1�� 4
$� ; ��2�.�1�$� � �e�$�: �� �$������ �` �,�!$�� ���1�����; �$��- 4
��� �1�6$�$$3� �=-$�"��; �,�!�..�.9$3� �!�,!�6�$��$�3 �"�! �� �
"�!�"3; ����� �� �����$� ���!���� �<���9�� �` �$� ����3���; �����!�� �
2�1�� ������ �-���$� �,!��6�%��; ���6�����2���� ��� ���.�$$���� �
1�$�:� �� �$�����3� ���� ���! �; ���1������$$3% ��!�-2=- �� ���$7� 4
$�0 �$��"�!����; �� ���� �,!�-!�7�$�� �����!5�$$� ��,�"�=�7$�� �
<���9�� � �. �� �����% �$� ������$ 0�-0� �,� �.0��� ��.� �!���-��- �
,�!-f �/�� ���%���� �,����3 �$�� ��2�!�90; �� �����!�2 �1�$�: �� �$� 4
����� �` �"�!���-0��� �����; �� ���%����; �,!���:�� ��� �� ���$9 �,� 4
���$�� ���.$"� �� �$�7�; ��.� �1�6$� �� ��2�!��� �
�/��2- �/�� ��$� �
!��$���$����% �� ���.$"���!����; ��$� ��2�$; ��$� �$��3: �,�!��"� 4
$�� �>����! �,�K$�5�2-? ��7�!�5$�: ���.; ��$� ���$7�0��%� �� �
$�7�$�0��%� �1�6$�; ��.�; ���� �23 ��� �$�63���2 ���,�!9; ��.�� 4
�� )\L ��h�!9 ����9 �w1��-��% w;�� �$�7�.� ���� �1�6$�; ����3��% �� ���� 4
$���!����; ���.1$� ��-�.�!����9� �w���% w�� �w���,!��6����$��2 w�

\� � ��	

���
 ���
��
�� �€�!�� w;�w���,!��6����$�� w;�w!�1��$�� �6�$��� w�
,�.-7�0� ������$$�� �6$�7�$�� �� �,�!��� �6�2.���.� � ���7�6$��� 4
$��K,� �.�$�� ���!������ ���,�!9 �� ��2�!�9K!�1��$��; �� �,!��6 4
������.9$3% ���� ��3��. ��� ; �,����$� ���� �� ��2�!��; ��6������� �
��$������ ����3��% �� �,�.-7��� �,�!��$���-0�-0 �!�.9� ��$ ����1 4
�����. ��� ��� ��2�!�90; �,���2- �7�� �1�$��$� ����1�����. ��� �� �
6�2.�%_��$ �-!��$������ �� �����2 ���3; �,���2- �7�� �� ���� �,!�� 4
����. ��� ��2�!�90K!�1��$��2 ���1����� �,.���!��� ; �-2�!�0 4
���� �� �����!���0����� �<�6����� ; �� ���$�% ����!�$3; �2���=�!� �
w�,.������!�$� wK�2�!��; �����!� �� �=����.9$�2 ��������� ����$� 4
���� �2���=�!�% ��2�!��K w.0��� w���6�$�2��� ��,��.������� �
��!�2$�� �2���� )\* ��<��!-��% ����!�$3; �/��� ���!�6 ��=�!2. ��� �� �
2���=�!- �w.0��� wKw��3 w�� �,!��6������.9$��� �����K•��3 w)IM��
� �
2�=-; �����$ �6�2.���.� �	�2��!�; �!�6�$���$$� �$� ���; �7�� ���� �
�2�!�� �,�:���. ��� ���79; �����$��.����� �$� �6�2.� �,.���!���� �� �
,�!������ ����9 �� �,��9_ �� �2����!� : ��6��!�1���� ; ���� ��$� �$�7� 4
$��� �,��9; �-�.�1�$$� �����2 �1�$����� �,!��6��� ���� ��!��$� )I) ��
�=����� �2��!�$�; �,���! � �2-1�; �$��,!�$�2��� �,���; �$� �

��



��6�!������ �� �$�%�,!� �$���2 ������$�$��_ �1�$��$�; �1�.� �
,!���!��9 �.0���9 �2-17�$3; �6�����. �� ���� �w��.����9 w�����-: �
�23�.�:; �� �,���2 ����� ��2- �$� ��3��! �.�1� ��.� ����. �� ����% )Ic ��
w
����9 w�6$�7�� �w�����$��9� w)IH _���1� ����"�$$�� �6$�7�$�� �.�1�� �
� �2���=�!�: �w��!�� w;��.0��; �w�-5�$9 w)Ij _�w,���! w�,!���!����� �
��2�$���- ��,.������!���. �` �2-1�; �.0���$���; �1�$�:� )I\ ���6 4
����$�; �7�� ���� ���3 �� ����2� ��.�7�� ��: �,.������ ������$�$��_ �� �
/��2- �1� �!�6! �- �2���=�! ���$�� �� ���� � �.�$�� �� �=�!2���; �
�!�7����� ���6.3 ���,-��$� )II ����� ���!��� �"�$�!�.9$-0 �!�.9 �,!� �
�!���; ��� �,!�"��-!� �����!��� �2���=�!�7���� �,����! �� ��� 4
��!�0 �!����$� ; �6.���; �:.���� �
�2�2� ��!�,�63; �������. 0��% �
��1$-0 �7���9 �����9�3; �����.9$3� �/,�6��3 �$�,�.$�$3 ���! ��2� �
:.��� �� ���$�� �#��!��$�%5�2 �!�2���2 ��!��� �����2 �,!�$���.� �
1�!���$$3% �:.��K,�!��; �� ���23% ��!�� �����!5�.� �$� ���$��� ��� 4
-7���� �� ���� ����_ �$����!�7$3�; �� �,��!3�32� ���.���2�; ���� �$� �
5�-!� �1�!���$$�% ���"3; ����2���$� ��J���.� �,5�$�7$3% �:.��; �� �
/��2 ���-5�$��2 �1�$� �,!�����.��9 �� ��-.9�- �2-1� )I+ ��#��!�"�� �
2�.97��; �-��$7�$$3% �"����2� �� �1�.-� 2�; �$�� ���!6�$-; �$�,�. 4
$�$$-0 �:.���2; ��- ���2-0 ��� ��$$-0 ���!6�$-; ���� �! ��2 �� �:.� 4
��2 �� �=!-���2�; �� ��-.9�� �	��$���; �.�1�. �� �=�.._ �����% �1� �
2�.97�� �$�� �� �!�2���2 ��!��� ����-� ��. �6.���� �� �6�!$����� �:.� 4
�� )IL ����! � ���!2.�$� �$����!�7$3: ���.���� �������$�% �7���90 �
����9�3 )I* _�! ��2 ��-�����-�� ���3,�$�� �2�.��3: �6.���2� �` ���7 4
$� ����; ���� �1�!���$$3: �1����$3: �,!� �1�!���,!�$�5�$�� )+M;�
����.9$3� �2�2�$�3 ��,�!��2���; �!�6�!��.�$� ; �!�6��7� ���3 ����2 �
,!��-����-0��2; ���-5�$� �:.��� �� ���$� �,!�� ����0� �$��� ��� �
�!��� �� ���:�!����� �� �.��-!��� )+) ��� �/�� ��� 69 �$� �,���!:$���$�� �
��.� ���,�2$��9 �]��.95�% ��3:��^ �,!� �.��-!���; ���� ��� ��$$� 4
�.-1���.� �$��-� �$� ���.���: �:.�� �� ���$�; ��� ����$�� � ��$ ���!�6 �
5����� �,�!��$�=�"�!���$$3: ���J����� ���3; ���2�: ���1����� �
��� ��$� �,!������0�� �� �5������; �7��� �.�79 �$� ����.� �� �,�.-7��9 �
�6���.�$�� ��� ��2�!�� �� �$���� �,.���!����; ���� �� ��!�7$�% �,!� 4
"����� �5����-0� �/�� �1� ����2�7����� ���1����� �� �7�.���7����2 �
����; �7��� �$� �.�1� �,!����!��9 ��2�!�9 �� �1�6$9;���6!����9� �� �
���� ������$�$� �� ����9 �$���� �!�1��$�� ���� �1� ���2�:� �b�$�; �
7�� ��!�7$3� ����� �2��-� ��-���������9 �� �� ����� ���2���� ��.9$3: �
,�!��$�=���"�% �:.��� �� ���$�� �<�23%� !��2% �,!�2�! �` �/�� �
	��$��; ���� �.�63 �� ���$��!��$��� �����; ������$ 0��%� �� ��� 4
�$����: �� �1�$�% ��!:�$��K"�! ; �� �8��� �<���!; ����K��$�; ��� 6�$ 4
$3%�� ��!�,�6�%; �,!�63���23% �,�!�� ��!���2 )+c ��#���.�7�� ��� �
�$�!�,�2�!=$��� �	��$���; �8��� �<���! ���:!�$ �� �,!�!��- ���$� �
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��� �$�,���� �� � �. ��� ���� ��2�$�2; ���� �,�!��$�=���"��% )+H_��� 4
$��� ��2 K�� �/��; �<���!; �6$�7�� �]�,�����.9^� �<�7���$�� ���!�6�� �
��$�; ��!��� �� ��,���$� ���.���; ���$�7$�; �$� ��.-7�%$�� �#�$� �` �
,�6�$�%5� �������.9$� �6�2�$� ��!���; �� ��!��� �!�6!3���2��� �$� �
7���� �����2� �` �1�!���$$��� �1����$��� )+j _���� �/�� �w�!��9 w;�
�2�0�� ���:�!����7����� �6$�7�$��; ��� 6�$� �� ���!�6�2 ���7�6$� 4
��$� K,� �.�$� ; ��2�!��K1�6$�; ���� �� �w��$� w���:!�$ �� �6$�7�4
$�� ��2�!��K����!���$� �� ��2�!��K!�1��$� � �8�2.���.97����% �
/�����.�$� ��!���; �w��$� w��6$�7��� ���=�.9�.�!� �,.���!����; �
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